Service [lanual

MODEL: TS212S/TS215S/TS218S

OOOOOOOOOOOO


yvonneliu
Version 1.0 revised on Jun, 2016

http://www.pdfxviewer.com/
http://www.pdfxviewer.com/
jessicajiang
文字方塊

jessicajiang
文字方塊

surikao
文字方塊
 MODEL: TS212S/TS215S/TS218S


CONTENTS

. BLOCK DIAGRAM. .. e e e e e

. SCHEMATIC DIAGRAM ...,

. WIRING DIAGRAM ...

. EXPLODED VIEW & MECHANICAL PARTS LIST


jessicajiang
文字方塊

surikao
文字方塊
M

surikao
文字方塊
1

surikao
文字方塊
2

surikao
文字方塊
6

surikao
文字方塊

7


surikao
文字方塊
13

jessicajiang
文字方塊


TS212/215/218S Block Diagram

PRE AMP
7
INPUT 1 Q‘gﬁ *
odgo
—I |I' I,:I AMP IN
MIX OUT 1 ? + SUB
] [ i | PRE OUT 5
HIGH PASS =
4 =
g v
o +
INPUT 2 3 i lZ m
@’1 oo s P B
4 — LINE
MIX OUT ? _]—Q__T{ d EXTENDED LF ]
] [1r | L
| —
HIGH PASS
AMP MODULE
= DM 300W+300W
POWER FOR PRE(+/-12V)
POLARITY REVERSE
OUTRHUT FULL-RANGE
+|5V<—Wﬁ POWER LED WﬁlXTENDED LF
= POWER(+/-12V)
Titel  TS2128/TS2158/TS218S
Size Model No: Revision
A3
Date: [Sheet 1 of 1
File: [Drawn By: fanweizeng

4 5 6 7

8




: |

2

\ 3

M B L
2 RS 10k T129 R13 RI
Pl 100nE%8 06K 69 2 =
L3 BLU C10 || 225F 7
X2 X1 10uF16V D
L@ } 16 en 000
UlA Cl4 CI5 Ci6 C17 R4 === =2
Input 1 2 1 S100nF 100nF 100nF  100nF 47K SWID
§'§80M RI37 R20 SW PS-42E85L
o R25
D<tF— AN
GND GNIGND 17K
R8
10K
cll
22pF
1
Input 2
R23
R14 47K
6.98K
1 7
GND
c18 ci c20 c2l R3]
RI138¢100nF100nF 100nF  100nF 47K
13K R27 R29
46.4K 402K +12VREF
GND oD GND % CS5 < DL2
G — 4 0.150F Green
VR1 @M0K(0R) : Power LED
3.16K T s SW PS-42E85L GND D
R68 (45 W2A
o —/\/\/\—| SW PS-22E85L SW PS-22E85L
C12 ||220F DNs~ DNS — >0
2 R7S 10k Q99
= C40 Lz c47
s |4ssoM .
100F —
GND 0.220F 4.TuwF -\ Gsl R16
U4B RS7 *
R8¢ R30 0
100K 47k 41K 47016V
€63 Co4 4]27313
' ' 11 G P 27F 2TF
3 p— 4TuF o GND
R70 R90 R92 : : GND
RIS R6O R71 45801 . LF Pezk Limiting VCA
DNS DNs PN 499K 165K DNS 4 ]
Cs6 1 P S SN 7
s css o0 R72 RO1 R73 93 ca4 1120F ros
S s RIOD Y a
O0R I ) R76 1
GND2 10k 49K
|— R99 131900 GND
Ci6 #99R 499R
DNS
GND GND
RI107 20K R108
1 RI0Z +12VREF
7 10K RI110 GND
) . 8.66K
CN4 I|<|-—k
2P2.0 T C79 470nF RO4 DI 2
ANANN—DGND 13.3K >GND 13.0K I - BAT64-4 3 7
c127 2PF 11 C34
. C80 220nF 845K C68 470nF 154K R112 R106
= 0.1uF Cl03  +12v % R9S RI22 AN N Ul6A RI128
4 RI3S oD > GND R 0K 5 [4380M anpad 137K
o - AR R IR LN N R G Con -2 S S I N B I I 2 v
-~ GND CN3
~m v Cl28 GND .wF[ U19C |[ U1sC D3
RI34 GXD 0L L0uF/I6V 13 1C125 aomons || acaons || 7€ UIEC || yisc || v2oc || u1sc quas QRIS
Cid v 4580M || 4580M || 4ssom || 4ssom || Lm3s8 1K
330R + A “lowr Jowr Jowr Jows JowF JowE JowE Jows ] )| )| )| I | ] R126 D4
+12V<E h - - + - + - UI9A  pios 47K 4148
_C72_I£73_[C76_I£77 _IESl_LCM _Lcss_Lcss_cho_Lcsaz_Lcm_chs © w w w - - - - w w w AN + 2 X
0.uF |0.IvF |o.1uF [0.1wF [0.1uF |o.1uF 123 97 3 |LM393
GND< U |[ uC |[ v4C |[ usc |[ usC |[ urc |[ usc || voc || uioc 22K 47TUF/I6V +
4580M || 4580M || 4580M uC u12C U20A
_len (€74 _|c15 J_C78 4580M || 4580M || 4ssom || 4ssom || Lm3ss || 4ssom || assom || 4ssom b
9§ —— QRI27 RedGreen
,1zv;FluF—lEluF—lEl“F—lo_'luF—lEmF—lEluF —lEIuF OLF |01 [DIF OLF OIE -~ N N N - - - - + + « + INPUT 0.1UF 2R XD G¥D 571819
1 GND GND G‘IGD



fanweizeng
橢圓形

fanweizeng
橢圓形

fanweizeng
橢圓形


‘ 4

L

2

L1
i~ BLU» R5 10k C129 1825% gl
ol - 100nFH8-06K 9 ] 9:|<:
o X1 L3 BLU 106FI6V C1o 28 o0
UlA Cl4 CI5 ci6  Cl7 R24 D =2
Tnput 1 o P, I Q1000 100nF > 100nF  100nF W PRA2ESSL
b R137
o R25
ND <+—AN—
GND GNIGND 47K
R8
10K R26
Cl1 GND<tH— AN
1oF 47K
1
I\I o (=)
Input 2 R23 d) )
R14 47K ——
6.98 SWIC
1 é( 7 SW PS-42E85L 2V
GND
R84
Cl8 Cl C20 C21 R31
R138¢100nF100nF 100nF  100nF 47K 20K
13K R27 R29 <
46.4K 40.2K +12VREF
GND aXp GND 8 7 55 < 3&‘;
0.15uF
I_/R\S}v VRI AIOK(G0A) Power LED
3.16K T SW PS-42E85L GND D
. 4
R68 c45 SW2A R%2 SWPS22EssL| Green SW PS-22E85L
SW PS-22E85L - meebos )
C12 ||220F DNS~ DNS |_ — o] [ P>
C42 R75 10k Q @ O i
- C40 1+
4580M C43 a7y = af -
5 3 || 220F 1
020F 100F | 7B |
GND - 4 TuF ] 558 SSI RIG
U4B R57 r28< R30 § 0!
N i K 470116y 470716V
R33
€63 C64 47K
ND GND
v 1 UIZA —L_C48 82nF GND82nF
T 4.TF GND GND
R70 R90 R71 RO2 h 1 ——
RIS RE) DN oK 4580 LF Pezk Limiting VCA
DNS DNS 3.74K DNS A P |
I I 12V<H K 7
.
Cs6 s Cs8 60 R72 RO RT3 93 ._OM\/\/\Z,M—. R% OSE d
w T
GND2 - — : %9 R100 s
C46 499R R
DNS
GND GND
R107 20K R108
+12VREF
1 RI02 , UImB ' 6 R117 c69
+12V |—<
7 10K R110 N 115K anp
=K
CN4 DI 2 R114
2P2.0 C79 470nF
6
T . ] BAT64-4 3 1 7
AAA—BGND 750K >GND 549K I
2PF 11 C34
. C127 80 220nF 174K C68 470nF 154K R112 RI06 , Ul6A ND
= 0.1uF 20uF16v C103  +12V J’\/\/_DGND R95 Np R122 VNN R128
4 RIS >GND R 10K 5 |4580M ep<t 137K
o BLMISRK102 g fom tom o fas fem fem tem o =T 1 7] 77 7] 7] 7 &P o sV
=3 GND ;
= D3
&R v CI8 GND uF| UI9C [ ULSC || yi7c || U6C || wisc || vt 4148 ;’”25
R134 GND OIuF 2oEneV C123_| C125 4580M || 4580M || 4ssom || 4s8oM || 4580M 45;31\5:[ Ew}gscs : AL
330R + A "Towr Jowr Jowr Jowr Jowr Jowr Jowr Jows ] 1 1 1 1 1 | 517%(6 D4
v i i i - i = - UI9A g4 : 4148
_C72_I£73_[C76_I£77 _IESl_LCM _Lcss_Lcss_Lm_chz_Lm_chs © w w w - - - - w w w AN + 2 X
. O.1uF 0.1uF 123 97 3 |LM393
O-uF O.uF |O.IuF 0.1uF U2C |[usC |[u4C |[ wsc || veC 22K 47UF/16Y] *
GND <t J_ assom || 4s8o || 4s80M || asaowt || assona uic usC uoC u1oC u11cC U12C U20A
4580M || 4580M || LM358 || 4580M || 4580M || 4580M
_lcn _IC74 |75 _[CT8 GNDC98 1 Sri27 4K7 _L RedGreen
—lE1uF—lE]uF—lE1uF—lo_.1uF—FluF—FluF —FluF O.uF [0.uF |0.0uF [O.F (O.WF < + « + + + < < + + < < INPUT 0.1UF 2R GND  GND Clo
-12v<t 470 \4
GND GND GND
1




1 ‘ 2 3 ‘ 4 ‘ 5 6 7 8

2

Ll 1
I~ BLU: RS 10k C129 pRI3 RI
W 100nFS8-06K 6.9: ol ==
el 2 ; | =
o X1 L3 BLU 106FI6V C1o 28 o0
UlA cl4 cis ci6  CI17 R24 — >
Input 1 < 1 >100nF 100nF 1000F  100nF TR D omgsL
G R25
ND <+— AN\
GND GNIGND 17K
RS
10K
cl1
22pF
1
.
Input 2 R23
R14 47K
6.98K SWIC
1 7
GND
C18 ClI €20 21 R31
RI138¢100nF100nF 100nF  100nF 47K
13K R27 R29
46.4K 40.2K +12VREF
.
GND XD GND cs % 3&;
0.150F
|_,R\5}v VRI AIQK(304) Power LED
3 T SW PS-42ES5L GND v
16K
SW2A
R68 C45 SW PS.22ES5L R32 SW PS-22E85L
C12 ||22F DNS DNS — o] [V DN
c42 R75 ’
3 0 [ 10k Q90
S |4ssM 1, | o -
s 100F
GYD 0.224F 4TuF — QU Rie
U4B RS7 rR2s< R3O 0
Vo o R0 47016V
R33
63 c64 K
ND GND 82nF 82nF
I ! uiza ::C48 GND
R70 + | A G\D D
R90 R71 R92 45801 LF Peak Limiti
RIS R69 imiting VCA
DNS DNs DNSC - CaTsK pns ¢ 93K > 5
I I 12V<— o S 7
N
cs6 Cs8 6o R72 R91 R73 93 C44 11220F | R9% RIOI .
0R I I ) R76
49K
GND2 G - — %9 R100 s
o e 499R
DNS
GND GND
RI107 0K RIB o
1 RI02 , UImB 6 R117 c69
10K ' 52V l_‘ GND
7 R110 ] 115K
K
Nt DI 2 R114
2P2.0 T C79 4700F R4 BAT64-4 3 16 7
AAA—D>GND 110K [ :
o 22PF 11 C34
C80 220nF 115K C68 4700F 154K R112 R106 GND
5 : 2| N ul6a RI128
S ;11:? DOFNEV Cl03  +12V L oo —oann RO >GNp R122 r iy ‘3 5300 anpal 13K
o BLMISRK102 v _om Tome Jene fem fem fem fem e =T =1 71 71 71 71 ] &5 o e
5 ND D D3
= v Cl128 GND LIF| U19C (| UISC ([ yi7c || UI6C || uisc || u2oc || uisc guag RIS
R134 GND O.IuF ey C123_|C125 4580M || 4580M || 4ssom || 4580M || 4ssom || 4ssom || Lw3ss : AL
330R + 4 —Eml: —Eml: —Eml: —Eml: —HmF—HmF—HmF —Hmh‘ 1 1 1 1 1 1 | 517%(6 flts
22,1
_c72_lg73 o6 _lcm _IESI_LCM _Lcss_Lcss_cho_chz_Lm_chs » w w w w » - - - w R + 2
O.luF [OIuF |o1uF [0.F [0.IuF Jo,1uF U2C U3C 73 o 1y {005
u4C | usc || UC || prc || usc || usc || wioc || viic || vic 22K 4TUF16Y)
GND< 4580M || 4580M || 4580M || 4sgoM || 4s8oM || assom || 4ssom 358 U20A
en e o J_C78 L ABOM_ || 4580M._ ] 4580M G s L Srizz a7 L RedGreen
—lE1uF—lE1uF—lEmF—lo_.1uF—lEluF—F1uF —lEIuF ONF |0.1uF |0.1uF [0.uF |0.1uF < < + + + + + + + + + INPUT 0.1UF 2R GND  GRD Clo!
e 470P 3
GND GND GND
1




) 5 ; ‘ 4 5 ‘ 6 ‘ 7 8

L1
® 1 3 Y v 19 €24 Di4 DM 300W+300W MAIN(1/1)
L RT3
ur + 10 '||
o ANTSI2Y| 3 T~
—= 1000UF/16 D3 3 2221250V c17 100K
DC-DC RB160M-30 S Cll 410V [ o
70UV 3 222/(2320\] L4 047 ™ RI3
& I V= 27mH T cie |
| L ) 1 < OIIKY L.OuF/25V  1.0uF/25V
@) ‘
D2 42 + =
1A2200Y T e, T D4 ~ o N —>f
4700123V 1000UF/16Y RB160M-30 2O <
ELEEB B S
& vin %V()ul A 12v ~ * -z D13
Z _
BEAD . IR DRIVE ( U3 IA/600V P
0.01UF/IKV
5 5 o m
~ N 222250V S 283 ¢%2 & g
+12V +5V M 11A/500V
220R
* A A 2 <
3 1|+ D28 =
BD4 T ~cu DS A RY7 R96 1.0uF/16V
€30 . 5.1V : 68n-630V
STTHS02 0.1U 100U/16V R37
S I” L J o7 10R
— "] BDI 10U/35V 10U/63V ®
+ NC
o | == D19 TRANS-ER35
— 3 01U | ¢35 5.1V oYY
TC- —@
100U/16Vg” 10R
R17
STTHS02 12V 5V
= 220R C49
Ls 8 0.01uF/16
D2 +60V = ol =
STTHS02 INDUCTOR |
3 >
TC1 DC-DC 8 H11A8174 °
_1+ B s 50V Ly
T~ 8 RISATS 2 c42 220P U6
9 2200UF/63V 51K 31 g 0.1UF/100V
’ ® PY LE-OUT ©
BD3 ® & ||. " s +12V
STTH802 C32 i i
57.6K _60v 10R
a3 S R52 % NS401 2UF16V == S 2A700v @160V
- > = L6 Cc47
Lt Co4 2 L o INDUCTOR 2opre3oy  OUF 230V UF| s D35
(=} p— p— p—
& " To.1urioov 220P = = = §
Veere INDUCTOR -60V FEEDBACK o0 |
v,

J4

CON10 PROTECT1 Ry OUT2 | HE-OUT
15 E
R110 consg DSP-MUTE 10 § 57.6K 1.0K !
53
2.0A/60V JK60-160 RPOTE% g PROTECT?2 . 22UF/16V cas sl 11{(‘)% w SRat C = oop
HE-OUT 1.0uF 250V 1K 2w | 0.22UF
12v 7 INDUCTOR 220pF 630V 55
=6 = = 66 =
+12V< 5 cn 5.6R
0.0022uF/250V il : Wk FEEDBACK 0 =
_] 1uF 100V
LF-OUT | g L13 “
| BLMISRK102
LF| 1 - .
+5V 1| +60V
INDUCTOR | ¥ 66 ATuE 1
VAA  CSH
10R R0 B}
R115 Cc57 0.1U ——
Lo 10R 2 oo B > 14 6 | crs
u7 R53 RS5 33K Q S -
INDUCTOR vV '|| ¥ ’ +60V — R64 g =—2=—2=2%
C65 4.7uF 1 16| 24K | R43 560R 3 &g 4 q 4
VAA  CSH D22 BAVI03 N2} o IN-  HO == A A
s D20 1A200 301K | cs9 S E| 2| Z
= 57 10nF col o3 InF i i B
cs6 0.1 2 _lGND VB 10K z T 4 1 comp Vs |out2
= 3 s | o = 1
= Rra ! 2 . .= D26 PROTECT2  InF 1nF £
£ _
N1} PR L 1IN HO g8 2123 |2 sof 4148“ POV 31 csp o vee 2
3.01K | C58 . ao o o o + C84 &
R70 &
10nF 60 c62 InF 2| 2|z 33uF =
T 4 1 comp Vs ' ' louTl 100R 6 Ivss Lo g
R7 o ! 36 Q0
D24 PROTECTI InF 1nF TR g3 ITE g
22,
sp 4148“ PPN 5 lesp vee 12 2 7 | VREF COM 60V
+C83 +12V-1 & L 4.99K
33uF = =
=)
6 lvss Lo p—U ss RS7 8 1 ocsET DT
85 a0
FEN R72 DRIVE
222,
T VREF cOM R81 T 0V 20K
. 499K
) 8 | ocser DT INDUCTOR SV
R71 SRIVE Titel DM 300W+300W SCH
20K Size IModel NO: Revision
A3 DM 300W-+300W VERI51202
INDUCTOR 1Y Date 2-Dec-2015 Sheet | of |
File DM 300W+300W 20151202 5ctDrawn By~ XiaoPingHuang

1 2 ‘ 3 4 5 6 7 8




AC SW

1S2125/TS215S5/TS218S Wiring Diagram

J1

ouT1 =3
GNDl =—

= b

HK18332
P-DM 300W+300W_DIP

HA06363 H:fiH55HE5 7P-TH

HK183XX
TS212/215/218S SUB-PRE-DIP

Titel: 2125/TS215S/TS218S

Size:A3

Model No:TS212S/TS215S/TS21

RRevision: VER160607

Date:

2016/06/07 [Sheet

1 of 1

File:

212S5/TS215S/TS218S Drawn By: fanweizeng

4



surikao
文字方塊
TS212S/TS215S/TS218S Wiring Diagram

surikao
文字方塊

kyamanaka
Rectangle




surikao
文字方塊
MODEL:TS212S

kyamanaka
Rectangle


TS212S PART LISTS

S/N |Part No [Description Specification Qty | Material [Remark
1 |MG00351 |Screw-RS-steel plate M4#16 8
D |HK18377  [K-faceplate TS212S_ ALTO_220-240V_EU_CH_(NUMARK) |1
3 [ND00665  |EV Foam-RS-one side with glue  {950%15%2.0mm black_V1.0 1
4 |NC05053 |Cabinet TS212S_V1.0 1
5 [ND00633  |EV Foam-RS-one side with glue  |1.0t*1500%15mm black_V1.0 2
6 |HK18344  [K-woofer 12" 600W 8 Q(TS212S) 1
7 [MG00350  |Screw-RS M5*30(T head ¢ 10) 8
8 grille 1
0 |MG01030  |Screw-RS-flat-plate M3#20 8
10 [N107836  [plastic logo 30.35%11.03%90.22 1
11 [N107597  |light pipe-semi-transparent PC TS212 16.69%10.32%8.15_V1.1 1
12 [HK17710  |K-PC Board P-TS212 Logo LED-DIP 1
13 3M VHB 2
14 [N107833  [Strainer-(40ppi) TS212S 5t4407%476.2_V1.0 1
15 [ND00374 |EV Foam-RS-one side with glue  [2.0t%948%18mm black_V1.0 1
16
17
18
19

20
21




By

MODEL: TS215S



surikao
文字方塊
MODEL: TS215S

kyamanaka
Rectangle


TS215S PARTS LIST

S/N [Part No |Description Specification Qty | Material [Remark
1 [MG00351 |[Screw-RS-steel plate M4*16 8
2 [ND00665 |EV Foam-RS-one side with glue 950*15*2.0mm black_V1.0 1
3 |NC05054 [Cabinet TS215S_V1.0 |
4 [ND00633 |EV Foam-RS-one side with glue 1.0t*¥1500*15mm black_V1.0 2
5 IND00398 |EV Foam-RS-one side with glue SR500A-SUB 1205.5%15%2 black_V1.0 1
6 |[HK18345 [K-woofer 15[ 600W 8 QQ(TS215S) 1
7 [MG00350 |Screw-RS M5*30(T head ¢ 10, /[fF) 8
8 grille |
0 IMGO01030 [Screw-RS-flat-plate M3%#20( 8
10 INIO7836 [plastic logo 30.35%11.03%90.22 1
11 [NIO7597 [light pipe-semi-transparent PC TS212 16.69%10.32%8.15_V1.1 1
12 |HK17710 |K-PC Board P-TS212 Logo LED-DIP 1
13 3M VHB 2
14 |NI0O7834  [Strainer-(40ppi) TS215S 5t*544.7*%487_V1.0 1
15 |[HK18378 [K-faceplate TS215S_ ALTO_220-240V_EU_CH_(NUMARK) 1
16
17
18
19

[\®)
S

(\
—_

[\
[\®)




S8LZSL1ddOoN @



surikao
文字方塊
MODEL:TS218S

kyamanaka
Rectangle


TS2185 PARTS LIST

S/N |Part No |Description Speciflcation Qty | Material [Remark
1 |IMGO0351 [Screw-RS-steel plate M4*16 8
2 [HK18379|K-faceplate TS218S_ ALTO_220-240V_EU_CH_(NUMARK) |1
3 INC05055 |Cabinet TS218S_V1.0 1
4 [HK18346 |K-woofer 1851 600W 8 Q2 (TS218S) 1
5 [MG00350 |Screw-RS M5*30(T head ¢ 10) 8
6 grille 1
7 IMGO01030  |Screw-RS-flat-plate M3%*20 8
8 INIO7836 plastic logo 30.35*11.03%90.22 1
O [NI07597 light pipe-semi-transparent PC TS212 16.69*10.32%8.15_V1.1 1
10 [HK17710 [K-PC Board P-TS212 Logo LED-DIP |
11 3M VHB 2
12 |ND00633 |EV Foam-RS-one side with glue  |1.0t*1500%15mm black_V1.0 2
13 [NIO7835 [Strainer(40ppi) TS218S 5t%625*%551.4 V1.0 1
14 |ND00665 |EV Foam-RS-one side with glue  [950%15%2.0mm black_V1.0 1
15 |ND00701 |EV Foam-RS-one side with glue  |1370%15%2.0mm 1
16
17
18
19

[\
(-

(\]
—_

(\®]
[\

[\®)
(OS]




Rank Part No Description Specification Insert Location Remark

PC03012 PC03012  |SPEAKER TS212S_ALTO_110V-120V_CHINA_(NUMARK)

10001 NC05053 |box TS2128_V1.1

1 0001 NI02426  |foot cushion ¢ 37%15.5mm PGHA1022ZA/J1_P_A

| 10002 MI02042 |handle-RS 220%163.5*63mm _V1.0

| 0003 MEQ00082 |nut-RS MS5*0.8PH*10.6_V1.2 Lock the woofer

| 0004 ME00083  [nut M6*1.0PH*11.6_V1.2 Lock the pole mount
| 0005 ME00085  [nut M4*(0.7PH*9.3_V1.2 Lock the handles on two sides
| }-0006 screw M4*¥16 Lock the handle*12
| 0007 screw-RS M4*30mm Lock the handle*8

1 0008 MG00670 [SCREW-RS M6*40 Lock the pole mount*4
| 0009 ND00242 |EV foam 43*47.5%1.5mm stick to the handles on two sides
| 0010 ND00634 |EV foam--RS 2.0t*300%15mm black_V1.0 stick to the pole mount
| 0011 ND00635 |EV foam--RS 2.0t%700%15mm black_V1.0 stick to the handles

| 0012 MGO0751 [screw-RS M4*20MM lock the feet*4

| 10013 MH01704 |handle-RS ELVIS ¢ 110%96_V1.3

| 0014 NHO00782 |Tube TS212S ¢ 100* ¢ 08%233_V1.0 used for the cabinet*2
I }-0015 NCO05057 |top cover TS 2128 505.1%450%15mm_V1.0

I | 0001 NC03656 |Plywood-RS-CARB 2440%1220%15t

| _j-o016 NC05058 _|chassis TS 2128 505.1%450*15mm_V1.0

| | 0001 NC03656 |Plywood-RS-CARB 2440%1220*15t

| 0017 NC05059  [side cover board TS 2128 449.3%419*15mm left_V1.0

I | 0001 NC03656 |Plywood-RS-CARB 2440%1220*15t

| 0018 NC05060 [side cover board TS 2128 449.3%419*15mm right_V1.0

| | -0001 NC03656 |Plywood-RS-CARB 2440%1220*15t

1 0019 NC05061 |front board TS 2128 429%419%18mm_V1.0

| | -0001 NC03657 |Plywood-RS-CARB 2440%1220%18t

| 10020 NC05062 _|rear board TS 2128 419%337.5%18mm_V1.0

| | -0001 NC03657 |Plywood-RS-CARB 2440%1220*18t

| 0021 NC05063  |rear board TS 2128 277.5%310.5%18mm_V1.0

| | -0001 NC03657 |Plywood-RS-CARB 2440%1220*18t

| 0022 NC05064  |barrier TS 2128 398*110*15mm_V1.0

| | -0001 NC03656 |Plywood-RS-CARB 2440%1220*15t

| 0023 NCO05065 |billet TS 2128 408.5%63.5%15mm_V1.0

| | -0001 NC03656 |Plywood-RS-CARB 2440%1220%15t

| 0024 AE00684 |Paint LTS-6072 25KG/Pail

| 10025 AE00686 |Paint LTS-6071B 10KG/Pail

| 0026 AE00687 _|Paint DTS-1202-1 20KG/Pail

| 10027 AE00688 _|Paint DTS-1021A-1 20KG/Pail

| 0028 AE00689 |Paint DTS-1021B 10KG/Pail

| 10029 AE00692 |Paint PU-010-4 170KG/Pail

| 10030 AE00693  |Paint MTS-2209 20KG/Pail

| 0031 AE00694  |Paint LTS-6070B-1 10KG/Pail

| -0032 NDO1550 |Absorb sound sponge-RS TS212S 800%350%30t 500g/mUL_V1.0

}-0002 HK 18344 |speaker 12inch 600W 8 Q(TS212S)

| 0001 NH00243 |cushion-RS ¢ 315%284.4*8 EVA+ 8_V1.1

1 0002 NHO00715  [caushion-RS ¢ 152%138%20_V1.0

| }0003 ND00525 |dust-proof shade-RS ¢ 116%24_V1.0

| 0004 MHO01986 |magnet-RS ¢ 180%95%20 Y30_V1.0

I 10005 MHO1110 |rivet MO0500A_OU-30

| }-0006 MG00263  |screw MS5*8 Lock the washer and bracket*6
| 0007 HC00426  |terminal-RS M0021B_PT2.1_V1.0

| | 0001 HC00496 _ [connect terminal 3%16.3mm

|| 0002 HC00495 _ [connect terminal 16.3mm

| | -0003 NI02583 |terminal block 3.5%24.5%3t

| 0008 HA04554  |line-RS TA2J7Y18H2KA33/42WB*2*180mm

| 1 -0001 HA04553 [line-RS TA2J7Y18H2KA33/42WB*1M

| 0009 NDO01346 |spider-RS ¢ 150%76*4 N-1500 0.3/100g TCY:D-1500H

| 0010 MH02767 |T type middle pillar ¢ 165%74.25%31.58 ¢ 30

| 0011 MHO02465 _[iron coil-RS ¢ 175%78.5%10 P:120 TL:W175-49_V1.0

| 0012 NE27053 |label HK18344_V1.0

| | F0001 NIO001S  |membrane 0.04*1M

| 10002 NH00012 |bond paper 0.04*1M

| 0013 NDO1380 |wind-proof sponge-RS ¢ 34%30H 20°_V1.0

| 0014 MI06470  |bracke ¢ 318%81*91.7 P:120 YD300-07M1-H2

| 0015 NH00785 |cone ¢ 302* ¢ 76.5%59.5 YL:NCHL12150-3B/B

| L0016 HG00595 [ voice coil TIL/AL ¢ 74.88%56*5.2Q%0.27 22.2 EI

}-0003 NIO7833  |net TS212S 5t%407*476.2_V1.0 stick to the back of grille*1
10004 HA06358 |wire 550mm UL1015 18AWG+Capacitance speaker wire* 1

| 0001 CF00245  |metal-film capacitor-RS 0.0022uF/400V 5% ESK400D22JA

| 10002 HA06357 _|wire 550mm UL1015 18AWG

}-0005 ND00665 |EV foam-RS 950%15%2.0mm black_V1.0 stick to the AMP
0006 ND00633 |EV foam--RS 1.0t*1500*15mm black_V1.0

10007 ND00374 |EV foam 2.0t%948*18mm black_V1.0 Stick to the woofer
}-0008 MG01030 |Screw-RS M3%20 Lock the grille*8
10009 MGO00350 |screw-RS M5*30 fix the woofer*8
{0010 MGO00351 |screw-RS M4*16 fix the amp to the cabinet*8
0011 HA00841 |power cord(America 3P) LT-202+18A*3C(SVT) 6FT+LT-501

0012 HK17710 |PC board P-TS212 Logo LED-DIP to fix the logo

| 0001 HK17709 [PC board P-TS210 LED--SMD

| | F0001 HB04153 |PCB-RS TS212 LOGO LED (4%8)_VER150908

| | F0002 SE00270 |SMD L.E.D blue MS-PTB414SUBC LED1

| | 0003 AE00553 |SenJu solder paste M705-GRN360-K2-V 0.5KG/bottle

| 0002 HC00253 _ [connector(male) 2P 2.0mm 180° CN1

1 -0003 AC00603 |lead free soldering bar S100

10013 NI07597  |LED lens TS212 16.69%10.32%8.15_V1.1




[-0014 HA04308 |header wiring 2P-2P 700mm UL1007 26AWG red/white connect the LED of logo
10015 NA00885 |PE bag-RS 0.03t*¥1200*1050mm 12 PGPP1036ZA/J1_P_C pack the speaker
[-0016 NA00858 |PE bag-RS 0.04t%240*160mm_V1.0 pack the user manual and guarantee
}-0017 NAO1717 [sponge barrier TS212S_V1.0

[-0018 NE27061 |label TS212S_V1.0 Inside and outside*1 , carton *1, user manual®1

}-0019 NE27069 [label TS212S_V1.0 speaker* |

| 0001 NIO001S  |membrane 0.04*1M

1 10002 NH00012  [bond paper 0.04%1M

}-0020 NF03534  |assurance card-RS ALTO PROFESSIONAL_V2.0

10021 HK18374 |Faceplate TS212S_ ALTO_110-120V_CHINA_(NUMARK) fixed to the back of the cabinet

| [-0001 HAO01271 |signle terminal wiring 60 (PC250,PC187) SW TO AC Jack

| 0002 HAO01287 |wire-RS 60mm UL1015 18AWG blue SW TO AC Jack
| 10003 HA03186 |wire 100mm UL1015 14AWG GND

| 0004 HA04141 |wire 100mm UL1015 18AWG blue AC SW to AC Jack

| }-0005 HA04143  |wire 100mm UL1015 18AWG brown AC SW to AC Jack

| 10006 HC00331 |AC socket RF-2004

1 }-0007 HD00018 |glass tube fuse 6.3A 250V ¢ 5.2%20mm CCEE/CSA/S/UL/VDE

1 0008 HI00475  |power switch-RS 2%2P RF-1003-BBASE2X1T

| 0009 ME00016 _[color nut 4m/m GND

| _}-0010 MF00014 |washer @ 3% ¢ 6.5%0.5 AMP*6

| 0011 MF00038 | washer-RS P4*F @ THIt GND

| 0012 MF00048 | washer-RS @ 4% 9 8%0.5t GND

| 0013 MGO00061 _{screw-RS M3*10CVfRIEE) MIC*8, sealed box*16

| 0014 MGO00162 |screw M3*8 AMP*6

1 0015 MG00163  [screw fix the soldering tag*1, PRE GND*1

| 0016 NIO1862  |key _

| 0017 NI06123  |key 9.2%9.2%7.3(3.3*3.3)_V1.0

| 0018 HK18336 |PC board P-TS212 SUB-PRE-DIP

| 1 0001 SA00051 |L.E.D @ 3 orange,green 28/30/32mm DLS

| | 0002 SA00052 |L.E.D @ 3 round(green)long foot 26 DL1,DL2

| | 0003 SA00053 |L.E.D @ 3 round(red)long foot 26mm DL4

| | 0004 SA00054 |L.E.D 3m/m round(yellow)long foot 26 DL3

| | 0005 HC00253 _|connector(male) 2P 2.0mm 180° CN4

| | 0006 HC00258 _|connector(male) 7P 2.0mm 180° CN3

| 1 F0007 HC00392 |balance MIC jack-RS JY-5030-030G 180° JK1,JK2

| | 0008 HCO01212  |balance MIC jack-RS K6X01V-6-3A J1,12

| | 0009 HI00162  [push-button switch 2 paragraphs 6p PS-22E8552L SW2,SW3

I | 0010 HIO0163  |push-button switch 2 stage 12P PS-42E85 SW1

| | H0011 NI02532  |LED spacer support LEDS-22 22mm

| | H0012 RC01034  |Potentiometer-RS 30A103-Q1-FA265B120-10K L26.5FCx12 VRI

| | 0013 AC00603 |lead free soldering bar S100

| | -0014 HK18338 |PC board P-TS212 SUB-PRE-AI

. L C1,€2,C3,C6,C7,C35.C36,

I 11 0001 |CB0O0192 |electrolytic capacitor 10uF/16V ¢ 4¥7Tmm C37.C38.CA2.CT0

I |1 0002 |CB0O0193 |electrolytic capacitor 4TuF/16V ¢ 6%Tmm (C51,C52,C53

I || F0003 |CB00251 |electrolytic capacitor 220UF/25V ¢ &*11mm C103,C104

I || 0004 |CB00262 |electrolytic capacitor 47uF/16V NP ¢ 6.3*] lmm C100

| 1 1 }0005 [HKI8337 [PC board P-TS212 SUB-PRE-SMD
C8,09,C10,C11,C12,C13,C

. . Sy e . 0 22,023,C24,C25,026,C27,

I 111 }0001|CI00051  |SMD ceramic capacitor 0603 22PF/50V COG5%(C1608C0OG1H220IT)/TDK C28.C29.C30.C31,C32.C33
,C34,C43,C44

1111 }0002|CI00055  |SMD ceramic capacitor 0603 47PF/50V COG£5%(C1608C0G1H470JT)/TDK (C54,C62

| 11 1 [0003[CI00175 [SMD ceramic capacitor 0603 1.0uF/16V X7R£10%(C1608X7R1C105KT)/TDK C101

1111 F0004[CI00179  [SMD ceramic capacitor 0603 (.22uF/25V XTR*10%(C1608X7R1E224KT)/TDK C40,C41,C61,C80
€69,C71,C72,C73,C74,CT5
.C76,C77,C78,C81,C82,C8
3,C84,C85,C86,C87,C88,C
89,£90,C91,C92,C93,C94,

I 111 F0005[CI00185  [SMD ceramic capacitor 0603 0.1uF/50V X7R£10%(C1608X7R1H104KT)/TDK 95,C96,C111,C112,C113,
Cl14C115C116C117,Cl
8,C119,C120,C121,C122,C
123,C124,C125,C126,C127
C128.C66.C9

I 111 }0006|C100204 |SMD ceramic capacitor 0603 0.027uF/50V £10%(C1608X7R 1H273KT)/TDK C63,C64

I 111 }0007|C100206 |SMD ceramic capacitor 0603 0.047uF/50V £10%(C1608X7R 1H473KT)/TDK C60

1111 }0008|C100209 |SMD ceramic capacitor 0603 0.082uF/50V £10%(C1608X7R 1H823KT)/TDK C59

| 11 1 [0009{CI00211 [SMD ceramic capacitor 0603 (.15uF/25V X7R*10%(C1608X7R1E154KT)/TDK C55

I 111 }0010|C100220  |SMD ceramic capacitor 0603 220PF/50V COG £5%(C1608COG1H221JT)/TDK C65

1111 }0011|C100224  |SMD ceramic capacitor 0603 470PF/50V COG +5%(C1608C0G1H471JT)/TDK C102

I 111 }0012|CI00330 |SMD ceramic capacitor-RS 0805 10uF/16VE10%(GRM21BB31C106K)/(MURATA) C4,C5

1111 }0013|C100349  |SMD ceramic capacitor 0805 4.7uF/25V X5R £10% (C47,C48,C97

1 111 [0014[CI00404 [SMD ceramic capacitor-RS-ACT 0603 0.47uF/16V (GRM188B31C474KA87D)/(Murata) C67,C68,C79

I 111 }0015|CI00413 |SMD ceramic capacitor-RS 0.33uF/50V X7R £10% C49,C50

| 111 [0016{CO00168 [SMD inductance-RS-ACT 1000Q125%(BLM18RK102SN1D) L1,L.2,L3,L4,R135R136

| 11 1 [0017{RD00059 [SMD fixed resistor 1/10W 0.0Q +5% 0603 C56,C57,R111,R112,TS212]

| 1 1 1 [0018RD00075 [SMD fixed resistor 1/10W 300Q +5% 0603 R44,R45,R46,R47

| 11 1 [0019[RD00135 [SMD fixed resistor 1/4W 330Q +5% 1206 R134

1 | | 1 [0020[RD00201 [SMD precise resistor 1/10W 1.50K Q £1% 0603 R32

I 11| }0021|RD00203 |SMD precise resistor 1/10W 2.00KQ £1% 0603 R81,R82,R83,R84

I 111 }0022|RD00209 |SMD precise resistor 1/10W 4.99K Q +1% 0603 R38,R39,R90,R96,R98

1 | | 1 [0023|RD00204 [SMD precise resistor 1/10W 249K Q £1% 0603 R97

1111 }0024|RD00210 |SMD precise resistor 1/10W S.11KQ 1% 0603 RI114,R115




R1,R2,R3,R4,R5,R8,R9,R3

6,R37,R40,R41,R42,R43,.R
102.R103.R104,R105,R106
I 111 [0025(RD00214 [SMD precise resistor 1/10W 10.0KQ %1% 0603 JRIO,R11LR75R76,R16,R1
7,R19,R130,R57,R59,R60,
R61,R62,R63,R64,R65.R66
R67.R86.R87.R88.R89
I 111 }0026|RD00215 |SMD precise resistor 1/10W 13.0KQ £1% 0603 RI121,R137,R138
1| | 1 [0027|RD00216 [SMD precise resistor 1/10W 13.3KQ £1% 0603 R94
1111 [0028|RD00219 |SMD precise resistor 1/10W 20.0KQ *1% 0603 R107,R108,R6,R7
11 | 1 [0029|RD00272 [SMD precise resistor 1/10W 10.0Q +19% 0603 R85
I 11| }0030|RD00282 |SMD precise resistor 1/10W 1.00K Q2 £1% 0603 RI118,R133
1 | | 1 [0031|RD00286 [SMD precise resistor 1/10W 4.53KQ £1% 0603 R72
1111 }0032|RD00289 |SMD precise resistor 1/10W 8.06K Q2 1% 0603 RI2,R13
1111 }0033|RD00290 |SMD precise resistor 1/10W 47.5KQ £1% 0603 R48,R49,R50,R51
1 1 | 1 [0034|RD00293 [SMD precise resistor 1/10W 17.4KQ £1% 0603 R109
1 | | 1 [0035|/RD00328 [SMD precise resistor 1/10W 8.66KQ £1% 0603 R110
1 | | 1 [0036/RD00330 [SMD precise resistor 1/10W 39.0KQ £1% 0603 R129
1 | | 1 [0037|RD00334 [SMD precise resistor 1/10W 11.0KQ £1% 0603 R120
) e e ) . R22.R23.R24.R25.R26.R28
I 111 [0038[RD00339 [SMD precise resistor 1/10W 47.0KQ +1% 0603 RI0R3LRIZRIRSS
1 1 | 1 [0039|RD00344 [SMD precise resistor 1/10W 11.5KQ £1% 0603 R117
1 | | 1 [0040[RD00363 [SMD precise resistor 1/10W 3.16KQ £1% 0603 R52
1 | | 1 0041 |RD00367 [SMD precise resistor 1/10W 15.4KQ £1% 0603 R122
1 | | 1 [0042|RD00368 [SMD precise resistor 1/10W 16.5KQ £1% 0603 R71
1 | | 1 [0043|RD00371 [SMD precise resistor 1/10W 511K Q £1% 0603 R53
1 | | | [0044|RD00386 [SMD precise resistor 1/10W 4.75KQ £1% 0603 R55
I 11| [-0045|RD00415 |SMD precise resistor 1/10W 4. 70K Q *1% 0603 RI125,R126,R131
1 | | | F0046|/RD00457 [SMD precise resistor 1/10W 150K Q2 £1% 0603 R101
I | | 1 0047 [RD00544 [SMD precise resistance 1/10W 22Q£1% 0603 R127
| |1 | }0048|RD00545 |SMD precise resistance 1/10W 49.9 Q%1% 0603 R99,R100
11 | 1 0049 |RD00550 [SMD precise resistor 1/10W 27.0KQ £1% 0603 R132
| 11 1 [0050{RD00695 [SMD precise resistor-RS 3.24KQ+1% 0603 R80
I 1 | 1 F0051[RD00709 [SMD precise resistor-RS 1.37K Q%1% 0603 RI128
| 11 1 [0052[RD00721 [SMD fixed resistor-RS 1/10W 22.1KQ £1% 0603 R124
I | | 1 F0053[RD00750 [SMD precise resistor-RS 1/10W 11.3K Q%1% 0603 R54
| 111 [0054[RD00859 [SMD fixed resistor-RS 1/10W 9.09KQ £1% 0603 R116
| 11 1 [0055[RD00891 [SMD fixed resistor-RS 1/10W 8.45KQ £1% 0603 R95
I | | 1 [0056[RD00894 [SMD fixed resistor-RS 1/10W 46.4KQ £1% 0603 R20,R27
1 1 | 1 F0057|RD00907 [SMD precise resistor 1/10W 26.7KQ £1% 0603 R79
| 11 1 [0058RD00913 [fixed resistor-RS 1/10W 143KQ +1% 0603 R56
11 | 1 F0059|RD00928 [SMD precise resistor 1/10W 22.0KQ £1%0603 R123
11 | 1 F0060[RD00959 [SMD precise resistor 1/10W 16.90K Q£1% 0603 R93
| 1 1 1 [0061[RD00967 [SMD resistance 1/8W 6.98K Q2 £1% 0805 RI14,R15
I | | 1 [0062[RD01038 [SMD fixed resistor-RS 1/10W 40.2KQ £1% 0603 R21,R29
1 | | 1 F0063|RDO1115 [SMD precise resistor 1/16W 3.0KQ +1% 0603 R113
| 111 0064 [SE00155 [SMD Schottky barrier diode-RS-ACT BAT 64-04(SOT-23)/(INFINEON) D1
| 1 1 1 [0065[SE00177 [SMD rectifier diode-RS 0.5A LL4148(SOD-80)/(VISHAY) D2,D3,D4
| 11 1 [0066[SF00038 |transistor RK7002(ROHM) TRI
| | I | F0067|SF00053 _|transistor MMBT3906(SOT23)/(PHI) TR2
| 11 1 [0068[SG00033 [SMD integrated circuit LM358DT(SO8)/(ST) Ul18
U1,U2,U3,U4,U5,U6,U7,U
1111 F0069{SG00122  [SMD integrated circuit-RS-ACT NIM4580M-TE3(DMP8 )/(JRC) 8,U10,U11,U12,U15,U16,
U9,U13,U19
I 111 }0070/SG00194 |SMD integrated circuit NJM13600M-TE1(DMP16)/(JRC) Ul4
| 11 1 }0071{SG00306 [SMD integrated circuit LM393DR(TD/(MEXICO) U17,U20
I 11 | }0072|AE00553 |SenJu solder paste M705-GRN360-K2-V 0.5KG/bottle
ale p . . . g ; ZD1,7D2,7D3,7D4,7D5,7.
I 111 [0073[SE00243  [SMD zener diode-RS 12W 12V MMSZ5242A(SOD123)/PANJIT D6.2D7.7D8
| 111 [0074[HB04398 [PCB TS2 SUB PRE(1%2)_VER160525
1 | | 1 [0075|/RD00420 [SMD precise resistor 1/10W 19.1K Q%1% 0602 R77
I | | 1 -0076/RD00224 [SMD precise resistor 1/10W 100K Q £1% 0603 R78
I |1 0006 |CF00292 |metal-film capacitor-RS 0.27uF/100V 5% CASEO1 C58
. ; . . R Cl14,C15,C16,C17,C18,C19
I 11 F0007 |CF00183 |metal-film capacitor MSC 0.1uF/100V 5% CASEO1 C0.CICICI30
| | | 10008 |CF00155 |metal-film capacitor MSC 0.22uF/63V 5% CASE02 C39
11 1 0009 [CBO00038 [electrolytic capacitor ATuF/16V ¢ 5%Tmm R58
| 0019 HK18332 |PC board P-DM 300W+300W_DIP
| 1 0001 RA00031  |metal-oxide-film resistor 2W 10Q2 P type R41,R42
I | 0002 RA00051  |metal-oxide-film resistor 2W 5.6Q R65,R66
| | 0003 NI00268 |sleeve ¢ 6*20mm PGNS1008ZA/J1_P_C R40
| | 120001 |NI00266 [sleeve ¢ 6*1000mm
| | 10004 MG00162_|screw M3*8 AMP*9
| | 0005 MG00566 [screw M3*10%0.5PH_V1.0 1C*2+shrapnel*9
| | 10006 HCO00088 _|connector(male) 2P 3.9mm 180°(#3921) 13
| | }0007 HCO00174 |connector(male) 4P 3.96mm 180 15
| | 10008 HC00258 _|connector(male) 7P 2.0mm 180 14 insert near L16
I | 0009 HA01933  |jump 2.5mm BRI
I | 10010 HC00324 |connect terminal 6.5m/m (PC250) 11,12
I | 0011 CB00151  |electrolytic capacitor 220uF/63V ¢ 10*16mm (98,C99
| | 0012 CN00069 _|inductance-EMI SUPPRESSOR-RS-ACT  |TB36-13-850485 L1,L2,L5,L12
| | }0013 CG00023 | X1/Y1 capacitor 0.0022uF/250VAC YSU C6,C7,C8,C10,C11
I | 0014 MKO00103 |spring piece 0.5t%22.67%6.5%42.5_V1.0 Lock MOS TUBE
I | 0015 CB00295  |electrolytic capacitor 820uF/180V ¢ 25%35 C13,C14
| | 0016 NI04253  [sleeve-RS @ 28*50M T-2 MK00103
I | 0017 SD00317  |integrated circuit NIM7912FA(TO220F)/(JRC) U2
| | 0018 MEQ00226 [screw-RS M3*0.5PH 1C*2+shrapnel*9
I | 0019 SA00316 |bridge rectifier-RS 8A GBU-8K/(PANJIT) D12




I | 0020 NCO1179 |insulator spacer-RS 0.13t*40mm*55mm(HI-FLOW-625) stick to Q1, Q5
I | 0021 CB00335 |electrolytic capacitor-RS 1000uF/16V ¢ 8*20mm (89,C90
|| 0022 RA01063  |metal-oxide-film resistor 3W 0.1Q 2% P type R40
| | 10023 RH00033 |thermistor-RS-CT 50 B57235S8-0509MO000/(EPCOS) R6
I | 0024 SD00380 |integrated circuit-RS NIM7812FA(TO220F)/(JRC) Ul
| | 0025 AC00603 |lead free soldering bar S100
| | 0026 SB00284 |transistor-RS IRFB4020PBF(TO220AB)/(IR) 06,Q07,08,Q09
|| 0027 NC04098  |insulator spacer-RS 0.13t%27.5*40mm(HI-FLOW-625) pasted on Q6, Q7/Q8, Q9
|1 0028 NDO1210  [cushion-RS 8t*45%10mm(E-4382) pasted on C13/C14
I | 0029 CB00436 |electrolytic capacitor-RS 1000uF/63V LSR ¢ 16%25mm (28,C31,C32,C64
I | 0030 CF00277  |metal-film capacitor-RS 0.22uF/100V C242A224K2SC000/(Fara) (C52,C53
| | 0031 CB00438 |electrolytic capacitor-RS 470uF/25V LSR ¢ 8*20mm C1,C2
I | 0032 CF00284  |metal-film capacitor-RS 0.1uF/630V C822]104J60C000/(Fara) C26
| | 10033 RH00037 _|thermistor-RS-ACT 33092 PTFLO4BG222Q2N34B0/(MURATA) PR200
I | 0034 CF00279  |metal-film capacitor-RS 1.0uF/250V C322E105J60C000/(Fara) (C50,C51
| | }0035 SB00369 | Transistor-RS FDP18N50(T0220)/FAIRCHILD Q1,05
I | 10036 CN00359 |inductance 5.0mH ¢0.7%30T L3,L4
| | 0037 CG00126 | X2 capacitor-RS 0.33uF/275V +10%(C42P2334K6SCO00)(FARA) C9,C12
| | 10038 TC00585  [Transistor PT-DM 350W+175W(ER35)_230V Tl
| | 0039 NI07555  |insulator TT12 0.5t%95%93_V1.0
| 11 -0001 [NI0O4630 [film-RS-CT 450*605*0.5mm 0.184kg_V1.0
| | 0040 CG00130 | X2 capacitor 0.47uF/305V 20%(C42Q2474M6HCO00)(FARA) C5
| | 0041 HA01919 |jump Smm PRI,R110
11| 0001 |[HA02249 [wire ¢ 0.6_545H
| | 0042 MI06323  |heat-shassis TS212 2t%40*100%206_V1.2
| 11 }0001 [ME00221 [iron pillar M3#*8*0.5PH_V1.1
| 11 20002 [MJO0055 [AL plate-RS 2+2000%1000 10.88kg
| | 10043 CN00372 |Inductance 22uH T94-2 L8,L9
| | 0044 HK18335 |PC board P-DM 300W+300W_AI
I |1 F0001 |CBOO112 |electrolytic capacitor 10uF/35V 105C ¢ 4*7mm 2.5mm C95
| 1 | }0002 [CF00183 [metal-film capacitor MSC 0.1uF/100V 5% CASEO] C79,C80
I | | 0003 |CBO0ISS |electrolytic capacitor 10uF/63V ¢ 5*11mm 2.5mm C37
| | | 0004 |CB00034 |electrolytic capacitor 33uF/16V ¢ 5%11mm 2.5mm (C83,C84
I |1 0005 |CC00074 |mylar capacitor-RS-ACT 0.01uF/100V 3% C27
| 1 1 }0006 [CA00131 [ceramic capacitor-RS 0.01uF/1000V Z5U C15,C16,C25
I |1 0007 |CB00409 |electrolytic capacitor-RS 22uF/16V 105C ¢ 5*%11mm (C45,C46
| |1 0008 |CB00469 |electrolytic capacitor-RS 100uF/16V LSR 105°C ¢ 5%11mm (34,C35,C38,C3,C4
I | | “0009 [HKI8333 |PC board P-DM 300W+300W_SMD
| 1 1 1 }0001[SF00083 |transistor MMBT5551LTIG(SOT23)/(ON) Q4
11 | 1 F0002[RD00298 [SMD precise resistor 1/10W 47.0Q £1% 0603 R23
| 1 1 1 [0003[SE00012 [SMD rectifier diode-RS BAVI03(PHI) D15,D16,D22,D23
1111 }0004|SG00122 |SMD integrated circuit-RS-ACT NJM4580M-TE3(DMPS )/(JRC) Us
| 11 1 }0005[SE00054 [SMD L.E.D yellow 19-21UYC/S530-A2/TR8 DS1,DS2
I 1 1| }0006|RD00327 |SMD precise resistor 1/10W 8.20K Q2 1% 0603 R75,R76
I 1 1 1 }0007|RD00355 |SMD fixed resistor 1/10W 4.7Q 5% 0603 R79,R80
1111 0008 RD00214 [SMD precise resistor 1/10W 10.0KQ %1% 0603 ELQ;ETZAR%’RSQ'R&'RIU
| 11 1 [0009[RD00059 [SMD fixed resistor 1/10W 0.0Q +5% 0603 R109
I 1 11 }0010|RD00209 |SMD precise resistor 1/10W 4.99K Q +1% 0603 R73,R74
I 1 1| }0011|RD00224 |SMD precise resistor 1/10W 100K Q £1% 0603 R9,R12,R13,R14,R26,R27
1 | | 1 F0012|RD00460 [SMD precise resistor 1/10W 56092 1% 0603 R64
I 1 11 }0013|RD00466 |SMD precise resistor 1/4W 2.0KQ +19% 1206 R35,R36,R102,R103
I | | 1 [0014[RD00255 [SMD precise resistor 1/4W 100K Q +1% 1206 R7,R8
I 11| }0015|RD00506 |SMD precise resistor 1/10W 3.30K Q2 1% 0603 R77,R78,C72
I | | 1 F0016/RD00512 [SMD precise resistor 1/10W 180K Q2 £1% 0603 R92
I 11| }0017|RD00219 |SMD precise resistor 1/10W 20.0KQ *1% 0603 R71,R72
I 111 }0018|RD00399 |SMD precise resistor 1/4W 10.0KQ £1% 1206 R57,R58
1111 }0019|RD00282 |SMD precise resistor 1/10W 1.00K Q2 £1% 0603 R21,R39,R63,R91
. . , g R45,R49,R50,R61,R62,R67
I 111 F0020[RD00272 [SMD precise resistor 1/10W 10.0Q2 £1% 0603 R6SRS1.RS2LRSIRSA
1| | 1 0021 |RD00274 [SMD precise resistor 1/10W 10092 +1% 0603 R69,R70
I 11| }0022|RD00414 |SMD precise resistor 1/10W 3.90K Q2 *1% 0603 R28,R22
I 11| }0023|RD00385 |SMD precise resistor 1/10W 3.01KQ *1% 0603 R47,R48
I 11| }0024|RD00415 |SMD precise resistor 1/10W 4. 70K Q +1% 0603 R85,R86
| 11 1 }0025[RD00400 [SMD fixed resistor 1/4W 220Q +5% 1206 R1,R17
I 11| }0026|RD00525 |SMD precise resistor 1/10W 33.0KQ *1% 0603 R55,R56
I 11| }0027|RD00303 |SMD precise resistor 1/10W 57.6KQ 1% 0603 R33,R34
11 | 1 F0028|RD00200 [SMD precise resistor 1/10W 15092 +1% 0603 R46
1111 }0029|CI00096  |SMD ceramic capacitor 0603 S560PF/SOV NPO 5% C20
I 111 }0030|CI00145 |SMD ceramic capacitor 0805 0.0015uF/50V X7R £10% C60,C61,C62,C63,C67,C68
I 111 }0031|CI00154 |SMD ceramic capacitor 1206 0.1uF/100V X7R £10% (33,069
1111 }0032|CI00185  |SMD ceramic capacitor 0603 0.1uF/50V X7R£10%(C1608X7R1H104KT)/TDK LCZ;IC(%?Z(CS 6{(;974((8&)(82
1111 }0033|CI00179  |SMD ceramic capacitor 0603 0.22uF/25V X7R*10%(C1608X7R1E224KT)/TDK Cd44
I 111 }0034[CI00195  [SMD ceramic capacitor 1206 4.7uF/25V Y5V (GRM31CB11E475ZA01D) LC?7C(168(C7§6CC72|4( 85,086
1111 }0035|C100206  |SMD ceramic capacitor 0603 0.047uF/50V £10%(C1608X7R 1H473KT)/TDK C18,C49
11 |1 F0036[CI100201 [SMD ceramic capacitor 0603 0.01uF/50V £10%(C1608X7R1H103KT)/TDK C58,C59
I 111 }0037|CI00051  |SMD ceramic capacitor 0603 22PF/50V COG5%(C1608C0OG1H220IT)/TDK C43
1111 }0038|C100220  |SMD ceramic capacitor 0603 220PF/50V COG £5%(C1608C0G1H221JT)/TDK (39,C42
| 111 [0039[SF00082 [transistor-RS-ACT MMBT5401LT1G(SOT23)/(ON) Q3
I |1 | }0040|RD00541 |SMD precise resistance 1/10W 0Q=%1% 0603 350W+175W
I 11 | }0041|RD00596 |SMD precise resistor-RS 1/4W 10.0Q +1% 1206 R37,R38,R96,R99
1111 }0042|CI00269 |SMD ceramic capacitor-RS 1206 1.0uF/25V X7R £10% (C23,C41
| 111 0043 [SE00089 [SMD zener diode-RS 12W 5.1V(MMSZ5231B)(SOD-123)/(PANJIT) D5,D19
I 11 | }0044|RD00636 |SMD precise resistor-RS 1/4W 470K Q £19% 1206 RI8,R52
| 111 [0045[SE00098 [SMD zener diode-RS-C 1W 15V DLA744A MELF/(S]) D14




|11 1 [0046[SG00495 [SMD integrated circuit-RS IR2156SPBF(SO14)/(IR) U3

1111 }0047|CI00279  |SMD ceramic capacitor-RS 1206 0.0022uF/200Vx7R*10% R94

1111 [0048|CI00306 |SMDceramic capacitor-RS 1.0uF/25V X7R £10% C21,C22

I 11 1 [F0049|AE00553 |SenJu solder paste M705-GRN360-K2-V 0.5KG/bottle

I 11 1 [0050|RD00697 |SMD precise resistor-RS 390.0Q+1% 0603 R51

| 1 1 1 [0051[SE00133 [SMD zener diode-RS 225mW 12V BZX84C12LT1G(SOT23) DI§

| 1 1 1 [0052[SE00134 [SMD rectifier diode-RS-ACT 1A 600V MURS160T3G (SMB)/(ON) D13

|11 1 [0053[SG00667 [SMD integrated circuit-RS IRS2092S(SOIC16N)/(IR) U7,U8

I 111 }0054|CI00328 |SMD ceramic capacitor-RS 1206 150PF/630V COG +5%(C3216C0G2J1511)/TDK C47,C48

I 11| [-0055|SE00149 |SMD double-direct triy diode-RS 1A/30V RB160M-30(ROHM) D3,D4

I 111 }0056|RD00818 |SMD fixed resistor 2W 2.2KQ +5% 2512 R43,R44

I 111 [0057|RD00800 |SMD precise resistor 1/8W 10.0Q *1% 0805 RI12,R113,R114,R115

1 11 1 [0058{SG00729 [SMD integrated circuit-RS-ACT MC78M12CDTRKG(DPAK-3)/(ON) U4

| 111 [0059[SE00156 [SMD diode-RS-ACT 1A/200V ESID(SMA)/(FAIRCHILD) D1,D2,D20,D21,D28

111 F0060[CI00356  |SMD ceranic capecitor 1206 0.1uF/250V X7R £10%(GRM31CRT2E104KWO3L) ‘;&;“IBZ TS

I 111 [0061[SE00161 [SMD diode-RS 2A/200V ER2D 35nS(DO214AA)/(PANJIT) AD?%D}I_?;GD}I‘Djz’DB"D}

I 111 [0062{CO00168 [SMD inductance-RS-ACT 1000Q%25%(BLM18RK102SN1D) 2?1177;:(311 LLI4LISLI

1 11 1 [0063[CI00366 [SMD ceramic capacitor 0805 220PF/250V COG £5% C100,C101,C102,C103

| | 1| }0064|CI00387 |SMD ceramic capacitor-RS 0.0022uF/250V X7R £10% (C54,C55

| 1 I | }0065[SE00177 [SMD rectifier diode-RS 0.5A LLA148(SOD-80)/(VISHAY) PTRPTEDZRDZ DI

| 111 [0066[SE00189 [SMD diode-RS-ACT 8A/200V STTH802B-TR (DPAK)/(ST) BD1,BD2,BD3,BD4

I 11| }0067|RD00945 |SMD resistance 1/4W 1.0Q 1% 1206 R87,R88

I 1 1| [0068|RD00957 |SMD precise resistor 1/10W 4.3KQ £1% 0603 R31,R32

11| 1 0069 RD00293 [SMD precise resistor 1/10W 17.4KQ £1% 0603 R29

I |1 | }0070|RD01001 |SMD precise resistance 1/10W 24K Q +1% 0603 R53,R54

| 1 1 1 [0071[HB04061 [PCB DM 400W+200W_VER150720

| 111 [0072{SB00379 [Photodiode LTV-817S-TA1-C(LITEON)/ U6

1111 “0073|RD00123 |SMD fixed resistor 1/10W 470K Q +5% 0603 R2,R3,R4,R5

| | 0045 MCO01371 |top cover TS212 1.5t%19.5%95.6%163_V1.0

11 1 “0001 [MJ00069 |iron board 1.5%2135%1220 30.67kg

| | 0046 MG00269 [screw-RS M3*6 fix the top cover

I F0020 NI00218 _|cable tie ALT-102SB

| 0021 HA05997 |header wiring 2P UL1007 18AWG

| 0022 NDO01444 |EV foam 0.5t%650%*3mm_V1.0 stick to the sealed box
| 0023 NI02527  |knob-RS ¢ 14*13mm_V1.3

| 0024 MAI11188 [panel TS212S ALTO CHINA_V1.1

| 1 -0001 MAI11187 [panel TS 212 SUB 2t%235%268

I 1 1 }0001 [AE00055 [solvent solvent

| | 1 }0002  |AE00201 |. 5041

| 11 0003 [MA11186 [panel TS 212 SUB 2t*%235%268_V1.1

I | | 1 0001 [ME00001 [screw pillar-RS M4*10%0.7PH_V1.0

I | |1 [0002[ME00319 |iron pillar-RS-CT 6.35*M3%26.5_V1.0

I 11 | }0003|ME00038 |iron pillar 6.35*M3*8.4_V1.3

1111 0004 [MJO1580 |single light board-RS 2.0t*1850*1250mm 36kg

| 10025 NIO7837 |fixed bracket TS 212 SUB 81*187.5%24.5_V1.0

| 0026 HA06363 |header wiring 7P-7P 200mm UL1007 26AWG

| 0027 NC04781  |Insulator ¢ 7.5_ES503_DB stick to AC Jack
}-0022 NF04684  |user manual TS2 SUB ALTO_V1.0

| 10001 NH00231 |paper 889%554mm

}-0023 NE27156 |lable TS212SXUS_V1.0 pasted on the two sides of carton*2
| }-0001 NI00018  [membrane 0.0651M

110002 NH00035 |bond paper 0.06*1M

}-0024 NDO1485  [sponge 1t%15%13.7 black_V1.0 pasted on the LED support*1
}-0025 NI00218  |cable tie ALT-102SB fix the speaker cable*1,LED wire*1
10026 NB08874 |carton TS212S ALTO_V1.0

}-0027 NE27159 |lable TS212S_V1.0 stick to the right corner of grille
10028 NI07857 [3M VHB 11%31.3%26.4 (3M 4952)_V1.0 stick to the back*2
10029 NIO7836  |mark TS 212 SUB 30.35%11.03%90.22_V1.0

10030 MD02087 _|iron net TS212SUB 1.2t%64.8%426.9%411_V1.0

0031 HA06368 |wire 4P 280mm UL1007 18AWG

| }-0001 HA06369 |wire 4P 280mm UL1007 18AWG

110002 (CN00283  |high frequency magnetism encircle-RS @ 1616 (742700752)/WURTH ELEKTRONIK

{0032 NE26801  [label NUMARK SERIES_V1.0 pasted to the PE bags
| 0001 NI02598  |membrane 125mm

110002 NI00068  |Scotch tape 0.16%¥1M

0033 NE21518 |[label APX2000/3000_V1.1 pasted to the powercon




Rank Part No Description Specification Insert Location Remark

PC03013 PC03013  [SPEAKER TS212S_ALTO_230V_CHINA_(NUMARK)

10001 NC05053 [box TS212S_V1.1

| 0001 NI02426 _ |foot cushion *15.5mm PGHA1022ZA/1_P_A

| 0002 MI02042  [handle-RS 3.5%63mm _V1.0

| 0003 MEQ0082 [nut-RS 15*0.8PH*10.6_V1.2 Lock the woofer

| 0004 MEQ0083 [nut 1.OPH*11.6_V1.2 Lock the pole mount

| 0005 MEQ0085 _[nut M4*0.7PH*9.3_V1.2 Lock the handles on two sides
| 0006 MG00034 |screw M4*16 Lock the handle*12

| 0007 MG00338 [screw-RS M4*30mm Lock the handle*8

| 0008 MG00670 |SCREW-RS M6*40 Lock the pole mount*4
| 0009 ND00242 [EV foam 43*47.5%]1.5mm stick to the handles on two sides
| _Foo10 ND00634 [EV foam--RS 2.0t*300*15mm_black_V1.0 stick to the pole mount
|_Foo11 ND00635 [EV foam--RS 2.0t*700*15mm_black_V1.0 stick to the handles

| _Fo012 MGO0751 [screw-RS M4*20MM lock the feet*4

| 0013 MH01704 [handle-RS ELVIS ¢ 110%96_V1.3

| o014 NH00782 [Tube TS212S ¢ 100* ¢ 0! used for the cabinet*2
|_F0015 NC05057 _[top cover TS 2128 505.1%450*15mm_V1.0

| | 0001 NC03656 _[Plywood-RS-CARB 2440*1220*15t

| _Foo16 NC05058 _|chassis TS 2128 505.1%450*15mm_V1.0

| | 0001 NC03656 _[Plywood-RS-CARB 2440*1220*15t

| 0017 NC05059 _|side cover board TS 2128 449.3%419%15mm left_V1.0

| | 0001 NC03656 _[Plywood-RS-CARB 2440*1220*15t

| _Fo018 NC05060 |side cover board TS 2128 449.3%419%15mm right_V1.0

| | -0001 NC03656 _[Plywood-RS-CARB 2440*1220*15t

| 0019 NC05061 _|front board TS 2128 429*419*18mm_V1.0

| | 0001 NC03657 _|Plywood-RS-CARB 2440*1220*18t

| 0020 NC05062 |rear board TS 2128 419*337.5%18mm_V1.0

| | -0001 NC03657 _|Plywood-RS-CARB 2440*1220*18t

| o021 NC05063 [rear board TS 2128 277.5%310.5%¥18mm_V1.0

| | 0001 NC03657 _|Plywood-RS-CARB 2440*1220*18t

| 0022 NC05064 _[barrier TS 2128 398*110%15mm_V1.0

| | -0001 NC03656 _[Plywood-RS-CARB 2440*1220*15t

| 0023 NC05065 _[billet TS 2128 408.5%63.5%15mm_V1.0

| | -0001 NC03656 _[Plywood-RS-CARB 2440*1220*15t

| 0024 AE00684 _ [Paint LTS-6072 25KG/Pail

| 0025 AE00686 _[Paint LTS-6071B 10KG/Pail

| 0026 AE00687 _[Paint DTS-1202-1 20KG/Pail

| 0027 AE00688 _[Paint DTS-1021A-1 20KG/Pail

| 0028 AE00689 _ [Paint DTS-1021B 10KG/Pail

| 0029 AE00692  [Paint PU-010-4 170KG/Pail

| 0030 AE00693  [Paint MTS-2209 20KG/Pail

| 0031 AE00694  [Paint LTS-6070B-1 10KG/Pail

| -0032 NDO01550 [Absorb sound sponge-RS TS212S 800*350*30t 500g/mUL_V1.0

10002 HK18344 [speaker 12inch 600W 8 Q(TS212S)

| 0001 NH00243 _|cushion-RS ¢ 315%284.4*8 EVA+ 8_V1.1

| 0002 NH00715 _[caushion-RS ¢ 152*138%20_V1.0

| -0003 ND00525 _|dust-proof shade-RS ¢ 116%24_V1.0

| 0004 MH01986 [magnet-RS ¢ 180%95%20 Y30_V1.0

| 0005 MHO1110 _[rivet MO0500A_OU-30

| 0006 MG00263 |screw M5*8 Lock the washer and bracket*6
| 0007 HC00426 _[terminal-RS MO021B_PT2.1_V1.0

| | 0001 HC00496 _ [connect terminal

| | 0002 HC00495 _ [connect terminal

| | 0003 NI02583  [terminal block 3.5%24.5%3t

| 0008 HA04554 _|line-RS TA2I7Y18H2KA33/42WB*2*180mm

| | 0001 HA04553 _[line-RS TA2I7Y18H2KA33/42WB*IM

| 0009 NDO01346 _ [spider-RS ¢ 150*76*4 N-1500 0.3/100g TCY:D-1500H

| _Foo10 MH02767 |T type middle pillar ¢ 165%74.25%31.5*8 ¢ 30

|_Foo11 MH02465 _|iron coil-RS ¢ 175%78.5%10 P:120 TL:W175-49_V1.0

| _Fo012 NE27053 _ [label HK18344_V1.0

| | 0001 NIO0015  [membrane 0.04*1IM

| | -0002 NH00012 [bond paper 0.04*IM

| 0013 NDO01380 _|wind-proof sponge-RS ¢ 34%30H 20"_V1.0

| o014 MI06470 _ [bracke ¢ 318*81%91.7 P:120 YD300-07M1-H2

| 0015 NH00785 [cone ¢ 302* ¢ 76.5%59.5 YL:NCHL12150-3B/B

| _-0016 HG00595 | voice coil TIL/AL ¢ 74.88%56*5.2Q2%0.27 22.2 EI

10003 NIO7833  [net TS212S 5t*407*476.2_V1.0 stick to the back of grille*1
10004 HA06358  [wire 550mm UL1015 18AWG+Capacitance speaker wire* 1

| 0001 CF00245  [metal-film capacitor-RS 0.0022uF/400V 5% ESK400D22JA

| -0002 HA06357 _|wire 550mm UL1015 18AWG

10005 ND00665 [EV foam-RS 950%15*2.0mm black_V1.0 stick to the AMP
10006 ND00633 [EV foam--RS 1.0t*1500%15mm black_V1.0 pasted on the two sides of grille
10007 ND00374 [EV foam 2.0t*948*18mm black_V1.0 pasted on the woofer
10008 MGO1030_[Screw-RS M3#20 lock the grille*8
0009 MGO0350 [screw-RS M5*30 lock the woofer*8
0010 MGO0351 [screw-RS M4*16 fix the amp and cabinet*8
0011 HA00861  [power cord Europe 3P LT-312+LT-501

0012 HK17710 [PC board P-TS212 Logo LED-DIP to fix the logo

| 0001 HK17709 [PC board P-TS210 LED--SMD

| | 0001 HB04153 [PCB-RS TS212 LOGO LED (4*8)_VER150908

| | 0002 SE00270 [SMD L.E.D blue MS-PTB414SUBC LEDI

| | 0003 AE00553 _[SenJu solder paste M705-GRN360-K2-V 0.5KG/bottle

| 0002 HC00253  [connector(male) 2P 2.0mm 180 CN1

| 0003 AC00603  [lead free soldering bar S100

0013 NI07597  |LED lens TS212 16.69%10.32*8.15_V1.1

0014 HA04308 [header wiring 2P-2P 700mm UL1007 26AWG red/white connect the LED of logo
0015 NAQ0885 _[PE bag-RS 0.03t¥1200*1050mm 12 PGPP1036ZA/J1_P_C pack the speaker
0016 NAQO8S8  [PE bag-RS 0.04t%240%160mm_V1.0 pack the user manual and guarantee
0017 NAQ1717 [sponge barrier TS212S_V1.0

0018 NE27061 [label TS212S_V1.0 Inside and outside*1 , carton *1, user manual*1
0019 NE27069 _[label TS212S_V1.0 speaker*1




| 0001 NIO00IS  |membrane 0.04*1M

| -0002 NHO00012 |bond paper 0.04*1M

10020 NF03534 |assurance card-RS ALTO PROFESSIONAL_V2.0

10021 HK18377 _|Faceplate TS212S_ ALTO_220-240V_CHINA_(NUMARK) fixed to the back of the cabinet

| 0001 HAOQ1271 [signle terminal wiring 60 (PC250,PC187) SW TO AC Jack

| 0002 HA01287 |wire-RS 60mm UL1015 18AWG blue SW TO AC Jack

| -0003 HAO3186 |wire 100mm UL1015 14AWG GND

| 0004 HAO4141 |wire 100mm UL1015 18AWG blue AC SW to AC Jack

| -0005 HA04143 |wire 100mm UL1015 18AWG brown ~ SW to AC Jack

|_-0006 HC00331 |AC socket RF-2004

|_-0007 HDO00013 | glass tube fuse 3.15A 250V ¢ 5*20mm CSA/S/UL/VDE

|_-0008 HI00475  |power switch-RS 2%2P RF-1003-BBASE2XI1T

| 0009 MEQ0016 _|color nut 4m/m GND

| _Foo10 MF00014 | washer ¢ 3* 0 6.5%0.5t AMP*6

|_Foo11 MF00038 _[washer-RS Q4% @ THIt GND

| _Fo012 MF00048 | washer-RS @ 4% @ 8%0.5t GND

| 0013 MG00061 |screw-RS M3*10C i CE) MIC*3, sealed box*16

| o014 MG00162 |screw M3*8 AMP*6

| 0015 MG00163  [screw fix the soldering tag*1, PRE GND*1

I_F0016 NIOI862 [key

|_0017 NI06123  |key

| _F0018 HK18336 |PC board P-TS212 SUB-PRE-DIP

| | 0001 SA00051 |L.E.D ¢ 3 orange,green 28/30/32mm DL5

| 1 H0002 SA00052 [L.ED ¢ 3 round(green)long foot 26 DL1.DL2

| 1 0003 SA00053 [L.ED ¢ 3 round(red)long foot 26mm DLA

I 10004 SA00054 |LED 3m/m round(yellow)long foot 26 DL3

| | 0005 HC00253 _[connector(male) 2P 2.0mm 180" CN4

| 1 H0006 HC00258  [connector(male) 7P 2.0mm 180° CN3

| | 0007 HC00392 [balance MIC jack-RS JY-5030-030G 180° JKLJK2

| | 0008 HC01212 |balance MIC jack-RS K6X01V-6-3A

I 10009 HI0O0162 |push-button switch 2 paragraphs 6p PS-22E8552L,

I 1 0010 HI00163 |push-button switch 2 stage 12P PS-42E85

| | 0011 NI02532  |LED spacer support LEDS-22 22mm

| | 0012 RC01034 |Potentiometer-RS 30A103-Q1-FA265B120-10K L26.5FCx12 VRI

| 1 H0013 AC00603  [lead free soldering bar S100

| | -0014 HK18338 |PC board P-TS212 SUB-PRE-AL

o C1,C2,C3,06,C7,C35,C36,

I 11 0001 |CB00192 |electrolyti 10uF/16V ¢ 4*7Tmm C37.C38.C42.CT0

| | 110002 |CB00193 4TuF/16V_¢ 6*7Tmm C51,C52,C53

| | 110003 |CB00251 220UF/25V_¢ 8*11mm C103.C104

| | 110004 |CB00262 47TuF/16V NP _¢ 6.3%11mm C100

| | 1 10005 |HK18337 |PC board P-TS212 SUB-PRE-SMD
C8,C9,C10,C11,C12,C13,C

I 111 F0001|CI00051 |SMD ceramic capacitor 0603 22PF/S0V C0G5%(C1608COG1H220IT)/TDK (2}25?25 ?Zg 2‘2?(2“(;5?2}
,C34,C43,C44

| |11 F0002|CI00055  |SMD ceramic capacitor 0603 4TPF/S0V COGE5%(C1608C0OG1HA470IT)/TDK C54,C62

| | 11 F0003|CI00175  |SMD ceramic capacitor 0603 1.0uF/16V XTR*10%(C1608X7R1C105KT)/TDK C101

| | 11 F0004|CI00179  |SMD ceramic capacitor 0603 0.22uF/25V X7R*10%(C1608X7R1E224KT)/TDK C40,C41,C61,C80
C69,C71,C72,C73,C74,CT5
.C76.C77.C78,C81
3,084,C85,C86,C87,C:
89,£90,C91,£92,C93, C94

I 111 F0005|CI00185  |SMD ceramic capacitor 0603 0.1uF/S0V X7R*10%(C1608X7TR1H104KT)/TDK (95,C96,C111,C112,C113,
Cl114,C115,C116,C117,Cl
18.C119,C120,C121,C122,
C123,C124,C125,C126,C1
27,C128,C66,C98,L99

| | 1 1_F0006|CI00204 |SMD ceramic capacitor 0603 0.027uF/50V £10%(C1608X7R1H273KT)/TDK C63,C64

| |1 1_F0007|CI00206  |SMD ceramic capacitor 0603 0.047uF/50V £10%(C1608X 7R 1H473KT)/TDK C60

| |1 1 F0008|CI00209  |SMD ceramic capacitor 0603 0.082uF/50V +10%(C1608X 7R 1H823KT)/TDK C59

| |11 F0009|CI00211 |SMD ceramic capacitor 0603 0.15uF/25V X7R*10%(C1608X7R1E154KT)/TDK Cs5

| | 11 _F0010|CI00220  |SMD ceramic capacitor 0603 220PF/50V COG +5%(C1608C0G1H221JT)/TDK C65

| | 11 F0011|CI00224  |SMD ceramic capacitor 0603 470PF/50V COG +5%(C1608C0G1H471IT)/TDK C102

| |11 F0012|CI00330 |SMD ceramic capacitor-RS 0805 10uF/16V£10%(GRM21BB31C106K)/(MURATA) C4,.C5

| |11 _F0013|CI00349  |SMD ceramic capacitor 0805 4.7uF/25V X5R £10% C47,C48,C97

| | 1 | _F0014|CI00404 |SMD ceramic capacitor-RS-ACT 0603 0.47uF/16V (GRM188B31C474KA87D)/(Murata) C67.C68.C79

| | 1 1 F0015|CI00413  |SMD ceramic capacitor-RS 0.33uF/50V X7R £10% C49,C50

| | 1 1 F0016|CO00168 |SMD inductance-RS-ACT 1000Q+25%(BLM18RK102SN1D) L1,L2.L3L4R135) R]%

| 111 10017|RD000S9_[SMD fixed resistor 1/10W 000 £5% 0603 OTITRITIRIIZTY

| | 1 I F0018|RD00075 |SMD fixed resistor 1/10W 30092 +5% 0603 R44.R45,.R46.R47

| |1 1 F0019|RD00135 |SMD fixed resistor 1/4W 330Q 5% 1206 R134

| |1 I_F0020|RD00201 |SMD precise resistor 1/10W 1.50KQ £1% 0603 R32

| |11 F0021|RD00203 |SMD precise resistor 1/10W 200KQ + R81.R82,R83.R84

| |11 F0022|RD00209 |SMD precise resistor 1/10W 4.99KQ * R38,R39,R90,R96,R98

| | 1 I F0023|RD00204 |SMD precise resistor 1/10W 249K Q £1% 0603 R97

| | 11 F0024|RD00210 |SMD precise resistor 1/10W 5.11KQ *1% 0603 RII4RI115
RI,R2.R3,R4,R5,R8,R9,R3
6.R37.R40.R41,R42.R43 R
102.R103,R104,R105,R106

I 111 F0025|RD00214 |SMD precise resistor 1/10W 10.0KQ £1% 0603 RIORILRTSR76.R16.R1
7.R19,R130,R57,R59,R60,
R61,R62,R63,R64,R65,R66
.R67,R86,R87,R88,R89

| | 11 F0026|RD00215 |SMD precise resistor 1/10W RI21,RI37,R138

| |11 _F0027|RD00216 |SMD precise resistor 1/10W R94

| | 1 I F0028|RD00219 |SMD precise resistor 1/10W 204 ()kQ +1% 0603 RI07.R108R6.R7

| | 11 F0029|RD00272 |SMD precise resistor 1/10W 10.0Q +1% 0603 R85

| | 11 F0030|RD00282 |SMD precise resistor 1/10W 1.00KQ £1% 0603 RI1I8R133

| | 1 1 F0031|RD00286 |SMD precise resistor 1/10W 4.53KQ 1% 0603 R72

| | 1 | F0032|RD00289 |SMD precise resistor 1/10W 8.06KQ *1% 0603 RI2,RI3

| |11 F0033|RD00290 |SMD pr resistor 1/10W 47.5KQ 1% 0603 R48,R49,R50,R51

| | 1 1 F0034|RD00293 |SMD precise resistor 1/10W 17.4KQ %1% 0603 R109

| | 1 I F0035|RD00328 |SMD precise resistor 1/10W 8.60KQ +1% 0603 RI110




| | 1 1 F0036|RD00330 |SMD precise resistor 1/10W 39.0KQ *1% 0603 RI129

| | 1| F0037|RD00334 |SMD precise resistor 1/10W 11.0KQ £1% 0603 RI120

I 111 F0038|RD00339 |SMD precise resistor 1/10W 47.0KQ 1% 0603 1232()12:1];2;4;121112365}228

| | 1 | F0039|RD00344 |SMD precise resistor 1/10W 11.5KQ £1% 0603 R117

| |1 I F0040|RD00363 |SMD precise resistor 1/10W 3.16KQ *1% 0603 R52

| | 1 |_F0041|RD00367 |SMD precise resistor 1/10W 15.4KQ %1% 0603 RI122

| | 1 | [0042|RD00368 |SMD precise resistor 1/10W 16.5KQ £1% 0603 R71

| | 1 | F0043|RD00371 |SMD precise resistor 1/10W S RS3

| |1 10044 |RD00386 resistor 1/10W 4.75KQ 1% 0603 RSS

| |1 I F0045|RD0041S resistor 1/10W 4.70KQ 1% 0603 RI125,R126,R131

| | 1 |_F0046|RD00457 |SMD precise resistor 1/10W 150K Q +1% 0603 R101

| | 1 | [0047|RD00544 |SMD precise resistance 1/10W 22Q%1% 0603 R127

| |1 I F0048|RD0054S resistance 1/10W 49.9Q+1% 0603 R99,R100

| |1 I_F0049|RD00550 resistor 1/10W 27.0KQ *1% 0603 R132

| |1 I _F0050|RD0069S |SMD precise resistor-RS 3.24K Q%1% 0603 R80

| | 1 I _F0051|RD00709 |SMD precise resistor-RS 1.37K Q1% 0603 RI128

| |1 I F0052|RD00721 resistor-RS 1/10W 22.1KQ *1% 0603 RI124

| |11 F0053|RD00750 resistor-RS 1/10W 11.3KQ+19% 0603 R54

| |1 I F0054|RD00859 |SMD fixed resistor-RS 1/10W 9.09KQ *1% 0603 R116

| | 1 | F0055|RD00891 |SMD fixed resistor-RS 1/10W 845K Q *1% 0603 RIS

| | 1 I F0056|RD00894 |SMD fixed resistor-RS 1/10W 46.4KQ 1% 0603 R20,R27

| | 1 I_F0057|RD00907 |SMD precise resistor 1/10W 26.7KQ £1% 0603 R79

| | 1 1_F0058|RD00913 |fixed resistor-RS 1/10W 143KQ +1% 0603 R56

| | 1 I F0059|RD00928 |SMD precise resistor 1/10W 22.0KQ +1%0603 R123

| | 1 I_F0060|RD00959 |SMD precise resistor 1/10W 16.90K Q£1% 0603 R93

| |1 I_F0061|RD00967 |SMD resistance 1/8W 6.98KQ £1% 0805 RI4,R15

| | 1 1 F0062|RD01038 |SMD fixed resistor-RS 1/10W 40.2KQ 1% 0603 R21,R29

| | 1 I F0063|RDO111S |SMD precise resistor 1/16W 3.0KQ £1% 0603 R113

| | 1 I 0064 |SE00155 |SMD Schottky barrier diode-RS-ACT, BAT 64-04(SOT-23)/(INFINEON) DI

| | 1 I_F0065|SE00177 |SMD rectifier diode-RS 0.5A LL4148(SOD-80)/(VISHAY) D2,D3,D4

| |1 I F0066|SF00038 _|transistor RK7002(ROHM) TRI

| |1 I F0067|SF00053 _|transistor MMBT3906(SOT23)/(PHI) TR2

| |11 0068|SG00033 |SMD integrated circuit LM358DT(SO8)/ST) Ul8
UL,U2,U3,U U7,u

I 111 F0069|SG00122  |SMD integrated circuit-RS-ACT NIM4580M-TE3(DMP8 )/(JRC) 8,UI0,UILUI2UISUI6U
9.U13.U19

| | 11 F0070|SG00194 |SMD integrated circuit NIM13600M-TE1(DMP16)/(JRC) Ul4

| |11 F0071|SG00306 |SMD integrated circuit LM393DR(TD/(MEXICO) U17,U20

| |1 I_F0072|AE00553 |Senlu solder paste M705-GRN360-K2-V 0.5KG/bottle

I 111 F0073|SE00243 |SMD zener diode-RS 1/2W 12V MMSZ5242A(SOD123)/PANIIT ZDl'ZPQ'ZP3'ZD4'ZDS’Z
D6,ZD7,ZD8

| |1 I F0074|HB04398 |PCB TS2 SUB PRE(1*2)_VER160525

| |1 1I_F0075|RD00420 |SMD precise resistor 1/10W 19.1KQ 1% 0602 R77

| |11 “0076|RD00224 |SMD precise resistor 1/10W 100KQ +1% 0603 R78

| | 1 10006 |CF00292 |metal-film capacitor-RS 0.27uF/100V 5% CASEO1 Cs8

|11 10007 |CF00183 |metal-film capacitor MSC 0.1uF/100V 5% CASEO1 ?;)?;1?2;‘17;} 8C1

| | 1 10008 |CF00155 |metal-film capacitor MSC 0.22uF/63V 5% CASE02 C39

| 11 0009 [CB00038 |electrolytic capacitor 4TuF/16V ¢ 5*Tmm RS8

| _F0019 HK18332 [PC board P-DM 300W+300W_DIP

| 1 0001 RA00031 _|metal-oxide-film resistor 2W 10Q P type R41,R42

I 10002 RA00051 | metal-oxide-film resistor 2W 5.6Q R65,R66

I 10003 NI00268 [sleeve ¢ 6*20mm PGNS1008ZA/T1_P_C R40

| 110001 |NI0266 |sleeve ¢ 6¥1000mm

| | 0004 MG00162 [screw M3*8 AMP*9

| | 0005 MGO0566 _[screw M3#10%0.5PH_V1.0 IC*2+shrapnel*9

| 1 H0006 HCO00088  [connector(male) 2P 3.9mm 180°(#3921) J3

| | 0007 HC00174 _[connector(male) 4P 3.96mm 180" 15

| | 0008 HC00258 _[connector(male) 7P 2.0mm 180" 14 inser near L16

| | 0009 HA01933  [jump 2.5mm BRI

| 1 H0010 HC00324  [connect terminal 6.5m/m (PC250) J1,J2

| 1 0011 CB00151  [electrolytic capacitor 220uF/63V ¢ 10*16mm C98,C99

| | 0012 CN00069 _[inductance-EMI SUPPRESSOR-RS-ACT TB36-13-850485 L1L2L5LI12

| | 0013 CG00023  [X1/Y1 capacitor 0.0022uF/250VAC YSU C6,C7,C8,CI0.C11

| | 0014 MKO00103 [spring piece 0.5t%22.67%6.5%42.5_V1.0 Lock MOS TUBE

| | H0015 CB00295  [electrolytic capacitor 820uF/180V ¢ 25%35 C13,C14

| | 0016 NI04253  [sleeve-RS ¢ 28*50M T-2 MK00103

| | 0017 SD00317 _|integrated circuit NIM7912FA(TO220F)/(JRC) 02

| | 0018 MEQ0226 [screw-RS M3*0.5PH IC*2+shrapnel*9

| | 0019 SA00316  [bridge rectifier-RS 8A GBU-8K/(PANIIT) DI2

|1 F0020 NCO1179  [insulator spacer-RS 0.13t*40mm*5Smm(HI-FLOW-625) stick on Q1, Q5

| 1 H0021 CB00335  [electrolytic capacitor-RS 1000uF/16V ¢ 8*20mm 89,090

|1 H0022 RA01063  |metal-oxide-film resistor 3W 0.1Q 2% P type R40

| | 0023 RHO00033 _[thermistor-RS-CT 5Q B572355-0509MO00/(EPCOS) R6

| | 0024 SD00380 _ [integrated circuit-RS NIM7812FA(TO220F)/(JRC) Ul

| | H0025 AC00603  [lead free soldering bar S100

| | 0026 SB00284 _|transistor-RS IRFB4020PBF(TO220AB)/(IR) Q6,Q7,Q8,Q9

| | 0027 NC04098 |insulator spacer-RS 0.13t*27.5*40mm(HI-FLOW-625) stick on Q6, Q7/Q8, Q9

| 1 H0028 NDO1210  [cushion-RS 8t*45%10mm(E-4382) stick on C13/C14

| | 0029 CB00436__[electroly 1000uF/63V LSR ¢ 16¥25mm C28,C31,C32,C64

| | 0030 CF00277 _ [metal-film capac 0.22uF/100V C242A224K2SC000/(Fara) C52,C53

| 1 H0031 CB00438  [electrolytic capacitor-RS 470uF/25V LSR ¢ 8*20mm C1,C2

| 1 H0032 CF00284  [metal-film capacitor-RS 0.1uF/630V C822J104J60C000/(Fara) C26

| | 0033 RH00037 _[thermistor-RS-ACT 330Q PTFL04BG222Q2N34B0/(MURATA) PR200

| | 0034 CF00279  [metal-film capacitor-RS 1.0uF/250V C322E105160C000/(Fara) C50,C51

| | 0035 SB00369 _|Transistor-RS FDPI8N50(T0220)/FAIRCHILD QL,Q5

| | 0036 CN00359 |inductance 5.0mH ¢ 0.7#30T L34

| | 0037 CG00126 X2 capacitor-RS 0.33uF/275V +10%(C42P2334K6SCO00)(FARA) C9,C12

I 1 0038 'TCO0585 | Transistor PT-DM 350W+175W(ER35)_230V Tl

| | 0039 NI07555 [insulator TT12 0.5t*95%93_V1.0

| |1 0001 |NIO4630 |film-RS-CT 450%605%0.5mm 0.184kg_V1.0




| | 0040 CG00130 |X2 capacitor 0.47uF/305V 20%(C42Q2474M6HCO00)(FARA) Cs

| | 0041 HAO01919 |jump Smm PRI,R110

| || -0001 |HA02249 |wire ©0.6_H55

| | 0042 MI06323  |heat-shassis TS212 2t%40%100*206_V1.2

| | | 0001 |ME00221 |iron pillar M3*8*0.5PH_V1.1

| | | 20002 [MJO00S5S |AL plate-RS 2*2000*1000 10.88kg

| | 0043 CN00372 _|Inductance 22uH T94-2 L8,L9

| | 0044 HK18335 |PC board P-DM 300W+300W_AI

| 11 H0001 [CB00112 |electrolytic capacitor 10uF/35V 105°C ¢ 4*7mm 2.5mm C95

| | | 0002 |CF00183 |metal-film capacitor MSC 0.1uF/100V 5% CASEOL C79,C80

| | | 0003 |CBOOIS8 |electr 10uF/63V_¢ 5*11mm 2.5mm C31

| 11 0004 [CB00034 |electrolytic capacitor 33uF/16V ¢ 5%11mm 2.5mm (83,C84

| | | 0005 |CC00074 |mylar capacitor-RS-ACT 0.01uF/100V 3% C27

| | | 0006 |CA00131 |ceramic capacitor-RS 0.01uF/1000V Z5U C15,C16,C25

| | | 0007 |CB00409 |electroly itor-RS 22uF/16V 105C_¢ 5*11mm C45,C46

| | 1 0008 |CB00469 |electrolytic capacitor-RS 100uF/16V LSR 105°C ¢ 5*11mm (34,C35,C38,C3,C4

| || -0009 |HKI8333 |PC board P-DM 300W+300W_SMD

| | | I F0001|SF00083 |transistor MMBTSSSILTIG(SOT23)/(ON) Q4

| | | | F0002|RD00298 |SMD precise resistor 1/10W 47.0Q +1% 0603 R23

| | I | F0003|SE00012 |SMD rectifier diode-RS BAVI03(PHI) D15,D16,D22,D23

| | I | F0004[SG00122 |SMD integrated circuit-RS-ACT NIM4580M-TE3(DMP8 )/(JRC) Us

| | I I F0005|SE00054 [SMD LE.D yellow 19-21UYC/S530-A2/TR8 DS1,DS2

| | | | F0006|RD00327 |SMD precise resistor 1/10W 8.20KQ £1% 0603 R75.R76

| | I I F0007|RD00355 |SMD fixed resistor 1/10W 4.7Q +5% 0603 R79,R80

|1 11 FO008|RD00214 |SMD precise resistor 1/10W 10.0KQ 1% 0603 5};22324’]?25’]259']{60'}“0
| | I 1 FO0009|RD00059 |SMD fixed resistor 1/10W 0.0Q £5% 0603 R109

| | I | FO010|RD00209 [SMD precise resistor 1/10W 4.99KQ 1% 0603 R73,R74

| | | | FO0011|RD00224 |SMD precise resistor 1/10W 100K Q 1% 0603 R9,R12,R13,R14,R26,R27
| | | | FOO012|RD00460 |SMD precise resistor 1/10W 560 £1% 0603 R64

| | I | FOO013|RD00466 |SMD precise resistor 1/4W 2.0KQ *1% 1206 R35,R36,R102,R103

| | I | FO0014|RD00255 |SMD precise resistor 1/4W 100K Q 1% 1206 R7,R8

| | I | FO0015|RD00506 |SMD precise resistor 1/10W 3.30KQ £1% 0603 R77.R78,C72

| | I | FO016|RD00S12 |SMD precise resistor 1/10W 180K Q2 1% 0603 R92

| | I | FO0017|RD00219 |SMD precise resistor 1/10W 20.0KQ £1% 0603 R71,R72

| | I | FOO0I8|RD00399 |SMD precise resistor 1/4W 10.0KQ 1% 1206 R57.RS8

| | | | FO019|RD00282 |SMD precise resistor 1/10W 1.00K Q 1% 0603 R21,R39,R63,R91

|1 11 F0020|RD00272 |SMD precise resistor 1/10W 10.0Q 1% 0603 ]?65814??11:;%13];{‘324}%7
| | | | F0021|RD00274 |SMD precise resistor 1/10W 100Q 1% 0603 R69,R70

| | | | F0022|RD00414 |SMD precise resistor 1/10W 3.90KQ £1% 0603 R28,R22

| | | | F0023|RD00385 |SMD precise resistor 1/10W 3.01KQ £1% 0603 R47,R48

| | | | F0024|RD00415 |SMD precise resistor 1/10W 4.70KQ 1% 0603 R85,R86

| | I | F0025|RD00400 |SMD fixed resistor 1/4W 220Q +5% 1206 R1,R17

| | | | F0026|RD00525 |SMD precise resistor 1/10W 33.0KQ £1% 0603 R55,R56

| | I | F0027|RD00303 |SMD precise resistor 1/10W 57.6KQ £1% 0603 R33,R34

| | | | F0028|RD00200 |SMD pr resistor 1/10W 150Q 1% 0603 R46

| 11 1 F0029|CI00096 |SMD ceramic capacitor 0603 S60PF/S0V NPO £5% C20

| | I 1 F0030|CI00145 |SMD ceramic capacitor 0805 0.0015uF/50V X7R £10% C€60,C61,C62,063,C67,C68
| | I | F0031|CI00154 |SMD ceramic capacitor 1206 0.1uF/100V X7R £10% C33,C69

I 111 F0032|CI00185  |SMD ceramic capacitor 0603 0.1uF/50V X7R*10%(C1608X7R1H104KT)/TDK gﬁ%ﬁ;;(g@,;zl(glgcgz
| | I 1 F0033|CI00179  |SMD ceramic capacitor 0603 0.22uF/25V X7R*10%(C1608X7R1E224KT)/TDK C44

|11 1 F0034|CI00195  |SMD ceramic capacitor 1206 4.7uF/25V Y5V (GRM31CBI11E475ZA01D) ?85726}2%?;22721C83C86
| | I | F0035|CI00206 |SMD ceramic capacitor 0603 0.047uF/50V £10%(C1608X7R1H473KT)/TDK C18,C49

| | I | F0036|CI00201 |SMD ceramic capacitor 0603 0.01uF/50V £10%(C1608X7R 1H103KT)/TDK C58,C59

| | I I F0037|CI00051 |SMD ceramic capacitor 0603 22PF/50V C0GE5%(C1608C0G1H220IT)/TDK C43

| | I | F0038|CI00220 [SMD ceramic capacitor 0603 220PF/50V COG +5%(C1608C0G1H221JT)/TDK C€39,C42

| | I | F0039|SF00082 |transistor-RS-ACT MMBTS401LTIG(SOT23)/(ON) Q3

| | I | F0040|RD00S41 resistance 1/10W 0Q+1% 0603 350W+175W
| |1 1I_F0041|RD00596 resistor-RS 1/4W 10.0Q +1% 1206 R37,R38,R96,R99

| 111 F0042|CI00269  |SMD ceramic capacitor-RS 1206 1.0uF/25V XT7R £10% C23,C41

| | I | F0043|SE00089 |SMD zener diode-RS 1/2W 5.1V(MMSZ5231B)(SOD-123)/(PANJIT) D5,D19

| | I | F0044|RD00636 |SMD precise resistor-RS 1/4W 47.0KQ +1% 1206 RI8,R52

| | I | F0045|SE00098 |SMD zener diode-RS-C 1W 15V DL4744A MELF/(ST) D14

| | I 1 F0046(SG00495 |SMD integrated circuit-RS IR2156SPBF(SO14)/(IR) U3

| 1 I 1 F0047|CI00279  |SMD ceramic capacitor-RS 1206 0.0022uF/200Vx7R+10% R9%4

| | I | F0048|CI00306 |SMDceramic capacitor-RS 1.0uF/25V XTR £10% C21,C22

| | I | F0049|AE00553 |SenJu solder paste M705-GRN360-K2-V 0.5KG/bottle

| | I | F0050|RD00697 |SMD precise resistor-RS 390.0Q+£1% 0603 RS1

| | I | F0051|SE00133 |SMD zener diode-RS 225mW 12V BZX84C12LT1G(SOT23) DI8

| | | | F0052|SE00134 |SMD rectifier diode-RS-ACT 1A 600V MURS160T3G (SMB)/(ON) D13

| | I | F0053|SG00667 |SMD integrated circuit-RS IRS2092S(SOIC16N)/IR) U7,U8

| | I | F0054|CI00328 |SMD ceramic capacitor-RS 1206 150PE/630V COG +5%(C3216C0G2J1511)/TDK C47,C48

| | I | F0055|SE00149 |SMD double-direct triy diode-RS 1A/30V RB160M-30(ROHM) D3,D4

| | I | F0056|RD008I8 |SMD fixed resistor 2W 2.2KQ 5% 2512 R43,R44

| | I | F0057|RD00800 |SMD precise resistor 1/8W 10.0Q 1% 0805 R112,R113,R114,R115

| | I | F0058{SG00729 |SMD integrated circuit-RS-ACT MC78M12CDTRKG(DPAK-3)/(ON) U4

| | I | F0059|SE00156 |SMD diode-RS-ACT 1A/200V ESID(SMA)/(FAIRCHILD) D1,D2,D020,D21,D28

I 111 F0060|CI00356  |SMD ceramic capacitor 1206 0.1uF/250V X7R *10%(GRM31CR72E104KW03L) C;zgzig;;iz:grgf‘m
|11 1 F0061|SE00161 |SMD diode-RS 2A/200V ER2D 35nS(DO214AA)/(PANIIT) EZD()??;(;E} D32,033,D3
|11 1 F0062|CO00168 |SMD inductance-RS-ACT 1000Q£25%(BLM18RK102SN1D) é?jl_;;:ll?yu LLI4ALISLL
| | I | F0063|CI00366 |SMD ceramic capacitor 0805 220PF/250V COG 5% C100,C101,C102,C103

| | I | F0064|CI00387 |SMD ceramic capacitor-RS 0.0022uF/250V X7R £10% C54,C55

| |1 1_F0065[SE00177 _[SMD rectifier diode-RS 0.5A LLA148(SOD-80)/(VISHAY) DIODTLDZ.D5, D200

| | I | F0066|SE00189 |SMD diode-RS-ACT 8A/200V STTH802B-TR (DPAK)/(ST) BDI1,BD2,BD3,BD4

| | I | F0067|RD00945 |SMD resistance 1/4W 1.0Q 1% 1206 R87,R88

| | | | F0068|RD00957 |SMD pr resistor 1/10W 4.3KQ 1% 0603 R31,R32

| | I | F0069|RD00293 |SMD precise resistor 1/10W 17.4KQ 1% 0603 R29




| | 1 I_F0070|RDO1001 |SMD precise resistance 1/10W 24KQ £1% 0603 R53R54

| |1 I F0071|HB04061 |PCB DM 400W+200W_VER150720

| |1 I F0072|SB00379 _|Photodiode LTV-817S-TAI-C(LITEON)/ U6

| | 1 1 “0073|RD00123 |SMD fixed resistor 1/10W 470K Q 5% 0603 R2,R3,R4.RS

| | 0045 MCO01371 |top cover TS212 1.5t%19.5%95.6*163_V1.0

| | 1-0001 |MJ00069 |iron board 1.5%2135%1220 30.67kg

| | 0046 MG00269_[screw-RS M3*6 fix the top cover

| 0020 NI00218 |cable tie ALT-102SB

| o021 NDO01444 [EV foam 0.5t%650*3mm_V1.0 pasted on the sealed box
| 0022 NI02527  [knob-RS ¢ 14%13mm_V1.3

| 0023 MAI1188 [panel TS212S ALTO CHINA_V1.1

| | 0001 MAT1187 [panel TS 212 SUB 2t*235%268

| | 110001 |AE00055 |solvent solvent

| | 110002 |AE00201 5041

| |1 0003 |MAI1186 |panel TS 212 SUB 2t*235%268_V1.1

| |1 1_F0001|ME00001 |screw pillar-RS M4*10*0.7PH_V1.0

| |1 I F0002|ME00319 _|iron pillar-RS-CT 6.35*M3*26.5_V1.0

| |11 F0003|ME00038 |iron pillar 3*8.4_V1.3

I |11 0004 |MJO1580 |single light board-RS 2.0t*1850%1250mm 36kg

| 0024 NI07837 _[fixed bracket TS 212 SUB 81¥187.5%24.5_V1.0

| 0025 HA06363 |header wiring 7P-7P 200mm UL1007 26AWG

| 0026 NC04781 _[Insulator ¢ 7.5_ES503_DB stick to AC Jack

0022 NF04684  [user manual TS2 SUB ALTO_V1.0

| -0001 NH00231 _[paper 889*554mm

10023 NDO01485 _[sponge 1t*15*%13.7 black_V1.0 pasted on the LED support*1
10024 NI00218 [cable tie ALT-102SB fix the speaker cable* 1.LED wire*1
10025 NBO08874 [carton TS212S ALTO_V1.0

10026 NE27159 [lable TS212S_V1.0 stick to the right corner of grille
0027 NI07857 [3M VHB 6.4 (3M 4952)_V1.0 stick to the back*2
10028 NIO7836  |mark TS 212 SUB 30.35%11.03%90.22_V1.0

0029 MD02087 _[iron net TS212SUB 1.2t%64.8%426.9%411_V1.0

10030 HA06368 |wire 4P 280mm UL1007 18AWG

| 0001 HA06369 |wire 4P 280mm UL1007 18AWG

| 0002 CN00283  [high frequency magnetism encircle-RS @ 1616 (742700752)/WURTH ELEKTRONIK

0031 NE26801 _[label NUMARK SERIES_V1.0 pasted to the PE bags

| 0001 NI02598  [membrane 125mm

| -0002 NIO0068 [Scotch tape 0.16*1M




Rank Part No  [Description Specification Insert Location Remark

PC03017 PC03017 |SPEAKER TS215S_ALTO_110V-120V_CHINA_(NUMARK)

0001 NC05054 |box

| -0001 NI02426 _[foot cushion

| 0002 MI02042 |handle-RS

| 0003 MEO00082 |nut-RS Lock the woofer

| 0004 ME00083 |nut Lock the pole mount

1 0005 MEO00085 |nut Lock the handles on two sides
| 0006 MG00034 |screw Lock the handle*12

1 0007 MGO00338 |screw-RS Lock the handle*8

1 0008 MG00670 |SCREW-RS Lock the pole mount*4
| 0009 ND00242 |EV foam stick to the handles on two sides
| 0010 ND00634 |EV foam--RS Smm black_V1.0 stick to the pole mount
| 0011 ND00635 |EV foam--RS 0*15mm black_V1.0 stick to the handles

| 0012 MGO0751 |screw-RS OMM lock the feet*4

| 0013 MHO01704 |handle-RS ELVIS ¢110%96_V1.3

| 0014 NHO00783 |Tube TS215S ¢ 120%* ¢ 128*378.1_V1.0 used for the cabinet*2
| 0015 NC05066 |top cover TS 2158 62 18mm_V1.0

| 10001 NC03657_|Plywood-RS-CARB 2440%1220*18t

| 0016 NC05067 _|chassis TS 2158 628*513.3%18mm_V1.0

| 10001 NC03657_|Plywood-RS-CARB 2440%1220*18t

| 0017 NC05068 |side cover board TS 2158 562.7%503*18mm left_V1.0

| 10001 NC03657_|Plywood-RS-CARB 2440%1220*18t

| 0018 NC05069 _|side cover board TS 2158 562.7%503*18mm right_V1.0

| 10001 NC03657_|Plywood-RS-CARB 2440%1220*18t

| 0019 NC05070 _|front board 6.5418mm_V1.0

| |_0001 NC03657_|Plywood-RS-CARB

| 0020 NC05071_|rear board 5.5%18mm_V1.0

| |_0001 NC03657_|Plywood-RS-CARB

| 0021 NC05063_|rear board TS 2128 277.5%310.5%18mm_V1.0

| 10001 NC03657_|Plywood-RS-CARB 8t

| 0022 NC05072_|barrier 00*15Smm_V1.0

| 10001 NC03656_|Plywood-RS-CARB St

| 0023 NC05073_|billet TS 2158 476. 3*15mm_V1.0

| 10001 NC03656_|Plywood-RS-CARB 2440%1220*15t

| H0024 AE00684 |Paint LTS-6072 25KG/Pail

| 0025 AE00686 | Paint LTS-6071B 10KG/Pail

| 0026 AE00687 |Paint DTS-1202-1 20KG/Pail

| 0027 AE00688 _|Paint DTS-1021A-1 20KG/Pail

| 0028 AE00689 _|Paint DTS-1021B 10KG/Pail

| 0029 AE00692 |Paint PU-010-4 170KG/Pail

| 0030 AE00693 _|Paint MTS-2209 20KG/Pail

| 0031 AE00694 | Paint LTS-6070B-1 10KG/Pail

10032 NDO01551 |Absorb sound sponge-RS TS215S 1050*450*30t 500g/niUL_V1.0

0002 HK18345 |speaker 15inch 600W 8Q(TS215S)

| -0001 NH00237 [cushion-RS k

| 0002 ND00525 _|dust-proof shade-RS

| 0003 MHO1986 [magnet-RS

| _-0004 MHOI1110 |rivet MO500A_OU-30

| 0005 MG00263 |screw MS5*8 Lock the washer and bracket*6
| H0006 HC00426 |terminal-RS MO021B_PT2.1_V1.0

1 | F0001 HC00496 [connect terminal

|| |0002 HC00495 |connect terminal

| | 0003 |NI02583 |terminal block

| 0007 HA04554 |line-RS

| 10001 HA04553 |line-RS TA2J7Y18H2KA33/42WB*IM

| {0008 NH00552 |cone-RS ¢ 370* ¢ 76.5%88 HX:1506_V1.1

| 0009 ND00991 |damper-RS

| 0010 MH02465 |iron coil-RS ¢ 175%78.5%10 P:120 TL:W175-49_V1.0

| 0011 NE27054 |label HK18345_V1.0

1 | F0001 NIO0015  [membrane

| 10002 NHO00012_|bond paper 0.04*IM

| 0012 ND00228 _|sponge S0720B_NYLON NET D45

| 0013 MI02745 _|holder-RS *81*112 P:90_VI.0

| 0014 MH02463 |T type middle pillar-RS S 0 TL:TD1757-03_V1.0

| L0015 HG00594 |voice coil TIL/AL ¢ 74.88*48%5.2Q2%0.27 22.2 EI

0003 NIO7834 |net TS2158 5t%544.7%487_V1.0 stick to the back of grille*1
0004 HA06358 |wire 550mm UL1015 18AWG-+Capacitance speaker wire*1

| -0001 CF00245 | metal-film capacitor-RS 0.0022uF/400V 5% ESK400D22JA

| -0002 HA06357 |wire 550mm ULI01S 18AWG

0005 NDO00665 |EV foam-RS 2.0mm black_V1.0 stick to the AMP
0006 ND00633 |EV foam--RS K 500%15mm black_V1.0 pasted on the two sides of grille
0007 ND00398 |EV foam SRS00A-SUB 1205.5%15%2_V1.0 pasted on the woofer
0008 MG01030 |Screw-RS § lock the grille*8
0009 MG00350 |screw-RS lock the woofer*8
0010 MGO0351 |screw-RS fix the amp and cabinet*8
0011 HAQ00841 |power cord(America 3P) LT-202+18A*3C(SVT) 6FT+LT-501

0012 HK17710 |PC board P-TS212 Logo LED-DIP to fix the logo

| -0001 HK17709 |PC board P-TS210 LED--SMD

| 10001 HB04153 |PCB-RS TS212 LOGO LED (4*8)_VER150908

|| |0002 SE00270 |SMD L.E.D blue MS-PTB414SUBC LEDI1

| 10003 AE00553 |SenJu solder paste M705-GRN360-K2-V 0.5KG/bottle

| 0002 HC00253 |connector(male) 2P 2.0mm 180° CNI

1 0003 AC00603 |lead free soldering bar S100

0013 NI07597 |LED lens TS212 16.69%10.32*8.15

0014 HA04308 |header wiring 2P-2P 700mm UL1007 26AWG red/white connect the LED of logo
0015 NA00904 |PE bag-RS 0.03t*11 300mm 12 hole pack the speaker
0016 NAQ0858 |PE bag-RS 0.04t*240*160mm_V1.0 pack the user manual and guarantee
0017 NAO1718 |sponge barrier TS215S_V1.0




0018 NE27062 |label TS215S_V1.0 Inside and outside*1 , carton *1, user manual*|

0019 NE27070_|label speaker*

| F0001 NI00015  |membrane

| 0002 NH00012 |bond paper

10020 NF03534 [assurance card-RS ALTO PROFESSIONAL_V2.0

Fo021 HK18375_|Faceplate TS2155_ ALTO_110-120V_CHINA_(NUMARK) fixed 1o the back of the cabinet

10001 HAO01271_|signle terminal wiring 60 (PC250,PC187) SW TO AC Jack

10002 HA01287 |wireRS 0mm ULI0IS 18AWG blue SW TO AC Jack

I 10003 HA3186 |wire 100mm UL1015 14AWG GND

| F0004 HA04141 [wire 100mm UL1015 18AWG blue AC SW to AC Jack

| 0005 HA04143 [wire 100mm UL1015 18AWG brown AC SW to AC Jack

I 10006 HC00331_|AC socket RF-2004

10007 HDOOOIS |olass tube fuse 6.3A 250V ¢ 5.2%20mm CCEE/CSA/S/UL/VDE

10008 HI00475_|power switch-RS 2P RF-1003-BBASE2XIT

10009 MEO0016_[color nut 4m/m GND

10010 ME00014_|washer AMP*6

I 0011 MF00038 RS GND

10012 ME00048_|washer-RS GND

| 0013 MGO00061 [screw-RS MI sealed box*16

I o014 MGO0162 [serew AM

| 0015 MGO00163 |screw fix the soldering tag*1, PRE GND*1

I 0016 NIOIS62 |key

I 0017 NI06123_|key 259,

I 0018 HK18368_|PC board P-TS215 SUB-PRE-DIP

1 | F0001 HC00253 |connector(male) 2P 2.0mm 180’ CN4

1110002 [HC00392 [balance MIC jack-RS 1Y-5030-030G 180° IK1,JK2

|1 10003 [HCO01212 |balance MIC jack-RS K6X01V-6-3A 11,02

| | H0004 HIO0162  |push-button switch 2 paragraphs 6p PS-22E8552L SW2,SW3

| | 0005 HIO0163  |push-button switch 2 stage 12P PS-42E85 SW1

| | H0006 NI02532 |LED spacer support LEDS-22 22mm

I 1 10007 |RC01034 |Potentiometer-RS 30A103-Q1-FA265B120-10K 1.26.5FCx12 VRI

| 10008 SA00051 |LED ¢ 3 orange,green 28/30/32mm DLS

| | H0009 SA00052 |L.ED @ 3 round(green)long foot 26 DL1,DL2

| | H0010 SA00053 |L.ED 3 round(red)long foot 26mm DL4

| | o011 SA00054 |L.ED 3m/m round(yellow)long foot 26 DL3

| | H0012 AC00603 |lead free soldering bar S100

|1 10013 |HK18372 [PC board P-TS215 SUB-PRE-AI

I 11 0001 |CB00192 |electrolytic capacitor 10uF/16V ¢ 4*7Tmm g;fg;(;ciﬁzgggﬁcg()

| | 1 0002 [CB00193 |electrolytic capacitor 4TuF/16V ¢ 6¥Tmm (C51,C52,C53

| | 1 0003 [CB00251 |electrolytic capacitor 220UF/25V ¢ 8*11mm C103,C104

| | 1 0004 [CB00262 |electrolytic capacitor 47uF/16V NP ¢ 6.3*] Imm C100

I 11 0005 |HKI8370 [PC board P-TS215 SUB-PRE-SMD
C8,C9.CI0,CI1LCI2CI3,

0‘00'1‘ FE |ci000st [sMD ceramic capacitor 0603 20PF/S0V COGES%(C1608COGTH220I T/ TDK Szczzgg;?;gzlféigz
33,034,043,044

T T T |ci00055 [SMD ceramic capacitor 0603 47PF/SOV COGES%(C1608COGIHAT0IT)/TDK 54,062

T T |ci00175 [SMD ceramic capacitor 0603 1.0uF/16V XTR+10%(C1608X7R1CI0SKT)/TDK Cl01

LT T T 00179 [SMD ceramic capacitor 0603 0.220F/25V XTRE10%(CI1608XTRIE224KT)/TDK___ |C40.C41,C50.C61,C80
C69,CT1,C72,CT3,CT4CT
5,C76,C77,C78,C81,C824
83,084,085,086,C87,C88,

A ‘ ' ) (89,090,091,092,093,C9

005 CI00185  [SMD ceramic capacitor 0603 0.1uF/SOV X7R£10%(C1608X 7R 1H104KT)/TDK 4,095,096,C111,C112,C1
13C114C115,C16,C117]
CH8CI9CI20,C121,C1
2,C123,C124,C125C126)
C127,C128,C66,098,099

et T T Jci00204 [SMD ceramic capacitor 0603 0.027uF/50V £10%(C1608X7RIH273KTY/TDK 60

e T T |C100205|SMD coramic capacitor 0603 0.039uF/50V £10%(C1608X7RIH393KTYTDK 59

T T T |ci00209 [SMD ceramic capacitor 0603 0.0820F/50V £10%(C1608X7R 1H823KT)/TDK 63,064

L T T |ci00211 [SMD ceramic capacitor 0603 0.150F/25V XTR+10%(C1608XTRIEISAKT)TDK ___|C55

T T T 100220 [SMD ceramic capacitor 0603 220PF/S0V COG £5%(C1608C0G1H221IT)/TDK 65

T T 100224 [SMD ceramic capacitor 0603 470PF/50V C0G +5%(C1608COG1HA71IT)/TDK 102

T ]ci00330[SMD ceramic capacitor-RS 0805 10uF/16V+10%(GRM21BB31CI06K)/(MURATA) __ |C4,CS

T T |ci00349 [SMD ceramic capacitor 0805 4.7uF/25V X5R £10% C47,C48,097

T T T ]ci00404 [SMD ceramic capacitor-RS-ACT 0603 __|047uF/16V (GRM188B31C474KASTD)(Murata) 67,068,079

T T ci00413 [SMD ceramic capacitorRS 0.33uF/SOV X7R £10% 49

T T 1000168 [SMD inductance-RS-ACT 1000Q£25%(BLMISRK102SN1D) L1L2,L3LARI35R136

T T TRD000S9 [SMD fixed resistor 1/10W 0.0Q £5% 0603 COTRITLRIIZISAT

T T T TRD0007S [SMD fixed resistor 1/10W 300Q £5% 0603 R44,R45,R46,R47

T T |RDO0I3S [SMD fixed resistor 1/4W 330Q £5% 1206 RI34

o T T T |RD00203 [SMD precise resistor 1/10W 2.00KQ £1% 0603 R81,R82,R83,R84

T T IRD00209 [SMD precise resistor 1/10W 499K Q £1% 0603 R38,R39,R06,R98

T T T |RD00204_[SMD precise resistor 1/10W 2.49K Q +1% 0603 RY7

T T T |RD00210_[SMD precise resistor 1/10W S.11KQ £1% 0603 RI14R115

T T T IRD00212 [SMD precise resistor 1/10W 590K Q +1% 0603 RSS

T T T |RD00213 [SMD precise resistor 1/10W 7.50K Q +1% 0603 RO4
RT.RZR3.RFRSKSRIR
36,R37,R40,R41 R42,R43,
RIO2R103,R104.R105R1

0‘02'6‘ FE |RDo0214 [SMD precise resistor 1710w 10.0KQ 1% 0603 gﬁ‘ﬁg‘;:{?ﬁ?;g;{%
60,R61,R62,R63,R64,R6S,
RG6,R67,R86,R87,RS8.RS
2

T T T |RD0021S [SMD precise resistor 1/10W 13.0KQ 1% 0603 RI37RI38

T T T |RD00217_[SMD precise resistor 1/10W 14.0KQ *1% 0603 R78

o T T T |RD00219 [SMD precise resistor 1/10W 20.0KQ £1% 0603 RI07,RI08,R6,R7

o T T T |RD00225 [SMD precise resistor 1/10W 130K Q +1% 0603 RS6

T T T |RD00272 [SMD precise resistor 1/10W 10.0Q +1% 0603 RSS




o RD00282_[SMD precise resistor 1/10W, 100K Q +1% 0603 RIISRI3

T T T |RD00289 [SMD precise resistor 1/10W 8.06KQ +1% 0603 RI2RI3

T T T |RD00290_[SMD precise resistor 1/10W 47.5KQ £1% 0603 R48,R49,RS0.RS |

T T T |RD00293 [SMD precise resistor 1/10W 174K Q +1% 0603 ROS,R109

T T T TRD00328 [SMD precise resistor 1/10W 8.66K Q) £1% 0603 RI10

T T T |RD00330_[SMD precise resistor 1/10W 39.0KQ 1% 0603 R129

T T T |RD00334 [SMD precise resistor 1/10W 11.0KQ +1% 0603 R72,R120

0‘03'9‘ P |RD00339 [SMD precise resistor 1710w 470K Q £1% 0603 g?{zj’gﬁ?‘%igﬁﬁgz

T T T |RD00344 [SMD precise resistor 1/10W 11.5KQ 1% 0603 RI17

T T TRD00363 [SMD precise resistor 1/10W 3.16KQ 1% 0603 RS2

T T T |RD00367 [SMD precise resistor 1/10W 154K Q +1% 0603 R54,R77.R19.R122

T T T |RD00371_[SMD precise resistor 1/10W SILIKQ £1% 0603 RS3

T T T IRDO04IS [SMD precise resistor 1/10W 470K Q £1% 0603 RI25,R126,R131

T T T IRDO04S7 [SMD precise resistor 1/10W 150K Q +1% 0603 RI0I

T T T |RDO0S#4 [SMD precise resistance 1/10W 22Q+1% 0603 R127

T T T |RDO0S4S [SMD precise resistance 1/10W 49.90+1% 0603 RO9,R100

T T T |RDO0SSO_[SMD precise resistor 1/10W 27.0KQ 1% 0603 RI32

T T T |RDO0709 [SMD precise resistor-RS 1.37K Q1% 0603 RI28

e T T T ]RDO0721 [SMD fixed resistor-RS 1/10W. 22.1KQ +1% 0603 RI2

e T T T TRDO0SS9 [SMD fixed resistor-RS 1/10W. 9.09K Q +1% 0603 R116

e T T T |RD00893 [SMD fixed resistor-RS 1/10W. 34.0K Q £1% 0603 RO2

T T T |RDO0S94 [SMD fixed resistor-RS 1/10W. 146.4KQ 1% 0603 R20,R27

T T T |RD00921 [SMD precise resistor 1/10W 374K Q £1% 0603 R0

e T T T |RD00928 [SMD precise resistor 1/10W 22.0KQ *1%0603 RI23

T T T TRD00959 [SMD precise resistor 1/10W 16.90K Q1% 0603 RO3

e T T |RD00967 [SMD resistance 1/8W 6.98K Q +1% 0805 RI4RIS

e T T T |RDO1038 [SMD fixed resistor-RS 1/10W. 40.2KQ £1% 0603 R21,R29

e T T T ]RDO10SS [SMD fixed resistor-RS 1/10W. 147K Q 1% 0603 RS0

L T T T ]RDO1090 [SMD fixed resistor-1/10W. 54.9KQ +1% 0603 RI2I

T T T IRDOIIIS [SMD precise resistor 1/16W 3.0KQ +1% 0603 RII3

T T T IRDOIII7 [SMD precise resistor 1/16W 432.0Q £1% 0603 R32

T T T IsE00155_[SMD Schottky barrier diode-RS-ACT __ |BAT 64-04(SOT-23)/(INFINEON) DI

T T T IsE00177_[SMD rectifier diode-RS 0.5A LL4148(SOD-80)/(VISHAY) D2,D3,D4

T T T sFo0038[uwansistor RK7002(ROHM) TRI

T T T sFo00s3[uwansistor MMBT3906(SOT23)/(PHI) TR2

T T 5600033 [SMD integrated circuit LM358DT(SOR)(ST) ulg

Lok _ ULU2,U3,U4,U5,U6,U7,

06 $G00122 [SMD integrated circuit-RS-ACT NIMA4SS0M-TE3(DMPS )(IRC) USUI0UILUL2UIS.UL
6U9,U13,U19

T T T 5600194 [SMD integrated circuit NJM13600M-TE(DMPI6)/(JRC) Ul4

e T [5G00306 [SMD integrated circuit LM393DR(TD/(MEXICO) UI7,U20

oo T T ]AE00553 [Senu solder paste M705-GRN360-K2-V 0.5KG/bottle

0‘07'2‘ PP |sE00243 [SMD zener diode-RS 1/2W 12V MMSZ5242A(SOD123)/PANIIT ;gé;g%g;ﬂ)wbs

T T |nBoasos [pcB TS2 SUB PRE(1*2)_VER160525

I |1 0006 [CF00183 |metal-film capacitor MSC 0.1uF/100V 5% CASEO1 ;jlcztzgl(‘izal(‘élgz“%gm

| 1110007 _|CRO0IS6 | metal-film capacitor MSC 047UFI63V 5% CASEO2 Cs8

I 1110008 |CFO0ISS [ metal-film capacitor MSC 0.22uF/63V 5% CASEO2 39

| |1 0009 [CB00038 |electrolytic capacitor 47uF/16V ¢ 5¥Tmm R58

1 1 -0014 HC00258 |connector(male) 7P 2.0mm 180’ CN3

10019 HK18332_|PC board P-DM 300W-+300W_DIP

1 | F0001 RA00031 |metal-oxide-film resistor 2W 10Q P type R41,R42

| | H0002 RA00051 |metal-oxide-film resistor 2W 5.6Q R65,R66

1110003 |NI100268_|sleeve  6¥20mm PGNSI008ZAN1_P_C R40

| 1 1 0001 |NIO0266 |sleeve @ 6*¥1000mm

110004 [MG00162 [screw Y

| | 0005 MGO00566 |screw M3*10*0.5PH_V1.0 shrapnel*9

| | H0006 HC00088  |connector(male) 2P 3.9mm 180°(#3921) 13

| | H0007 HC00174 |connector(male) 4P 3.96mm 180" J5

1 10008 HC00258 |connector(male) 7P 2.0mm 180’ J4 insert near L16

1110009 [HA01933 [jump 2.5mm BRI

| | H0010 HC00324 |connect terminal 6.5m/m (PC250) J1,12

| | o011 CB00151 |electrolytic capacitor 220uF/63V ¢ 10*16mm (C98,C99

|1 10012 |CN00069[inductance-EMI SUPPRESSOR-RS-ACT |TB36-13-850485 LLL2LSLI2

|1 10013 [CG00023 |X1/Y1 capacitor 0.00220F/250VAC YSU C6,C7.C8,CI0C1 1T

|1 10014 |MKO00103 [spring piece 0.5%22.67%6.5%42.5_V1.0 Lock MOS TUBE

| | 0015 CB00295 |electrolytic capacitor 820uF/180V ¢ 25%*35 C13,C14

|1 0016 |NI04253 |sleeve-RS  28%50M T-2 MK00103

|1 10017 |SD00317 |integrated circuit NIM7912FA(TO220F)/(JRC) U2

|1 0018 |ME00226 [screw-RS M3#0.5PH 1C*2+shrapnel*9

11 10019 [SAO0316 |bridge rectifier-RS 8A GBU-8K/(PANIIT) DI2

| | H0020 NCO1179 |insulator spacer-RS 0.13t*40mm*55mm(HI-FLOW-625) stick on Q1, Q5

1 | 0021 CB00335 |electrolytic capacitor-RS 1000uF/16V ¢ 8*20mm (89,090

|| H0022 RA01063 |metal-oxide-film resistor 3W 0.1Q 2% P type R40

1110023 |RHO0033 [thermistor-RS-CT 5Q BS72358-0509MO00/EPCOS) R6

|1 10024 [SD00380_|integrated circuit-RS NIM7812FA(TO220F)/(RC) Ul

| | 0025 AC00603 |lead free soldering bar S100

|1 10026 |sB00284 [wansistor-RS IRFB4020PBF(TO220AB)/(IR) Q6.07.08,Q9

|1 10027 [NC04098 [insulator spacer-RS 0.13%27.5%40mm(HI-FLOW-625) stick on Q6, Q7/Q8, Q9

| 1 0028 NDO01210 [cushion-RS 8t*45*10mm(E-4382) stick on C13/C14

|| H0029 CB00436 |electrolytic capacitor-RS 1000uF/63V LSR ¢ 16%25mm (28,C31,C32,C64

1110030 |CR00277 | metal-film capacitor-RS 0.22uF/100V C242A224K2SC000/(Fara) 52,053

1 | 0031 CB00438 |electrolytic capacitor-RS 470uF/25V LSR ¢ 8*20mm C1,C2

| | H0032 CF00284 |metal-film capacitor-RS 0.1uF/630V C822J104]60C000/(Fara) C26

| 110033 |RHO00037 [thermistor-RS-ACT 330Q PTFLO4BG222Q2N34B0/MURATA) PR200

| | H0034 CF00279  |metal-film capacitor-RS 1.0uF/250V C322E105J60C000/(Fara) (C50,C51

| 1 0035 [SB00369 |Transistor-RS FDPI8NSO(TO220)/FAIRCHILD Q1,05




| 1 0036 CN00359 |inductance 13,14

|1 10037 [CGO0126 |X2 capacitor-RS 12

I 1 0038 |TC00585 |Transistor PT-DM 350W+175W(ER3S) 230V 1

1110039 [NI07555 |[insulator TT12 05195493 V1.0

| 110001 |NI04630 |film-RS-CT 450#605*0.5mm 0.184kg_V1.0

1110040 [CG00130_[X2 capacitor 047uF/305V 20%(C42Q2474M6HCO00)(FARA) cs

|1 0041 HAO01919 [jump Smm PRI,R110
11120001 |HA02249 [wire 00684

|1 F0042  |MI06323 |heat-shassis TS212 2%40¥100%206_V1.2

| 11 0001_|ME00221 [iron pillar SPH_VL.1

| 110002 [MI000SS |AL plate-RS 2¥2000¥1000 10.88kg

|1 10043 [oN00372 [inductance 20uH T94-2 L8.L9

|1 0044 |HKI8335 [PC board P-DM 300W+300W_AI

| | 1 0001 [CBO0112 |electrolytic capacitor 10uF/35V 105°C ¢ 4¥7mm 2.5mm C95

I 1110002 |CRO0I83 [ metal-film capacitor MSC 0.1uF/100V 5% CASEO1 C79,C80

| | | 0003 |CB00188 |electrolytic capacitor 10uF/63V Imm 2.5mm C37

| | | 0004 |CB00034 |electrolytic capacitor 33uF/16V ¢ 5*11mm 2.5mm C83,C84

I 1110005 _|CC00074 [mylar capacitor-RS-ACT 0.01uF/100V 3% 7

| | 1 0006 [CA00131 |ceramic capacitor-RS 0.01uF/1000V Z5U C15,C16,C25

| | | 0007 |CB00409 |electrolytic capacitor-RS 22uF/16V 105°C ¢ 5*11mm C45,C46

| |1 0008 |[CB00469 |electrolytic capacitor-RS 100uF/16V LSR 105°C ¢ 5%11mm (34,C35,C38,C3,C4

| 110009 |HKI8333 [PC board P-DM 300W-+300W_SMD

T T T |sF00083 [ransistor MMBTS551LTIGSOT23)/(ON) o

T T T |RD00298 [SMD precise resistor 1/10W 47.0Q 1% 0603 R23

T T T IsE00012 [SMD rectifier diode-RS BAV103(PHD) D15.D16.022.023
T T T 15600122 [SMD integrated circuit-RS-ACT NIM4580M-TE3(DMPS )/(IRC) Us

T T T |sEoo0s4 [sMD LED yellow 19-21UYC/S530-A2/TRS DS1.DS2

T T T TRD00327_[SMD precise resistor 1/10W 8.20KQ 1% 0603 R75R76

o T T T |RD003SS [SMD fixed resistor 1/10W 470 £5% 0603 R79,R80

o‘oolx‘ FE JRD00214 [SMD precise resistor 1/10W 10.0KQ +1% 0603 ‘g(:_%?gA‘RQS'R”’R(’O‘R'
T T T |RDO00S9 [SMD fixed resistor 1/10W 0.0Q £5% 0603 RI09

T T IRD00209 [SMD precise resistor 1/10W 499K Q +1% 0603 R73R74

T T T |RD00224 [SMD precise resistor 1/10W/ 100K Q £1% 0603 RO.RI2RI3RI4R26R2T
T T |RDO0460_[SMD precise resistor 1/10W 56002 +1% 0603 R64

L T T T |RD00466 [SMD precise resistor 1/4W 2.0KQ +1% 1206 R35.R36.R10.R103
T |RDO025S [SMD precise resistor 14W 100K.Q 1% 1206 R7.RS

T T T |RD00506 [SMD precise resistor 1/10W/ 330K Q +1% 0603 RTT.RIS.CT2
T TRDO0SI2 [SMD precise resistor 1/10W 180K Q £1% 0603 RO2

T IRD00219 [SMD precise resistor 1/10W 20.0KQ +1% 0603 R71,R72

T T T |RD00399 [SMD precise resistor 1/4W 100KQ 1% 1206 RST.RSS

T T T |RD00282 [SMD precise resistor 1/10W/ 100K Q +1% 0603 R21LR39.R63.R91
0‘02'0‘ P E IRD00272 [SMD precise resistor 1/10W 10.0Q 1% 0603 l;?jé??zgéﬁoéi%gzéiﬁ
T T T |RD00274 [SMD precise resistor 1/10W 100Q £1% 0603 R69,R70

T T T |RDO04I4_[SMD precise resistor 1/10W 390K Q +1% 0603 R28,R22

T T T |RD0038S [SMD precise resistor 1/10W 3.01KQ 1% 0603 R47,R48

T T T |RDO04IS [SMD precise resistor 1/10W 470KQ £1% 0603 RS5,R36

T T |RDO0400 [SMD fixed resistor 1/4W 20Q £5% 1206 RIRI7

T T T IRD00S25 [SMD precise resistor 1/10W 33.0KQ 1% 0603 R55,R56

T T T |RD00303_[SMD precise resistor 1/10W/ 57.6KQ £1% 0603 R33.R34

T T T |RD00200 [SMD precise resistor 1/10W 1509 +1% 0603 R46

T T T 00096 [SMD ceramic capacitor 0603 S60PF/SOV NPO £5% 20

o T T T |ci00145 [SMD ceramic capacitor 0805 0.00150F/50V X7R £10% COUTOL,TOZE03,TOT.LT
L TT T ci00154 [SMD ceramic capacitor 1206 0.1uF/100V X7R £10% 33,069

0‘03'2‘ PP |ciooiss  [sMD ceramic capacitor 0603 0.1uF/SOV X7R£10%(C1608X 7R 1H104KT)/TDK %f}%ﬁ?@?ﬁlﬁ?,gg
T T T T 00179 [SMD ceramic capacitor 0603 0.20uF/25V XTR+10%(C1608XTRIE24KT)TDK __|C44

0‘03'4‘ FE |ci00195  [SMD ceramic capacitor 1206 4.7uF/25V YSV (GRM31CB11E475ZA01D) gﬁ&gg;g(ﬁtgggscg
T T T |ci00206 [SMD ceramic capacitor 0603 0.047uF/SOV £10%(C1608X7RIH473KT)/TDK 18,049

T T T 00201 [SMD ceramic capacitor 0603 0.01uF/S0V +10%(C1608X 7R 1H103KT)/TDK 58,059

T T T |ci00051 [SMD ceramic capacitor 0603 20PF/SOV COGE5%(C1608COG1H2201T)/TDK 3

T T T 100220 [SMD ceramic capacitor 0603 220PF/SOV COG £5%(C1608C0GIH221IT)/TDK 39,042

T T T |sFo00s2 [iansistor-RS-ACT, MMBT5401LTIG(SOT23)/(ON) Q3

T T T |RD00541 [SMD precise resistance 1/10W. 0Q+1% 0603 350W=175W
T T T |RD00596 [SMD precise resistor-RS 1/4W 1009 +1% 1206 R37.R38.R96.R99
T T |ci00269 [SMD ceramic capacitor-RS 1206 1.0uF/25V XTR £10% 23,41

T T T IsE00089 [SMD zener diode-RS 1/2W 5.1V(MMSZ5231 BXSOD-123)/(PANJIT) D5,D19

T T T |RDO0G36 [SMD precise resistor-RS 1/4W 47.0KQ *1% 1206 RIS RS2

T T T IsE00098 [SMD zener diode-RS-C 1W 15V DL4744A MELF/SI) D14

T T T 15600495 [SMD integrated circuitRS IR2156SPBF(SO14)/(IR) U3

T ci00279 [SMD ceramic capacitor-RS 1206 0.00220F/200VxTR£10% RO4

T T T |ci00306 [SMDeeramic capacitor-RS 1.0uF/25V X7R £10% 1,02

T T T |AE00553 [Sentu solder paste M705-GRN360-K2-V 0.5KG/botile

e T T T |RD00697 [SMD precise resistor-RS 390.0Q:+1% 0603 RS1

T T T |SE00133 [SMD zener diode-RS 205mW 12V BZX84C12LTIG(SOT23) DIS

T T T ISE00134 [SMD rectifier diode-RS-ACT, 1A 600V MURSI60T3G (SMB)/(ON) DI3

T T T 15600667 [SMD integrated circuitRS IRS2092S(SOICIGN)/(IR) U7.U8

T T T |c00328  [SMD ceramic capacitor-RS 1206 150PE/630V COG 5%(C3216C0G2I 15 LI)/TDK C47.048

T T T ISE00149 [SMD double-direct triy diode-RS 1A/30V RB160M-30(ROHM) D3.D4

e T T T |RDOOSIS [SMD fixed resistor 2W 20K Q #5% 2512 R43,R44

L T T T |RD00S00 [SMD precise resistor 1/8W 1009 +1% 0805 RII2RII3RI14R11S
T T T 15600729 [SMD integrated circuit-RS-ACT MC78M12CDTRKG(DPAK-3)/(ON) U4

e T T T |sE00156 [SMD diode-RS-ACT 1A/200V ESID(SMA)/(FAIRCHILD) D1.D2.D20.021,028
0‘06'0‘ PE |ci00356  [SMD ceramic capecitor 1206 0.1uF/250V X7R 10%(GRM31CR72E104KWO3L) g;ﬂgjﬁgsggfg%ﬁ
L1 E Ismoo61 [sMD diode-Rs 2A/200V ER2D 35nS(DO214AA)(PANIIT) D29,D30,031,032,D33,D

34,035,036




0‘06'2‘ FE |coootes [SMD inductance-RS-ACT 1000Q425%(BLMISRK102SN1D) 11‘66_’1[:1’{‘!?;‘1"["4’1‘15'1‘

T T ]ci00366 [SMD ceramic capacitor 0805 220PF/250V COG £5% C100,C101,C102,C103

T T T ci00387_[SMD ceramic capacitorRS 0.00220F/250V X7R +10% 54,055

T T T IsE00177_[SMD rectifier diode-RS 0.5A LL4143(SOD-80)/(VISHAY) DTCDTLDZ, D2, D201

T T T IsE00189 [SMD diode-RS-ACT 8A/200V STTHS02B-TR (DPAK)/(ST) BDI,BD2,BD3,BD4

T T |RD00945 [SMD resistance 14W 1.0Q +1% 1206 RS7,R38

T T T IRD009S7 [SMD precise resistor 1/10W 4.3KQ *1% 0603 R31,R32

T T T |RD00293 [SMD precise resistor 1/10W 17.4KQ +1% 0603 R29

o T T T |RDOI00I [SMD precise resistance 1/10W 24KQ 1% 0603 RS3,R54

L TT T |nBosost [pcB DM 400W-200W_VER150720

T T sB00379_[Photodiode LTV-8178-TAI-C(LITEON)/ U6

T T |RDO0I23 [SMD fixed resistor 1/10W 470K Q_£5% 0603 R2,R3R4,RS

I 10045 [MCO1371 [iop cover TS212 1.5%19.5%95.64163_V1.0

| 110001 |MI00069 [iron board 1.5%2135%1220 30.67ke

| | 0046 MG00269 |screw-RS M3 fix the top cover
110020 NI00218 _|cable tie ALT-1025B

| 0021 HA05997 |header wiring 2P UL1007 18AWG

| 0022 ND01444 |EV foam *3mm_V1.0 pasted on the sealed box
I 0023 MAL1189 [panel ALTO CHINA_V1.1

110001 |MAI1187 [panel TS 212 SUB 20¥235%268

| | 1 0001 [AE00055 |solvent solvent

1110002 _|AE00201 5041

| 110003 |MAI1186 [panel TS 212 SUB 21%235%268_V1.1

T T T ME00001 [screw pillarRS M4#10%0.7PH_V1.0

T T T IME00319 [iron pillar-RS-CT 5_V1.0

T T T ME00038 [iron pillar 3484 V1.3

o T T |Mi01580 [single light board-RS 01¥1850#1250mm 36kg

10024 NI07837 _|fixed bracket TS 212 SUB 81¥187.5%24.5 V1.0

10025 NI02527 _|knob-RS ¢ 14*13mm_V1.3

| 0026 HA06363 |header wiring 7P-7P 200mm UL1007 26AWG

10027 NC04781_|Insulator 7.5 ES503 DB stick to AC Jack
0022 NI02590 |cable tie YJ-203V0 UL94V-0 fix the speaker wire*1
0023 NF04684 |user manual TS2 SUB ALTO_V1.0

150001 NH00231 |paper 889*554mm

0024 NE27157 |lable TS215SXUS_V1.0 pasted on the two sides of carton*2
| 0001 NIO0018  |membrane

| 0002 NH00035 |bond paper

0025 NI00218  [cable tie LED wire*1
0026 ND01485 |sponge pasted on the LED support*1
10027 NB08875_|carton

0028 NE27160 |lable stick to the right corner of grille
10029 NIO7857 _|3M VHB 10°31.3%26.4 (3M 4952) V1.0 stick (o the back*2
£0030 NIO7836_|mark TS 212 SUB 30.35%11.03%90.22_V1.0

0031 MD02088 iron net TS215SUB 1.2076.7%545.3%491 V1.0

0032 HA06368_|wire 4P 280mm UL1007 ISAWG

I 1-0001 HA06369 |wire 4P 280mm UL1007 I8AWG

| 0002 CNO00283  high frequency magnetism encircle-RS @ 16%16 (742700752)/WURTH ELEKTRONIK

10033 NE26801_|label NUMARK SERIES_V1.0 pasted to the PE bags
| 0001 NI02598  [membrane 125mm

10002 NI00068_|Scotch tape 0.16*1M

0034 NE21518 |label APX2000/3000_V1.1 stick to the powercon




Rank Part No Description Specification Insert Location Remark
PC03018 PC03018 |SPEAKER TS215S_ALTO_230V_CHINA_(NUMARK)

10001 NC05054 |box

1 0001 NI02426  |foot cushion ¢ 37%15.5mm PGHA1022ZA/J1_P_A

| 10002 MI02042 |handle-RS 220%163.5%63mm _V1.0

| 0003 ME00082 |nut-RS M5*0.8PH*10.6_V1.2 Lock the woofer

| 0004 ME00083  [nut M6*1.0PH*11.6_V1.2 Lock the pole mount

| 0005 ME00085  [nut M4*(0.7PH*9.3_V1.2 Lock the handles on two sides
| }-0006 screw M4*16 Lock the handle*12

| 10007 screw-RS M4*30mm Lock the handle*8

1 0008 MG00670 [SCREW-RS M6*40 Lock the pole mount*4
| 0009 ND00242 |EV foam 43*47.5%1.5mm stick to the handles on two sides
| 0010 ND00634 |EV foam--RS 2.0t*300%15mm black_V1.0 stick to the pole mount
| 0011 ND00635 |EV foam--RS 2.0t%700%15mm black_V1.0 stick to the handles

| 0012 MGO0751 [screw-RS M4*20MM lock the feet*4

| 10013 MH01704 |handle-RS ELVIS ¢ 110%96_V1.3

| 0014 NHO00783 |Tube TS215S ¢ 120* ¢ 128*378.1_V1.0 used for the cabinet*2
| }0015 NCO05066 |top cover TS 215S 628%*513.3%18mm_V1.0

| | 0001 NC03657 _|Plywood-RS-CARB 2440%1220%18t

| _}-0016 NC05067 _|chassis TS 2158 628*513.3*18mm_V1.0

| | 0001 NC03657 |Plywood-RS-CARB 2440%1220%18t

| 0017 NC05068 [side cover board TS 2158 562.7%503*18mm left_V1.0

I | 0001 NC03657 |Plywood-RS-CARB 2440%1220%18t

| 0018 NC05069 |[side cover board TS 2158 562.7%503*18mm right_V1.0

| | -0001 NC03657 |Plywood-RS-CARB 2440%1220%18t

| 0019 NC05070 _|front board TS 2158 503*486.5*18mm_V1.0

| | -0001 NC03657 _|Plywood-RS-CARB 2440%1220%18t

| 0020 NC05071  |rear board TS 2158 503*375.5%18mm_V1.0

| | -0001 NC03657 _|Plywood-RS-CARB 2440%1220%18t

| 0021 NC05063  |rear board TS 2128 277.5%310.5%18mm_V1.0

| | -0001 NC03657 _|Plywood-RS-CARB 2440%1220%18t

| 0022 NC05072 _|barrier TS 2158 509%100*15mm_V1.0

| | -0001 NC03656 |Plywood-RS-CARB 2440%1220%15t

| 10023 NC05073 _|billet TS 2158 476.7%75.3*15mm_V1.0

| | -0001 NC03656 |Plywood-RS-CARB 2440%1220%15t

| 0024 AE00684 |Paint LTS-6072 25KG/Pail

| 10025 AE00686 |Paint LTS-6071B 10KG/Pail

| 0026 AE00687 _|Paint DTS-1202-1 20KG/Pail

| 10027 AE00688 |Paint DTS-1021A-1 20KG/Pail

| 10028 AE00689 |Paint DTS-1021B 10KG/Pail

| 10029 AE00692 |Paint PU-010-4 170KG/Pail

| 10030 AE00693  |Paint MTS-2209 20KG/Pail

| 10031 AE00694  |Paint LTS-6070B-1 10KG/Pail

| 0032 NDO1551 |Absorb sound sponge-RS TS215S 1050%450%30t 500g/mUL_V1.0

}-0002 HK18345 |speaker 15inch 600W 8 Q(TS215S)

| 0001 NH00237 |cushion-RS ¢ 378*351*8 EVA_V1.2

| 0002 NDO00525  |dust-proof shade-RS ¢ 116%24_V1.0

| 10003 MHO01986 _|magnet-RS ¢ 180%95%20 Y30_V1.0

| 0004 MHO1110 |rivet MO0500A_OU-30

| 0005 MG00263 |screw MS5*8 Lock the washer and bracket*6
| 0006 HC00426  |terminal-RS M0021B_PT2.1_V1.0

| | 0001 HC00496 _ [connect terminal 0.8%13%16.3mm

|| 0002 HC00495 _ [connect terminal . 3

| | -0003 NI02583 |terminal block 3.5%24.5%3t

| 0007 HA04554  |line-RS TA2J7Y18H2KA33/42WB*2*180mm

| | -0001 HA04553 [line-RS TA2J7Y18H2KA33/42WB* 1M

| 0008 NH00552 |cone-RS ¢ 370% ¢ 76.5%88 HX:1506_V1.1

| 0009 ND00991 _|damper-RS @ 175% 9 75%19 180030 1.0/100g_V1.0

| 0010 MH02465 _|iron coil-RS ¢ 175%78.5%10 P:120 TL:W175-49_V1.0

| 0011 NE27054 |label HK18345_V1.0

| | H0001 NIO001S  |membrane 0.04*1M

|1 -0002 NHO00012 |bond paper 0.04*1M

| 0012 ND00228 |sponge S0720B_NYLON NET D45

| 0013 MI02745  |holder-RS ¢ 382% 9 81*112 P:90_V1.0

| H0014 MH02463 |T type middle pillar-RS ¢ 175%74.25%31*10 TL:TD1757-03_V1.0

| L0015 HG00594 [voice coil TIL/AL ¢ 74.88%48*5.2Q%0.27 22.2 EI

}-0003 NIO7834  |net TS215S 5t%544.7+487_V1.0 stick to the back of grille*1
10004 HA06358  |wire 550mm UL1015 18AWG+Capacitance speaker wire* 1

| 0001 CF00245  |metal-film capacitor-RS 0.0022uF/400V 5% ESK400D22JA

| 10002 HA06357 _[wire 550mm UL1015 18AWG

}-0005 ND00665 |EV foam-RS 950%15%2.0mm black_V1.0 stick to the AMP
}-0006 ND00633 |EV foam--RS 1.0t%1500% 1 5mm black_V1.0 pasted on the two sides of grille
0007 ND00398 |EV foam SR500A-SUB 1205.5%15%2_V1.0 pasted on the woofer
}-0008 MG01030 |Screw-RS M3#20 lock the grille*8

0009 screw-RS M5*30 lock the woofer*8
{0010 MGO00351 |screw-RS M4*16 fix the amp and cabinet*8
0011 HK17710 |PC board P-TS212 Logo LED-DIP to fix the logo

| 0001 HK17709 [PC board P-TS210 LED--SMD

| | H0001 HB04153 |PCB-RS TS212 LOGO LED (4%8)_VER150908

| | 0002 SE00270 |SMD L.E.D blue MS-PTB414SUBC LED1

| | -0003 AE00553 |SenJu solder paste M705-GRN360-K2-V 0.5KG/bottle

| 10002 HC00253 |connector(male) 2P 2.0mm 180" CN1

| -0003 AC00603 |lead free soldering bar S100

10012 NIO7597 |LED lens TS212 16.69%10.32%8.15_V1.1

{0013 HA04308 |header wiring 2P-2P 700mm UL1007 26AWG red/white connect the LED of logo
0014 NA00904 |PE bag-RS 0.03t*1100*1300mm 12 hole speaker* 1, guarantee* 1, carton*2




}-0015 NA00858 |PE bag-RS 0.04t*240*160mm_V'1.0 pack the user manual and guarantee

}-0016 NAO1718  [sponge barrier TS215S_V1.0

}-0017 NE27062  |label TS215S_V1.0 Inside and outside*1 , carton *1, user manual®1

10018 NE27070 |label TS215S_V1.0 speaker*1

| 10001 NIO001S  |membrane 0.04*1M

110002 NH00012  [bond paper 0.04%1M

10019 NF03534  |assurance card-RS ALTO PROFESSIONAL_V2.0

}-0020 HK18378 |Faceplate TS215S_ ALTO_220-240V_CHINA_(NUMARK) fixed to the back of the cabinet

| [-0001 HAO01271 |signle terminal wiring 60 (PC250,PC187) SW TO AC Jack

| 10002 HAO01287 |wire-RS 60mm UL1015 18AWG blue SW TO AC Jack
| 10003 HA03186 |wire 100mm UL1015 14AWG GND

| 0004 HA04141 |wire 100mm UL1015 18AWG blue AC SW to AC Jack

| 10005 HA04143  |wire 100mm UL1015 18AWG brown AC SW to AC Jack

| 10006 HC00331 |AC socket RF-2004

I }0007 HD00013 |glass tube fuse 3.15A 250V ¢ 5%20mm CSA/S/UL/VDE

1 0008 HI00475  [power switch-RS 2%2P RF-1003-BBASE2X1T

| 0009 ME00016 _[color nut 4m/m GND

| _}-0010 MF00014 |washer © 3% 0 6.5%0.5t AMP*6

| 0011 MF00038 |washer-RS P4* @ TFIt GND

| 0012 MF00048 _[washer-RS @ 4% @ 8%0.5 GND

| 0013 MG00061 |screw-RS M3*10CYfRIEE) MIC*8, sealed box*16

| H0014 MG00162_|screw ’ AMP*6

| 0015 MG00163  [screw fix the soldering tag*1, PRE GND*1

| 0016 NIO1862  [key #14.5_V1.1

| 10017 NI06123  [key 9.2%9.2%7.3(3.3*3.3)_V1.0

| 0018 HK18368 |PC board P-TS215 SUB-PRE-DIP

| | 0001 HC00253 _|connector(male) 2P 2.0mm 180° CN4

| 10002 HC00392 |balance MIC jack-RS JY-5030-030G 180° JK1,JK2

| | 0003 HCO01212  |balance MIC jack-RS K6X01V-6-3A J1,12

| | 0004 HI00162  [push-button switch 2 paragraphs 6p PS-22E8552L SW2,SW3

I | 0005 HIO0163  |push-button switch 2 stage 12P PS-42E85 SW1

| | 0006 NI02532  |LED spacer support LEDS-22 22mm

| | H0007 RC01034  |Potentiometer-RS 30A103-Q1-FA265B120-10K L26.5FCx12 VRI

| | H0008 SA00051 |L.E.D ¢ 3 orange,green 28/30/32mm DLS

| | H0009 SA00052 |L.E.D ¢ 3 round(green)long foot 26 DL1,DL2

| | 0010 SA00053 |L.E.D ¢ 3 round(red)long foot 26mm DL4

| | H0011 SA00054 |L.E.D 3m/m round(yellow)long foot 26 DL3

| | H0012 AC00603 |lead free soldering bar S100

| | 0013 HK18372 |PC board P-TS215 SUB-PRE-AI

. . L C1,€2,C3,C6,C7,C35.C36,

I 11 0001 |CB0O0192 |electrolytic capacitor 10uF/16V ¢ 4¥7Tmm C37.C8.CA.CT0

I |1 0002 |CB0O0193 |electrolytic capacitor 4TuF/16V ¢ 6%Tmm (C51,C52,C53

I || 0003 |CB00251 |electrolytic capacitor 220UF/25V ¢ &*11mm C103,C104

I || F0004 |CB00262 |electrolytic capacitor 4TuF/16V NP ¢ 6. C100

| 1 1 }0005 [HKI8370 [PC board P-TS215 SUB-PRE-SMD
C8,09,C10,C11,C12,C13,C

I 111 }0001|CI00051  |SMD ceramic capacitor 0603 22PF/50V COG5%(C1608C0OG1H220IT)/TDK 3228?29( 5430 CZ IC?BEZ 3
,C34,C43,C44

1111 }0002|CI00055 |SMD ceramic capacitor 0603 47PF/50V COG£5%(C1608C0G 1H470JT)/TDK (C54,C62

I 111 }0003|CI00175 |SMD ceramic capacitor 0603 1.0uF/16V X7R£10%(C1608X7R1C105KT)/TDK C101

1111 }0004|CI00179  |SMD ceramic capacitor 0603 0.22uF/25V X7R*10%(C1608X 7R 1E224KT)/TDK (C40,C41,C50,C61,C80
C69,C71,C72,C73,CT4,CT5
.C76,C77,C78,C81,C82,C8
3,C84,C85,C86,C87.C88,C
89,C90,C91,£92,£93,C94,

I 111 F0005[CI00185  [SMD ceramic capacitor 0603 0.1uF/50V X7R£10%(C1608X7R1H104KT)/TDK €95,C96,C111,C112,C113,
Cl114,C115,C116,C117,C11
8,C119,C120,C121,C122,C
123,C124,C125,C126,C127
C128.CA6.COR.C99

I 111 }0006|C100204 |SMD ceramic capacitor 0603 0.027uF/50V £10%(C1608X7R 1H273KT)/TDK C60

I 111 }0007|C100205 |SMD ceramic capacitor 0603 0.039uF/50V £10%(C1608X7R 1H393KT)/TDK C59

1111 }0008|CI00209 |SMD ceramic capacitor 0603 0.082uF/50V £10%(C1608X7R 1H823KT)/TDK C63,C64

1111 }0009|C100211  |SMD ceramic capacitor 0603 0.15uF/25V X7R*10%(C1608X7R1E154KT)/TDK C55

I 111 }0010|C100220  |SMD ceramic capacitor 0603 220PF/50V COG £5%(C1608COG1H221JT)/TDK C65

1111 }0011|C100224  |SMD ceramic capacitor 0603 470PF/50V COG +5%(C1608C0G1H471JT)/TDK C102

| 11 1 [0012{CI00330 [SMD ceramic capacitor-RS 0805 10uF/16VE10%(GRM21BB31C106K)/(MURATA) C4,C5

1111 }0013|CI100349  |SMD ceramic capacitor 0805 4.7uF/25V X5R £10% (C47,C48,C97

| 111 [0014[CI00404 [SMD ceramic capacitor-RS-ACT 0603 0.47uF/16V (GRM188B31C474KA87D)/(Murata) C67,C68,C79

I 111 [0015|CI00413 |SMD ceramic capacitor-RS 0.33uF/50V X7R £10% C49

| 111 [0016{CO00168 [SMD inductance-RS-ACT 1000 Q25%(BLM18RK102SN1D) L1,L.2,L3,L4,R135R136

| 1 1 1 [0017{RD00059 [SMD fixed resistor 1/10W 0.0Q +5% 0603 C56,C57,R111,R112,TS215

| 11 1 [0018RD00075 [SMD fixed resistor 1/10W 300Q +5% 0603 R44,R45,R46,R47

| 1 1 1 [0019[RD00135 [SMD fixed resistor 1/4W 330Q +5% 1206 R134

I 11| }0020|RD00203 |SMD precise resistor 1/10W 2.00KQ 1% 0603 R81,R82,R83,R84

1111 }0021|RD00209 |SMD precise resistor 1/10W 4.99K Q +1% 0603 R38,R39,R96,R98

1 | | 1 [0022|RD00204 [SMD precise resistor 1/10W 249K Q £1% 0603 R97

I 111 }0023|RD00210 |SMD precise resistor 1/10W S.11KQ 1% 0603 RI114,R115

11 | 1 [0024|RD00212 [SMD precise resistor 1/10W 5.90KQ £1% 0603 R55

1 | | 1 [0025|/RD00213 [SMD precise resistor 1/10W 7.50KQ £1% 0603 R94
R1,R2,R3,R4,R5,R8,R9,R3
6,R37,R40,R41,R42,R43,R
102,R103,R104,R105,R106

I 111 }0026|RD00214 |SMD precise resistor 1/10W 10.0KQ £1% 0603 JRI0,R11,R75,R76,R16,R1
7.R19.R130,R57,R59,R60,
R61,R62,R63,R64,R65,R66
R67.R86.R87.R88.R8Y

I 11| }0027|RD00215 |SMD precise resistor 1/10W 13.0KQ £1% 0603 R137,R138




1 | | 1 [0028|RD00217 [SMD precise resistor 1/10W 14.0KQ £1% 0603 R78
1111 }0029|RD00219 |SMD precise resistor 1/10W 20.0KQ 1% 0603 R107,R108,R6,R7
1 | | 1 [0030[RD00225 [SMD precise resistor 1/10W 130K Q2 £1% 0603 R56
1 | | 1 [0031|RD00272 [SMD precise resistor 1/10W 10.0Q £1% 0603 R85
I 11| }0032|RD00282 |SMD precise resistor 1/10W 1.00K Q) £1% 0603 RI118,R133
I 111 }0033|RD00289 |SMD precise resistor 1/10W 8.06K Q2 £1% 0603 RI2,R13
1111 }0034|RD00290 |SMD precise resistor 1/10W 47.5KQ £1% 0603 R48,R49,R50,R51
1111 }0035|RD00293 |SMD precise resistor 1/10W 17.4KQ £1% 0603 R95,R109
1 | | 1 [0036/RD00328 [SMD precise resistor 1/10W 8.66K Q2 £1% 0603 R110
1 | | 1 [0037|RD00330 [SMD precise resistor 1/10W 39.0KQ 1% 0603 R129
1 | | 1 [0038|RD00334 [SMD precise resistor 1/10W 11.0KQ £1% 0603 R72,R120
1111 0039 [RD00339 [SMD precise resistor 1/10W 47.0KQ +1% 0603 11232012:1122:212&1;2%1?28
1 | | 1 [0040[RD00344 [SMD precise resistor 1/10W 11.5KQ £1% 0603 R117
1 | | 1 [0041|RD00363 [SMD precise resistor 1/10W 3.16KQ £1% 0603 R52
I 11| [-0042|RD00367 |SMD precise resistor 1/10W 154K £1% 0603 R54,R77,R79,R122
1 | | 1 [0043|RD00371 [SMD precise resistor 1/10W 511K Q £1% 0603 R53
I 1 1 | [-0044|RD00415 |SMD precise resistor 1/10W 4.70K Q +1% 0603 RI125,R126,R131
I 11| [-0045|RD00457 |SMD precise resistor 1/10W 150K Q £1% 0603 R101
| |1 | [-0046|RD00544 |SMD precise resistance 1/10W 220Q+1% 0603 R127
I |1 | [-0047|RD00545 |SMD precise resistance 1/10W 49.9 Q%1% 0603 R99,R100
1 | | 1 [0048|RD00550 [SMD precise resistor 1/10W 27.0KQ £1% 0603 R132
11 11 [0049[RD00709 |SMD precise resistor-RS 1.37K Q%1% 0603 RI128
| 11 1 [0050{RD00721 [SMD fixed resistor-RS 1/10W 22.1KQ £1% 0603 R124
| 11 1 [0051[RD00859 [SMD fixed resistor-RS 1/10W 9.09KQ +1% 0603 R116
| 11 1 [0052[RD00893 [SMD fixed resistor-RS 1/10W 34.0KQ £1% 0603 R92
| 11 1 [0053[RD00894 [SMD fixed resistor-RS 1/10W 46.4KQ £1% 0603 R20,R27
1 1 | 1 F0054|RD00921 [SMD precise resistor 1/10W 3.74KQ £1% 0603 R90
1 | | 1 F0055[RD00928 [SMD precise resistor 1/10W 22.0KQ £1%0603 R123
1 1 | 1 F0056/RD00959 [SMD precise resistor 1/10W 16.90K Q£1% 0603 R93
| 1 1 1 [0057[RD00967 [SMD resistance 1/8W 6.98KQ 1% 0805 RI14,R15
I | | 1 [0058[RD01038 [SMD fixed resistor-RS 1/10W 40.2KQ +1% 0603 R21,R29
| 111 [0059[RD01055 [SMD fixed resistor-RS 1/10W 14.7KQ *1% 0603 R80
| 111 [0060[RD0O1090 [SMD fixed resistor-1/10W 54.9KQ £1% 0603 RI21
1 | | 1 0061 |RDO1115 [SMD precise resistor 1/16W 3.0KQ +1% 0603 RI113
1 | | 1 F0062|RDO1117 [SMD precise resistor 1/16W 432.0Q £1% 0603 R32
I | | 1 F0063[SE00155 [SMD Schottky barrier diode-RS-ACT BAT 64-04(SOT-23)/(INFINEON) D1
| 11 1 [0064[SE00177 [SMD rectifier diode-RS 0.5A LL4148(SOD-80)/(VISHAY) D2,D3,D4
| 11 1 [0065[SF00038 |transistor RK7002(ROHM) TRI
| | I | F0066|SF00053 _|transistor MMBT3906(SOT23)/(PHI) TR2
| 11 1 }0067[SG00033 [SMD integrated circuit LM358DT(SO8)/(ST) Ul18
U1,U2,U3.U4,U5.U6,U7,U
1111 F0068[{SG00122  [SMD integrated circuit-RS-ACT NIM4580M-TE3(DMP8 )/(JRC) 8,U10,U11,U12,U15,U16,
U9,U13,U19

|11 1 F0069[{SG00194 [SMD integrated circuit NIM13600M-TE1(DMP16)/(JRC) Ul4
| 11 1 }0070{SG00306 [SMD integrated circuit LM393DR(TD/(MEXICO) U17,U20
I 11 | }0071|AE00553 |SenJu solder paste M705-GRN360-K2-V 0.5KG/bottle

NN . ] N 7D1.ZD2.7D3.ZD4,7D5.7
I 111 [0072[SE00243  [SMD zener diode-RS 12W 12V MMSZ5242A(SOD123)/PANJIT D6.2D7.7D8
| 111 “0073[HB04398 [PCB TS2 SUB PRE(1*2)_VER160525
I 11 F0006  [CF00183 [metal-film capacitor MSC 0.1uF/100V 5% CASEO ST
I 11 0007 |CF00156 |metal-film capacitor MSC 0.47uF/63V 5% CASE02 C58
I 1| F0008 |CF001S5 |metal-film capacitor MSC 0.22uF/63V 5% CASE02 C39
I 11 “0009 |CB00038 |electrolytic capacitor 4TuF/16V ¢ 5%Tmm R58
I | “0014 HC00258 _|connector(male) 7P 2.0mm 180 CN3
| 0019 HK18332 |PC board P-DM 300W+300W_DIP
| 1 0001 RA00031  |metal-oxide-film resistor 2W 10Q2 P type R41,R42
I | 0002 RA00051  |metal-oxide-film resistor 2W 5.6Q R65,R66
| | 0003 NI00268 |sleeve ¢ 6*20mm PGNS1008ZA/J1_P_C R40
| 11 -0001 |NI00266 [sleeve ¢ 6*1000mm
| | 0004 MGO00162 |screw M3 AMP*9
I | 0005 MGO00566 |screw 3%10%0.5PH_V1.0 1C*2+shrapnel*9
| | 10006 HCO00088 _|connector(male) 2P 3.9mm 180°(#3921) 13
| | 10007 HCO00174 |connector(male) 4P 3.96mm 180 15
| | 10008 HC00258 _|connector(male) 7P 2.0mm 180 14 insert near L16
I | 0009 HA01933  |jump 2.5mm BRI
I | 10010 HC00324 |connect terminal 6.5m/m (PC250) 11,12
I | 0011 CB00151  |electrolytic capacitor 220uF/63V ¢ 10*16mm (98,C99
| | 0012 CN00069 _|inductance-EMI SUPPRESSOR-RS-ACT | TB36-13-850485 L1,L2,L5,L12
| | }0013 CG00023 | X1/Y1 capacitor 0.0022uF/250VAC YSU C6,C7,C8,C10,C11
I | 0014 MKO00103 |spring piece 0.5t%22.67%6.5%42.5_V1.0 Lock MOS TUBE
I | 0015 CB00295  |electrolytic capacitor 820uF/180V ¢ 25%35 C13,C14
| | 0016 NI04253  [sleeve-RS ¢ 28*50M T-2 MK00103
I | 0017 SD00317  |integrated circuit NIM7912FA(TO220F)/(JRC) U2
| | 0018 MEQ00226 [screw-RS M3*0.5PH 1C*2+shrapnel*9
I | 0019 SA00316 |bridge rectifier-RS 8A GBU-8K/(PANJIT) D12
I | 0020 NCO1179  |insulator spacer-RS 0.13t*40mm*55mm(HI-FLOW-625) stick on Q1, Q5
|| 0021 CB00335  |electrolytic capacitor-RS 1000uF/16V ¢ 8*20mm (89,C90
|| 0022 RA01063  |metal-oxide-film resistor 3W 0.1Q 2% P type R40
| | 10023 RH00033 |thermistor-RS-CT 50 B57235S8-0509MO000/AEPCOS) R6
|| 0024 SD00380  |integrated circuit-RS NIM7812FA(TO220F)/(JRC) Ul
| | 0025 AC00603 |lead free soldering bar S100
| | 0026 SB00284 |transistor-RS IRFB4020PBF(TO220AB)/(IR) 06,Q07,08,Q09
|1 0027 NC04098  |insulator spacer-RS 0.13t%27.5*40mm(HI-FLOW-625) stick on Q6, Q7/Q8, Q9
| | 0028 ND01210 |cushion-RS 8t*45%10mm(E-4382) stick on C13/C14
I | 0029 CB00436 |electrolytic capacitor-RS 1000uF/63V LSR ¢ 16%25mm (28,C31,C32,C64




I | 0030 CF00277  |metal-film capacitor-RS 0.22uF/100V C242A224K2SC000/(Fara) (C52,C53

| | 0031 CB00438 |electrolytic capacitor-RS 470uF/25V LSR ¢ 8*20mm C1,C2

I | 0032 CF00284  |metal-film capacitor-RS 0.1uF/630V C822J104J60C000/(Fara) C26

| | 10033 RH00037 _|thermistor-RS-ACT 3302 PTFLO4BG222Q2N34B0/(MURATA) PR200

I | 0034 CF00279  |metal-film capacitor-RS 1.0uF/250V C322E105J60C000/(Fara) (C50,C51

| | }0035 SB00369 | Transistor-RS FDP18NS0(T0O220)/FAIRCHILD Q1,Q5

| | 10036 CN00359 _|inductance 5.0mH ¢0.7%30T L3,L4

| | }0037 CG00126 | X2 capacitor-RS 0.33uF/275V +10%(C42P2334K6SCO00)(FARA) C9,C12

| | }0038 TC00585  [Transistor PT-DM 350W+175W(ER35)_230V Tl

| | 0039 NIO7555  |insulator TT12 0.5t%95%93_V1.0

| 11 -0001 [NI0O4630 [film-RS-CT 450%605*0.5mm 0.184kg_V1.0

| | 0040 CGO0130 | X2 capacitor 0.47uF/305V 20%(C42Q2474M6HCO00)(FARA) C5

|| 0041 HA01919 |jump Smm PRI,R110

111 S0001 |[HA02249 [wire ©0.6_FEE

| | 0042 MI06323  |heat-shassis TS212 2t%40*100*206_V1.2

I | | 0001 |[ME00221 [iron pillar M3#8*0.5PH_V1.1

| | 120002 |MJO00S5 |AL plate-RS 2%2000%1000 10.88kg

| | 10043 CN00372 |Inductance 22uH T94-2 L8,L9

| | 0044 HK18335 |PC board P-DM 300W+300W_AI

I || 0001 |CBOO112 |electrolytic capacitor 10uF/35V 105C ¢ 4*7mm 2.5mm C95

| 1 | }0002 [CF00183 [metal-film capacitor MSC 0.1uF/100V 5% CASEO] C79,C80

I | | 0003 |CBO0ISS |electrolytic capacitor 10uF/63V ¢ 5%11mm 2.5mm C37

I | | 0004 |CB00034 |electrolytic capacitor 33uF/16V ¢ 5%11mm 2.5mm (C83,C84

I |1 0005 |CC00074 |mylar capacitor-RS-ACT 0.01uF/100V 3% C27

| 1 1 }0006 [CA00131 [ceramic capacitor-RS 0.01uF/1000V Z5U C15,C16,C25

I 11 0007 |CB00409 |electrolytic capacitor-RS 22uF/16V 105C ¢ 5%11mm (C45,C46

| |1 0008 |CB00469 |electrolytic capacitor-RS 100uF/16V LSR 105°C ¢ 5%11mm (34,C35,C38,C3,C4
I | | “0009 [HKI8333 |PC board P-DM 300W+300W_SMD

I |1 | }-0001|SFO0083 |transistor MMBTS551LTIG(SOT23)/(ON) Q4

I 111 }0002|RD00298 |SMD precise resistor 1/10W 47.0Q £1% 0603 R23

| 1 1 1 [0003[SE00012 [SMD rectifier diode-RS BAVI03(PHI) D15,D16,D22,D23

| 11 1 }0004[SG00122 [SMD integrated circuit-RS-ACT NIM4580M-TE3(DMP8 )/(JRC) Us

| 11 1 }0005[SE00054 [SMD L.E.D yellow 19-21UYC/S530-A2/TR8 DS1,DS2

1 | | 1 F0006/RD00327 [SMD precise resistor 1/10W 8.20KQ £1% 0603 R75,R76

| 11 1 }0007[RD00355 [SMD fixed resistor 1/10W 4.7Q £5% 0603 R79,R80

1111 0008 RD00214 [SMD precise resistor 1/10W 10.0KQ %1% 0603 ELQ;ETMR%VR”‘RGO'RIU
| 11 1 [0009[RD00059 [SMD fixed resistor 1/10W 0.0Q +5% 0603 R109

1 | | 1 F0010[RD00209 [SMD precise resistor 1/10W 4.99KQ +1% 0603 R73,R74

I 11| }0011|RD00224 |SMD precise resistor 1/10W 100K Q £1% 0603 RO,R12,R13,R14,R26,R27
1 | | 1 F0012|RD00460 [SMD precise resistor 1/10W 56092 1% 0603 R64

I 111 }0013|RD00466 |SMD precise resistor 1/4W 2.0KQ £1% 1206 R35,R36,R102,R103
I | | 1 [0014|RD00255 [SMD precise resistor 1/4W 100K Q +1% 1206 R7,R8

I 111 }0015|RD00506 |SMD precise resistor 1/10W 3.30KQ 1% 0603 R77,R78,C72

I | | 1 F0016/RD00512 [SMD precise resistor 1/10W 180K Q2 £1% 0603 R92

1 1 | 1 F0017|RD00219 [SMD precise resistor 1/10W 20.0KQ £1% 0603 R71,R72

I | | 1 F0018RD00399 [SMD precise resistor 1/4W 10.0KQ £1% 1206 R57,R58

1111 }F0019|RD00282 |SMD precise resistor 1/10W 1.00K Q) £1% 0603 R21,R39,R63,R91

I 111 F0020{RD00272 [SMD precise resistor 1/10W 10.0Q %1% 0603 I::gi?ll::zi(;}iégilam
1 | | 1 0021 |RD00274 [SMD precise resistor 1/10W 10092 +1% 0603 R69,R70

1 | | 1 F0022|RD00414 [SMD precise resistor 1/10W 3.90KQ 1% 0603 R28,R22

1 | | 1 F0023|RD00385 [SMD precise resistor 1/10W 3.01KQ £1% 0603 R47,R48

1| | 1 F0024|RD00415 [SMD precise resistor 1/10W 4.70KQ £1% 0603 R85,R86

11 |1 [0025[RD00400 [SMD fixed resistor 1/4W 22092 5% 1206 RI,R17

1 | | 1 F0026/RD00525 [SMD precise resistor 1/10W 33.0KQ 1% 0603 R55,R56

1 | | 1 F0027|RD00303 [SMD precise resistor 1/10W 57.6KQ £1% 0603 R33,R34

11 | 1 F0028|RD00200 [SMD precise resistor 1/10W 1509 +1% 0603 R46

1111 }0029|CI00096  |SMD ceramic capacitor 0603 S560PF/SOV NPO 5% C20

I 111 }0030|CI00145 |SMD ceramic capacitor 0805 0.0015uF/50V X7R £10% C60,C61,C62,C63,C67,C68
I 111 }0031|CI00154 |SMD ceramic capacitor 1206 0.1uF/100V X7R £10% (33,069

I 111 }0032|CI00185  |SMD ceramic capacitor 0603 0.1uF/50V X7R£10%(C1608X7R1H104KT)/TDK ?;&%g?;? 974.(51&;(‘82
1111 }0033|CI00179  |SMD ceramic capacitor 0603 0.22uF/25V X7R*10%(C1608X7R1E224KT)/TDK Cd4

| 111 0034]c100195  [SMD ceramic capacitor 1206 4.7uF/25V Y5V (GRM31CB11E475ZA01D) CORCDOTTOC TR
I 111 }0035|C100206 |SMD ceramic capacitor 0603 0.047uF/50V £10%(C1608X7R 1H473KT)/TDK C18,C49

I 111 }0036|C100201  |SMD ceramic capacitor 0603 0.01uF/50V *10%(C1608X7R1H103KT)/TDK (C58,C59

I 111 }0037|CI00051  |SMD ceramic capacitor 0603 22PF/50V COG5%(C1608C0OG1H220IT)/TDK C43

1111 }0038|C100220  |SMD ceramic capacitor 0603 220PF/50V COG +5%(C1608COG1H221JT)/TDK (39,C42

| 111 [0039[SF00082 [transistor-RS-ACT MMBT5401LT1G(SOT23)/(ON) Q3

I |1 | [-0040|RD00541 |SMD precise resistance 1/10W 0Q=%1% 0603 350W+175W
I 11 | [0041|RD00596 |SMD precise resistor-RS 1/4W 10.0Q *1% 1206 R37,R38,R96,R99
1111 }0042|CI00269 |SMD ceramic capacitor-RS 1206 1.0uF/25V X7R £10% (C23,C41

| 111 0043 [SE00089 [SMD zener diode-RS 12W 5.1V(MMSZ5231B)(SOD-123)/(PANJIT) D5,D19

I 11 | }-0044|RD00636 |SMD precise resistor-RS 1/4W 470K Q £19% 1206 RI8R52

| 111 [0045[SE00098 [SMD zener diode-RS-C 1W 15V DL4744A MELF/(S]) D14

|1 11 [0046[SG00495 [SMD integrated circuit-RS IR2156SPBF(SO14)/(IR) U3

1111 }0047|CI00279  |SMD ceramic capacitor-RS 1206 0.0022uF/200Vx7R*10% R94

I 111 [0048|CI00306 |SMDceramic capacitor-RS 1.0uF/25V X7R £10% C21,C22

I 11| [F0049|AE00553 |SenJu solder paste M705-GRN360-K2-V 0.5KG/bottle

I 11 1 [0050|RD00697 |SMD precise resistor-RS 390.0Q+19% 0603 R51

| 1 1 1 [0051[SE00133 [SMD zener diode-RS 225mW 12V BZX84C12LT1G(SOT23) DI8

I | |1 [0052[SE00134 [SMD rectifier diode-RS-ACT 1A 600V MURS160T3G (SMB)/(ON) D13

| 111 [0053[SG00667 [SMD integrated circuit-RS IRS2092S(SOIC16N)/(IR) U7,U8

I 111 }0054|CI00328 |SMD ceramic capacitor-RS 1206 150PF/630V COG +5%(C3216C0G2J1511)/TDK C47,C48

I 1 11 [-0055|SE00149 |SMD double-direct triy diode-RS 1A/30V RB160M-30(ROHM) D3,D4




| 11 1 [0056[RD00818 [SMD fixed resistor 2W 2.2KQ $5% 2512 R43,R44

I 1 11 [0057|RD00800 |SMD precise resistor 1/8W 10.0Q *1% 0805 RI12,R113,R114,R115

| 11 1 [0058[{SG00729 [SMD integrated circuit-RS-ACT MC78M12CDTRKG(DPAK-3)/(ON) U4

|11 1 [0059[SE00156 [SMD diode-RS-ACT 1A/200V ES1D(SMA)/(FAIRCHILD) D1,D2,D20,D21,D28

1111 }0060|CI00356 |SMD ceramic capacitor 1206 0.1uF/250V X7R *10%(GRM31CR72E104KW03L) L;&ﬁjléz;ltggé |7(Z7.L,78

I 111 [0061[SE00161  [SMD diode-RS 2A/200V ER2D 35nS(DO214AA)/(PANJIT) 4Dg)3,§Df)(26D3ID}Z,DS}.D}

I 111 }F0062{CO00168 [SMD inductance-RS-ACT 1000Q+25%(BLM18RK102SN1D) ;?’II‘;‘ILIIS'U LLI4LISLI

1111 }0063|CI00366 |SMD ceramic capacitor 0805 220PF/250V COG 15% C100,C101,C102,C103

I | 1| }-0064|CI00387 |SMD ceramic capacitor-RS 0.0022uF/250V X7R £10% (C54,C55

| 1 | | }0065[SE00177 [SMD rectifier diode-RS 0.5A LLA148(SOD-80)/(VISHAY) DT DZRDZ D0

| 111 [0066[SE00189 [SMD diode-RS-ACT 8A/200V STTH802B-TR (DPAK)/(ST) BD1,BD2,BD3,BD4

| 1 1 1 [0067[RD00945 [SMD resistance 1/4W 1.0Q +1% 1206 R87,R88

I 111 [0068|RD00957 |SMD precise resistor 1/10W 4.3KQ 1% 0603 R31,R32

11| 1 0069 RD00293 [SMD precise resistor 1/10W 17.4KQ £1% 0603 R29

I |1 | [0070|RD01001 |SMD precise resistance 1/10W 24K Q +1% 0603 R53,R54

| 11 1 [0071[{HB04061 [PCB DM 400W-+200W_VER150720

| 111 [0072{SB00379 [Photodiode LTV-817S-TA1-C(LITEON)/ U6

| 111 “0073[RD00123 [SMD fixed resistor 1/10W 470K Q £5% 0603 R2,R3,R4,R5

| | 0045 MCO01371 |top cover TS212 1.5t%19.5%95.6%163_V1.0

11 1 “0001 [MJ00069 |iron board 1.5%2135%1220 30.67kg

| | 0046 MG00269 [screw-RS M3*6 fix the top cover

I F0020 NI00218 _|cable tie ALT-102SB

| }-0021 ND01444 |EV foam 0.5t%650*3mm_V1.0 pasted on the sealed box
| 0022 MAI11189 |panel TS215S ALTO CHINA_V1.1

| 1 -0001 MAI11187 |panel TS 212 SUB 2t%235%268

| 11 }0001 [AE00055 [solvent solvent

| |1 0002 |AE00201 |. 5041

I 11 0003 [MA11186 [panel TS 212 SUB 2t%235%268_V1.1

I | | 1 0001 [ME00001 [screw pillar-RS M4*10%0.7PH_V1.0

I | |1 }0002[ME00319 |iron pillar-RS-CT 6.35*M3%26.5_V1.0

I 11 | }0003|ME00038 |iron pillar 6.35*M3*8.4_V1.3

| 111 20004 [MJO1580 [single light board-RS 2.0t*¥1850*1250mm 36kg

| 10023 NIO7837 |fixed bracket TS 212 SUB 81*187.5%24.5_V1.0

| 0024 NI02527  |knob-RS ¢ 14*13mm_V1.3

| 0025 HA06363 |header wiring 7P-7P 200mm UL1007 26AWG

| 0026 NC04781  |Insulator ¢ 7.5_ES503_DB stick to AC Jack
0021 HA00861 |power cord Europe 3P LT-312+LT-501

10022 NI02590  |cable tie YJ-203V0 UL94V-0 fix the speaker wire*1
}-0023 NF04684  |user manual TS2 SUB ALTO_V1.0

10001 NH00231 |paper 889*554mm

10024 NI00218 |cable tie ALT-102SB LED wire*1
}-0025 ND01485 |sponge 1t¥15%13.7 black_V1.0 pasted on the LED support*1
10026 NBO8875 |carton TS215S ALTO_V1.0

10027 NE27160 |lable TS215S_V1.0 stick to the right corner of grille
10028 NI07857 [3M VHB 11%31.3%26.4 (3M 4952)_V1.0 stick to the back*2
10029 NIO7836  |mark TS 212 SUB 30.35%11.03%90.22_V1.0

10030 MD02088 _|iron net TS215SUB 1.2t%76.7*545.3*491_V1.0

10031 HA06368 |wire 4P 280mm UL1007 18AWG

| 0001 HA06369 |wire 4P 280mm UL1007 18AWG

110002 (CN00283  |high frequency magnetism encircle-RS @ 16*16 (742700752)/WURTH ELEKTRONIK

L0032 NE26801 [label NUMARK SERIES_V1.0 pasted to the PE bags
| 10001 NI02598  |membrane 125mm

110002 NI00068  |Scotch tape 0.16%¥1M




Rank Part No Description Specification Insert Location Remark
PC03022 PC03022 |SPEAKER TS218S_ALTO_110V-120V_CHINA_(NUMARK)

10001 NC05055 _[box

1 0001 NI02426  |foot cushion ¢ 37%15.5mm PGHA1022ZA/J1_P_A

| 10002 MI02042 |handle-RS 220%163.5%63mm _V1.0

| 0003 ME00082 |nut-RS M5*0.8PH*10.6_V1.2 Lock the woofer

| 0004 ME00083  [nut M6*1.0PH*11.6_V1.2 Lock the pole mount

| 0005 ME00085  [nut M4*(0.7PH*9.3_V1.2 Lock the handles on two sides
| }-0006 screw M4*16 Lock the handle*12

| 10007 screw-RS M4*30mm Lock the handle*8

1 0008 MG00670 [SCREW-RS M6*40 Lock the pole mount*4

| 0009 ND00242 |EV foam 43*47.5%1.5mm stick to the handles on two sides
| 0010 ND00634 |EV foam--RS 2.0t*300%15mm black_V1.0 stick to the pole mount

| 0011 ND00635 |EV foam--RS 2.0t%700%15mm black_V1.0 stick to the handles

| 0012 MGO0751 [screw-RS M4*20MM lock the feet*4

| 10013 MH01704 |handle-RS ELVIS ¢ 110%96_V1.3

| }0014 NH00784 |Tube TS218S ¢ 148* ¢ 156*400_V1.0 used for the cabinet*2

| }-0015 NC05074 |top cover TS 218S 628*523.3*18mm_V1.0

| | 0001 NC03657 _|Plywood-RS-CARB 2440%1220%18t

| _}-0016 NC05075 _|chassis TS 218S 628*523.3*18mm_V1.0

| | 0001 NC03657 |Plywood-RS-CARB 2440%1220%18t

| 0017 NC05076 |[side cover board TS 218S 641*561%18mm left_V1.0

I | 0001 NC03657 |Plywood-RS-CARB 2440%1220%18t

| 0018 NC05077 [side cover board TS 218S 641*561*18mm right_V1.0

| | -0001 NC03657 |Plywood-RS-CARB 2440%1220%18t

| 0019 NC05078 |front board TS 218S 641%495%18mm_V1.0

| | -0001 NC03657 _|Plywood-RS-CARB 2440%1220%18t

| 0020 NC05079 _|rear board TS 218S 641*386*18mm_V1.0

| | -0001 NC03657 _|Plywood-RS-CARB 2440%1220%18t

| 0021 NC05063  |rear board TS 2128 277.5%310.5%18mm_V1.0

| | -0001 NC03657 _|Plywood-RS-CARB 2440%1220%18t

| 0022 NCO5080 _|barrier TS 2188 500%110*15mm_V1.0

| | -0001 NC03656 |Plywood-RS-CARB 2440%1220%15t

| 10023 NCO05081 |billet TS 2185478.6*85*15mm_V1.0

| | -0001 NC03656 |Plywood-RS-CARB 2440%1220%15t

| 0024 AE00684 |Paint LTS-6072 25KG/Pail

| 10025 AE00686 |Paint LTS-6071B 10KG/Pail

| 0026 AE00687 _|Paint DTS-1202-1 20KG/Pail

| 10027 AE00688 |Paint DTS-1021A-1 20KG/Pail

| 10028 AE00689 |Paint DTS-1021B 10KG/Pail

| 10029 AE00692 |Paint PU-010-4 170KG/Pail

| 10030 AE00693  |Paint MTS-2209 20KG/Pail

| 10031 AE00694  |Paint LTS-6070B-1 10KG/Pail

| 0032 ND01273 |absorb sound sponge-RS 470%360*30t 500g/m UL 437010153_V1.0

| -0033 NDO1552 |Absorb sound sponge-RS TS218S 1250%450*30t 500g/mUL_V1.0

}-0002 HK18346 |speaker 18inch 600W 8 Q(TS218S)

| 0001 NHO00413 |caushion-RS EVA black_V1.3

| 0002 NH00414  |dust-proof shade-RS-ACT 17_V1.0

| 0003 NDO1380 |wind-proof sponge-RS ¢ 34*30H 20°_V1.0

| 0004 MHO01986 [magnet-RS ¢ 180%95%20 Y30_V1.0

| }-0005 MI05996 _ [bracket-RS ¢ 459.8%105*155.2 P:128_V1.0

| 0006 MG00263 |screw MS5*8 Lock the washer and bracket*4
| 0007 HC00882 _[terminal-RS 6.3#+6.3#3.5%3.5_VL.0

| 0008 HA04554  |line-RS TA2J7Y18H2KA33/42WB*2*180mm

| | -0001 HA04553 [line-RS TA2J7Y18H2KA33/42WB* 1M

1 0009 NH00415 [cone-RS © 440% ¢ 76.5%120_V1.1

| 0010 ND00693 |damper-RS ¢ 191* ¢ 75.8*16 0.4/100g TC:D-1940B

| 0011 MHO02767 |T type middle pillar ¢ 165%74.25%31.5%8 ¢ 30

| 0012 MH02464 |iron coil-RS @ 175%78.5%10 P:128 TL:W175-50_V1.0

| 0013 NE27055 _|label HK18346_V1.0

| | H0001 NIO001S  |membrane 0.04*1M

|1 -0002 NHO00012 |bond paper 0.04*1M

| H0014 MF00020 |washer @ 5* @ 12*1t

| L0015 HGO00595 [ voice coil TIL/AL ¢ 74.88%56*5.2Q%0.27 22.2 EI

}-0003 NIO7835  |net TS218S 5t%625%551.4_V1.0 stick to the back of grille*1
10004 HA06358  |wire 550mm UL1015 18AWG+Capacitance speaker wire* 1

| 0001 CF00245  |metal-film capacitor-RS 0.0022uF/400V 5% ESK400D22JA

| 10002 HA06357 _[wire 550mm UL1015 18AWG

10005 ND00665 |EV foam-RS 950%15%2.0mm black_V1.0 stick to the AMP

}-0006 ND00633 |EV foam--RS 1.0t%1500% 1 5mm black_V1.0 pasted on the two sides of grille
10007 ND00701 |EV FOAM 1370%15%2.0mm pasted on the woofer
}-0008 MG01030 |Screw-RS M3#20 lock the grille*8

0009 MG00350 |screw-RS M5*30 lock the woofer*8
{0010 MGO00351 |screw-RS M4*16 fix the amp and cabinet*8
0011 HA00841 [power cord(America 3P) LT-202+18A*3C(SVT) 6FT+LT-501

0012 HK17710 |PC board P-TS212 Logo LED-DIP to fix the logo

| 0001 HK17709 [PC board P-TS210 LED--SMD

| | H0001 HB04153 |PCB-RS TS212 LOGO LED (4%8)_VER150908

| | 0002 SE00270 |SMD L.E.D blue MS-PTB414SUBC LED1

| | -0003 AE00553  |SenJu solder paste M705-GRN360-K2-V 0.5KG/bottle

| 10002 HC00253 |connector(male) 2P 2.0mm 180 CN1

| -0003 AC00603 |lead free soldering bar S100

10013 NI07597 |LED lens TS212 16.69%10.32%8.15_V1.1

{0014 HA04308 |header wiring 2P-2P 700mm UL1007 26AWG red/white connect the LED of logo
10015 NA00923  |PE bag-RS 0.035t*1300%*1500mm12 hole speaker* 1, guarantee* 1, carton*2
0016 NAO0858  |PE bag-RS 0.04t*240*160mm_V1.0 pack the user manual and guarantee




}-0017 NAQ1719 |sponge barrier TS218S_V1.0

[-0018 NE27063  |label TS218S_V1.0 Inside and outside*1 , carton *1, user manual®1

10019 NE27071 |label TS218S_V1.0 speaker*1

| 0001 NIO0015  |membrane 0.04*1M

1 -0002 NHO00012 |bond paper 0.04*1M

}-0020 NF03534  |assurance card-RS ALTO PROFESSIONAL_V2.0

10021 HK18376 |Faceplate TS218S_ ALTO_110-120V_CHINA_(NUMARK) fixed to the back of the cabinet

| [-0001 HAO01271 |signle terminal wiring 60 (PC250,PC187) SW TO AC Jack

| 10002 HAO01287 |wire-RS 60mm UL1015 18AWG blue SW TO AC Jack

| 10003 HA03186 |wire 100mm UL1015 14AWG GND

| 0004 HA04141 |wire 100mm UL1015 18AWG blue AC SW to AC Jack

| 10005 HA04143  |wire 100mm UL1015 18AWG brown AC SW to AC Jack

| }-0006 HC00331 |AC socket RF-2004

1 }-0007 HD00018 |glass tube fuse 6.3A 250V ¢ 5.2%20mm CCEE/CSA/S/UL/VDE

1 0008 HI00475  [power switch-RS 2%2P RF-1003-BBASE2X1T

| 10009 ME00016 _[color nut 4m/m GND

| _}-0010 MF00014 _|washer ¢ 3% ¢ 6.5%0.5t AMP*6

| 0011 MF00038 |washer-RS P4*F @ TFIt GND

| 0012 MF00048 _[washer-RS Q4% ¢ 8%0.5t GND

| 10013 MGO00061 |screw-RS M3*10CYfRIEE) MIC*8, sealed box*16

| 0014 MG00162_|screw AMP*6

| 0015 MG00163  [screw fix the soldering tag*1, PRE GND*1

| 0016 NIOI862  |key _

| 0017 NIO6123  |key 9.2%9.2%7.3(3.3*3.3)_V1.0

| 0018 HK18369 |PC board P-TS218 SUB-PRE-DIP

| | 0001 HC00253 _|connector(male) 2P 2.0mm 180" CN4

| | 0002 HC00392 |balance MIC jack-RS JY-5030-030G 180° JK1,JK2

| | 0003 HCO01212  |balance MIC jack-RS K6X01V-6-3A J1,12

| | 0004 HI00162  [push-button switch 2 paragraphs 6p PS-22E8552L SW2,SW3

| | 0005 HIO0163  |push-button switch 2 stage 12P PS-42E85 SW1

| | H0006 NI02532  |LED spacer support LEDS-22 22mm

| | H0007 RC01034  |Potentiometer-RS 30A103-Q1-FA265B120-10K L26.5FCx12 VRI

| | H0008 SA00051 |L.E.D ¢ 3 orange,green 28/30/32mm DLS

| | H0009 SA00052 |L.E.D ¢ 3 round(green)long foot 26 DL1,DL2

| | 0010 SA00053 |L.E.D ¢ 3 round(red)long foot 26mm DL4

| | H0011 SA00054 |L.E.D 3m/m round(yellow)long foot 26 DL3

| | H0012 AC00603 |lead free soldering bar S100

| | 0013 HK18373 |PC board P-TS218 SUB-PRE-AI

| . L C1,C2,C3,C6,C7,C35,C36,

I 11 0001 |CB0O0192 |electrolytic capacitor 10uF/16V ¢ 4¥7Tmm C37.C38.CA2.CT0

I |1 0002 |CB0O0193 |electrolytic capacitor 4TuF/16V ¢ 6%Tmm (C51,C52,C53

I | | 0003 |CB00251 |electrolytic capacitor 220UF/25V ¢ &*11mm C103,C104

I || 0004 |CB00262 |electrolytic capacitor 47uF/16V NP ¢ 6.3*] 1lmm C100

| 11 }0005 [HKI8371 [PC board P-TS218 SUB-PRE-SMD

| 11 1 }0001[RD00059 [SMD fixed resistor 1/10W 0.0Q +5% 0603 C56,C57,R111,R112,TS218]

| 11 1 }0002[RD00075 [SMD fixed resistor 1/10W 300Q +5% 0603 R44,R45,R46,R47

| 1 1 1 [0003[RD00135 [SMD fixed resistor 1/4W 3309 5% 1206 R134

I 11 | }0004|RD00203 |SMD precise resistor 1/10W 2.00KQ 1% 0603 R81,R82,R83,R84

I 11 1 }0005|RD00209 |SMD precise resistor 1/10W 4.99KQ +1% 0603 R38,R39,R96,R98

1 | | 1 F0006[RD00204 [SMD precise resistor 1/10W 249K Q £1% 0603 R97

I 11 | }0007|RD00210 |SMD precise resistor 1/10W S.11KQ 1% 0603 RI114,R115
R1,R2,R3,R4,R5,R8,R9,R3
6,R37,R40,R41,R42,R43,R
102,R103,R104,R105,R106

I 111 }0008|RD00214 |SMD precise resistor 1/10W 10.0KQ £1% 0603 JRI0,R11,R75,R76,R16,R1
7,R19,R130,R57,R59,R60,
R61,R62,R63,R64,R65,R66
R67.R86.R87.R88.R89

11 | 1 0009 |RD00302 [SMD precise resistor 1/10W 28.0KQ £1% 0603 R6,R7

I 1 1 | [F0010|RD00215 |SMD precise resistor 1/10W 13.0KQ £1% 0603 R137,R138

I | | 1 [0011[RD00216 [SMD precise resistor 1/10W 13.3KQ £1% 0603 R80

I 111 }0012|RD00219 |SMD precise resistor 1/10W 20.0KQ £1% 0603 R107,R108

1 | | 1 [0013|RD00224 [SMD precise resistor 1/10W 100K Q £1% 0603 RI21

1 | | 1 [0014|RD00272 [SMD precise resistor 1/10W 10.0Q £1% 0603 R85

I 11| [0015|RD00282 |SMD precise resistor 1/10W 1.00KQ £1% 0603 RI118,R133

I 1 11 [0016|RD00289 |SMD precise resistor 1/10W 8.06K Q2 £1% 0603 RI2,R13

I 111 }0017|RD00290 |SMD precise resistor 1/10W 47.5KQ +1% 0603 R48,R49,R50,R51

1 1 | 1 [0018|RD00293 [SMD precise resistor 1/10W 17.4KQ £1% 0603 R109

11 1 1 [0019|RD00300 [SMD precise resistor 1/10W 6.04KQ £1% 0603 R55

I 11 | }0020|RD00328 |SMD precise resistor 1/10W 8.66K Q2 £1% 0603 R72,R110

1 | | 1 [0021|RD00330 [SMD precise resistor 1/10W 39.0KQ 1% 0603 R129

1 | | 1 [0022|RD00334 [SMD precise resistor 1/10W 11.0KQ *1% 0603 R94,R120

. J ’ . R22.R23.R24.R25. R26.R28

1111 [0023[RD00339 [SMD precise resistor 1/10W 47.0KQ +1% 0603 RI0R3LRIZRIARSS

1 | | 1 [0024|RD00344 [SMD precise resistor 1/10W 11.5KQ £1% 0603 R95,R117

1 | | 1 [0025|RD00362 [SMD precise resistor 1/10W 95302 1% 0603 R32

1 | | 1 [0026|/RD00363 [SMD precise resistor 1/10W 3.16KQ £1% 0603 R52

1 | | 1 [0027|RD00367 [SMD precise resistor 1/10W 15.4KQ %1% 0603 R122

1 | | 1 [0028|RD00368 [SMD precise resistor 1/10W 16.5KQ £1% 0603 R54

11 | 1 [0029|RD00371 [SMD precise resistor 1/10W S1.IKQ £1% 0603 R53

1 | | 1 [0030[RD00386 [SMD precise resistor 1/10W 4.75KQ £1% 0603 R90

I 11| }-0031|RD00415 |SMD precise resistor 1/10W 4.70K Q +1% 0603 RI125,R126,R131

I 11| }0032|RD00457 |SMD precise resistor 1/10W 150K Q £1% 0603 R101

1 | | 1 [0033|RD00497 [SMD precise resistor 1/10W 36.5KQ £1% 0603 R92

I | |1 [0034|RD00544 [SMD precise resistance 1/10W 22Q£1% 0603 R127

I |1 | }0035|RD00545 |SMD precise resistance 1/10W 49.9 Q%1% 0603 R99,R100

1 | | 1 [0036/RD00550 [SMD precise resistor 1/10W 27.0KQ £1% 0603 R132




1 | | 1 [0037[RD00709 |SMD precise resistor-RS 1.37K Q%1% 0603 RI128

| 111 [0038[RD00721 [SMD fixed resistor-RS 1/10W 22.1KQ £1% 0603 R124

| 11 1 [0039[RD00856 [SMD fixed resistor-RS 1/10W 23.2KQ £1% 0603 R77

| 111 [0040[{RD00859 [SMD fixed resistor-RS 1/10W 9.09KQ £1% 0603 R116

1 | | 1 [0041[RD00870 [SMD precise resistor-RS 1/10W 10.2K Q £1% 0603 R78

| 111 [0042[RD00894 [SMD fixed resistor-RS 1/10W 46.4K Q2 +1% 0603 R20,R27

11 | 1 [0043|RD00928 [SMD precise resistor 1/10W 22.0KQ £1%0603 R123

11 | 1 0044 |RD00959 [SMD precise resistor 1/10W 16.90K Q£1% 0603 R93

| 11 1 [0045[RD00967 [SMD resistance 1/8W 6.98KQ £1% 0805 RI14,R15

I | | 1 [0046[RD01038 [SMD fixed resistor-RS 1/10W 40.2KQ £1% 0603 R21,R29

| 11 1 [0047[RD01040 [SMD fixed resistor-RS 1/10W 16.2KQ +1% 0603 R79

1 | | 1 [0048|RDO1115 [SMD precise resistor 1/16W 3.0KQ +1% 0603 RI113
C8,09,C10,C11,C12,C13,C

1111 }0049|CI00051  |SMD ceramic capacitor 0603 22PF/50V COG5%(C1608C0OG1H220IT)/TDK 322;3; 243(() 22 IC?Z;Z 3
,C34,C43,C44

I 111 }0050|CI00055 |SMD ceramic capacitor 0603 47PF/50V COG£5%(C1608C0G 1H470JT)/TDK (C54,C62

I 111 }0051|CI00175 |SMD ceramic capacitor 0603 1.0uF/16V X7R£10%(C1608X7R1C105KT)/TDK C101

1111 }0052|CI00179  |SMD ceramic capacitor 0603 0.22uF/25V X7R*10%(C1608X 7R 1E224KT)/TDK (C40,C41,C49,C50,C61,C80
€69,C71,C72,C73,C74,C75
,C76,C77,C78,C81,C82,C8
3,C84,C85,C86,C87,C88,C
89,C90,C91,C92,C93,C94,

I 111 [0053[CI00185  [SMD ceramic capacitor 0603 0.1uF/50V X7R£10%(C1608X7R1H104KT)/TDK €95,C96,C111,C112,C113,
Cl114,C115,C116,C117,C11
8,C119,C120,C121,C122,C
123,C124,C125,C126,C127
.C128,C66,C98.C99

1111 }0054|C100202  |SMD ceramic capacitor 0603 0.015uF/50V £10%(C1608X7R 1H153KT)/TDK C60

I 111 }0055|C100207 |SMD ceramic capacitor 0603 0.056uF/50V £10%(C1608X7R IH563KT)/TDK C59

1111 }0056|C100209 |SMD ceramic capacitor 0603 0.082uF/50V £10%(C1608X7R 1H823KT)/TDK C63,C64

| 11 1 [0057{CI00211 [SMD ceramic capacitor 0603 (.15uF/25V X7R*10%(C1608X7R1E154KT)/TDK C55

1111 }0058|C100220  |SMD ceramic capacitor 0603 220PF/50V COG £5%(C1608COG1H221JT)/TDK C65

1111 }0059|C100224  |SMD ceramic capacitor 0603 470PF/50V COG +5%(C1608C0G1H471JT)/TDK C102

| 11 1 }0060{CI00330 [SMD ceramic capacitor-RS 0805 10uF/16VE10%(GRM21BB31C106K)/(MURATA) C4,C5

1111 }0061|CI00349  |SMD ceramic capacitor 0805 4.7uF/25V X5R £10% (C47,C48,C97

1111 [0062{CI00404  [SMD ceramic capacitor-RS-ACT 0603 0.47uF/16V (GRM188B31C474KA87D)/(Murata) C67,C68,C79

| 111 [0063[C0O00168 [SMD inductance-RS-ACT 1000 Q25%(BLM18RK102SN1D) L1,L2,L3,L4R135R136

| | I | F0064|SF00038 _|transistor RK7002(ROHM) TRI

| | I | F0065|SF00053 _|transistor MMBT3906(SOT23)/(PHI) TR2

| 11 1 [0066[SG00033 [SMD integrated circuit LM358DT(SO8)/(ST) Ul18
UL.U2U3,U4,U5.U6.U7.U

I 111 F0067({SG00122  [SMD integrated circuit-RS-ACT NIM4580M-TE3(DMP8 )/(JRC) 8,U10,U11,U12,U15,U16,
U9,U13,U19

| 11 1 [0068[SG00194 [SMD integrated circuit NIM13600M-TE1(DMP16)/(JRC) Ul4

|11 1 }0069[{SG00306 [SMD integrated circuit LM393DR(TD/(MEXICO) U17,U20

I 11 | }0070|AE00553 |SenJu solder paste M705-GRN360-K2-V 0.5KG/bottle

| 1 1 1 [0071[SE00177 [SMD rectifier diode-RS 0.5A LL4148(SOD-80)/(VISHAY) D2,D3,D4

| 1 1 1 [0072[SE00155 [SMD Schottky barrier diode-RS-ACT BAT 64-04(SOT-23)/(INFINEON) D1

ale p . . , g ; . ZD1,7ZD2,7D3,7D4,7D5,7,

I 111 [0073[SE00243  [SMD zener diode-RS 12W 12V MMSZ5242A(SOD123)/PANJIT D6.2D7.7D8

1 | | 1 F0074|RD01167 [SMD precise resistor 1/10W 127K Q £1% 0603 R56

| 111 -0075[HB04398 [PCB TS2 SUB PRE(1%#2)_VER160525

I 11 F0006 |CFO001SS |metal-film capacitor MSC 0.22uF/63V 5% CASE02 C39

I 11 F0007 |CF00191 |metal-film capacitor MSC 0.33uF/63V 5% CASE02 C58

11110008 |CFOOIS3  |metal-film capacitor MSC 0.IuF/100V 5% CASEOL fé';di};l‘%f’z’;'cz‘g ,e

I 11 “0009 |CB00038 |electrolytic capacitor 4TuF/16V ¢ 5%Tmm R58

I | “0014 HC00258 _|connector(male) 7P 2.0mm 180° CN3

| 0019 HK18332 |PC board P-DM 300W+300W_DIP

| 1 0001 RA00031  |metal-oxide-film resistor 2W 10Q2 P type R41,R42

I | 0002 RA00051  |metal-oxide-film resistor 2W 5.6Q R65,R66

| | 0003 NI00268  |sleeve ¢ 6*20mm PGNS1008ZA/J1_P_C R40

| |1 -0001 |NI00266 [sleeve ¢ 6*1000mm

| | F0004 MGO00162 |screw M3*8 AMP*9

| | 0005 MG00566 [screw M3*10%0.5PH_V1.0 1C*2+shrapnel*9

| | 0006 HCO00088 _|connector(male) 2P 3.9mm 180°(#3921) 13

| | 0007 HC00174 |connector(male) 4P 3.96mm 180" 15

| | 0008 HC00258 _|connector(male) 7P 2.0mm 180° 14 insert near L16

I | 0009 HA01933  |jump 2.5mm BRI

| | 0010 HC00324 |connect terminal 6.5m/m (PC250) 11,12

I | 0011 CB00151 |electrolytic capacitor 220uF/63V ¢ 10*16mm (98,C99

| | 0012 CN00069 _|inductance-EMI SUPPRESSOR-RS-ACT  |TB36-13-850485

| | 0013 CG00023 | X1/Y1 capacitor 0.0022uF/250VAC Y5U

I | 0014 MKO00103 |spring piece 0.5t%22.67%6.5%42.5_V1.0 Lock MOS TUBE

I | 0015 CB00295  |electrolytic capacitor 820uF/180V ¢ 25%35 C13,C14

| | 0016 NI04253  [sleeve-RS ¢ 28*50M T-2 MK00103

| | 0017 SD00317 _|integrated circuit NIM7912FA(TO220F)/(JRC) U2

| 1 H0018 MEQ00226 [screw-RS M3*0.5PH 1C*2+shrapnel*9

I | 0019 SA00316  |bridge rectifier-RS 8A GBU-8K/(PANJIT) D12

I | 0020 NCO1179  |insulator spacer-RS 0.13t*40mm*55mm(HI-FLOW-625) stick on Q1, Q5

|| 0021 CB00335 |electrolytic capacitor-RS 1000uF/16V ¢ 8*20mm (89,C90

| | 0022 RA01063  |metal-oxide-film resistor 3W 0.1Q 2% P type R40

| | 0023 RH00033 |thermistor-RS-CT 50 B57235S8-0509MO000/(EPCOS) R6

|| 0024 SD00380 |integrated circuit-RS NIM7812FA(TO220F)/(JRC) Ul

|| 0025 AC00603 |lead free soldering bar S100

| | 0026 SB00284 |transistor-RS IRFB4020PBF(TO220AB)/(IR) 06,Q07,08,Q09

|| 0027 NC04098  |insulator spacer-RS 0.13t*27.5*40mm(HI-FLOW-625) stick on Q6, Q7/Q8, Q9




| | 0028 ND01210 |cushion-RS 8t*45%10mm(E-4382) stick on C13/C14
I | 0029 CB00436 |electrolytic capacitor-RS 1000uF/63V LSR ¢ 16%25mm (28,C31,C32,C64

I | 0030 CF00277  |metal-film capacitor-RS 0.22uF/100V C242A224K2SC000/(Fara) (C52,C53

| | 0031 CB00438 |electrolytic capacitor-RS 470uF/25V LSR ¢ 8*20mm C1,C2

I | 0032 CF00284  |metal-film capacitor-RS 0.1uF/630V C822]104J60C000/(Fara) C26

| | 10033 RH00037 _|thermistor-RS-ACT 3302 PTFLO4BG222Q2N34B0/(MURATA) PR200

I | 0034 CF00279  |metal-film capacitor-RS 1.0uF/250V C322E105J60C000/(Fara) (C50,C51

| | }0035 SB00369 | Transistor-RS FDP18NS0(T0O220)/FAIRCHILD Q1,Q5

I | 10036 CN00359 _|inductance 5.0mH ¢0.7#30T L3,L4

| | }0037 CG00126 | X2 capacitor-RS 0.33uF/275V +10%(C42P2334K6SCO00)(FARA) C9,C12

| | }0038 TC00585  [Transistor PT-DM 350W+175W(ER35)_230V Tl

| | 0039 NIO7555  |insulator TT12 0.5t%95%93_V1.0

| 11 0001 [NI0O4630 [film-RS-CT 450*605*0.5mm 0.184kg_V1.0

| | 0040 CG00130 | X2 capacitor 0.47uF/305V 20%(C42Q2474M6HC000)(FARA) C5

|| 0041 HA01919  |jump Smm PRI,R110

111 S0001 |[HA02249 [wire ¢ 0.6_FELH

| | 0042 MI06323  |heat-shassis TS212 2t%40*100*206_V1.2

I | | 0001 |[ME00221 [iron pillar M3#*8*0.5PH_V1.1

| | 120002 |MJO00SS |AL plate-RS 2%2000%1000 10.88kg

| | 10043 CN00372 _|Inductance 22uH T94-2 L8,L9

| | 0044 HK18335 |PC board P-DM 300W+300W_AT

I || F0001 |CBOO112 |electrolytic capacitor 10uF/35V 105C ¢ 4*7mm 2.5mm C95

| 1 1 }0002 [CF00183 [metal-film capacitor MSC 0.1uF/100V 5% CASEO] C79,C80

I | | 0003 |CBO0ISS |electrolytic capacitor 10uF/63V ¢ 5*11mm 2.5mm C37

I || 0004 |CB00034 |electrolytic capacitor 33uF/16V ¢ 5%11mm 2.5mm (83,C84

I || 0005 |CC00074 |mylar capacitor-RS-ACT 0.01uF/100V 3% C27

| 1 1 }0006 [CA00131 [ceramic capacitor-RS 0.01uF/1000V Z5U C15,C16,C25

I |1 0007 |CB00409 |electrolytic capacitor-RS 22uF/16V 105C ¢ 5%11mm (C45,C46

I |1 0008 |CB00469 |electrolytic capacitor-RS 100uF/16V LSR 105°C ¢ 5%11mm (34,C35,C38,C3,C4
I | | “0009 [HKI8333 |PC board P-DM 300W+300W_SMD

I |1 | }-0001|SFO0083 |transistor MMBTS551LT1G(SOT23)/(ON) Q4

I 111 }0002|RD00298 |SMD precise resistor 1/10W 47.0Q £1% 0603 R23

| 1 1 1 [0003[SE00012 [SMD rectifier diode-RS BAVI03(PHI) D15,D16,D22,D23

| 11 1 }0004[SG00122 [SMD integrated circuit-RS-ACT NIM4580M-TE3(DMP8 )/(JRC) Us

| 11 1 }0005[SE00054 [SMD L.E.D yellow 19-21UYC/S530-A2/TR8 DS1,DS2

1 | | 1 F0006/RD00327 [SMD precise resistor 1/10W 8.20KQ £1% 0603 R75,R76

| 11 1 [0007[RD00355 [SMD fixed resistor 1/10W 4.7Q £5% 0603 R79,R80

1111 0008 RD00214 [SMD precise resistor 1/10W 10.0KQ %1% 0603 ELQ;ETMR%VR”‘RGO'RIU
| 11 1 0009 [RD00059 [SMD fixed resistor 1/10W 0.0Q +5% 0603 R109

1 1 | 1 F0010[RD00209 [SMD precise resistor 1/10W 4.99KQ +1% 0603 R73,R74

I 11 | }0011|RD00224 |SMD precise resistor 1/10W 100K Q £1% 0603 RI,R12,R13,R14,R26,R27
1 1 | 1 F0012|RD00460 [SMD precise resistor 1/10W 56092 1% 0603 R64

I 111 }0013|RD00466 |SMD precise resistor 1/4W 2.0KQ £1% 1206 R35,R36,R102,R103
I | | 1 [0014|RD00255 [SMD precise resistor 1/4W 100K Q +1% 1206 R7,R8

I 1 11 }0015|RD00506 |SMD precise resistor 1/10W 3.30KQ 1% 0603 R77,R78,C72

1 | | 1 F0016/RD00512 [SMD precise resistor 1/10W 180K Q2 £1% 0603 R92

1 | | 1 F0017|RD00219 [SMD precise resistor 1/10W 20.0KQ £1% 0603 R71,R72

I | | 1 F0018[RD00399 [SMD precise resistor 1/4W 10.0KQ £1% 1206 R57,R58

I 111 }F0019|RD00282 |SMD precise resistor 1/10W 1.00K Q) £1% 0603 R21,R39,R63,R91

I 111 F0020{RD00272 [SMD precise resistor 1/10W 10.0Q %1% 0603 I::gi?ll::zi(;}iégilam
1 | | 1 0021 |RD00274 [SMD precise resistor 1/10W 10092 +1% 0603 R69,R70

1 | | 1 F0022|RD00414 [SMD precise resistor 1/10W 3.90KQ £1% 0603 R28,R22

1 | | 1 F0023|RD00385 [SMD precise resistor 1/10W 3.01KQ £1% 0603 R47,R48

1| | 1 F0024|RD00415 [SMD precise resistor 1/10W 4.70KQ £1% 0603 R85,R86

1| |1 [0025[RD00400 [SMD fixed resistor 1/4W 22092 5% 1206 RI,R17

1 | | 1 F0026[/RD00525 [SMD precise resistor 1/10W 33.0KQ £1% 0603 R55,R56

1 | | 1 F0027|RD00303 [SMD precise resistor 1/10W 57.6KQ £1% 0603 R33,R34

11 | 1 F0028|RD00200 [SMD precise resistor 1/10W 1509 +1% 0603 R46

1111 }0029|C100096  |SMD ceramic capacitor 0603 S560PF/SOV NPO 5% C20

1111 }0030|CI00145 |SMD ceramic capacitor 0805 0.0015uF/50V X7R £10% C60,C61,C62,C63,C67,C68
I 111 }0031|CI00154 |SMD ceramic capacitor 1206 0.1uF/100V X7R £10% (33,069

1111 }0032|CI00185  |SMD ceramic capacitor 0603 0.1uF/50V X7R£10%(C1608X7R1H104KT)/TDK LCZ()()IC(%)OZ(CS;%CS 974.(51(};(‘82
1111 }0033|CI00179  |SMD ceramic capacitor 0603 0.22uF/25V X7R*10%(C1608X7R1E224KT)/TDK Cd4

1111 }0034|CI00195 |SMD ceramic capacitor 1206 4.7uF/25V Y5V (GRM31CB11E475ZA01D) LC?7C(16§§(C7§J6C(722(‘85L86
1111 }0035|C100206 |SMD ceramic capacitor 0603 0.047uF/50V £10%(C1608X7R 1H473KT)/TDK C18,C49

I 111 }0036|C100201  |SMD ceramic capacitor 0603 0.01uF/50V *10%(C1608X7R1H103KT)/TDK (C58,C59

I 111 }0037|CI00051  |SMD ceramic capacitor 0603 22PF/50V COG5%(C1608C0OG1H220IT)/TDK C43

1111 }0038|C100220  |SMD ceramic capacitor 0603 220PF/50V COG +5%(C1608COG1H221JT)/TDK (39,C42

| 111 [0039[SF00082 [transistor-RS-ACT MMBT5401LT1G(SOT23)/(ON) Q3

I |1 | [-0040|RD00541 |SMD precise resistance 1/10W 0Q=%1% 0603 350W+175W
I 11 | }0041|RD00596 |SMD precise resistor-RS 1/4W 10.0Q *1% 1206 R37,R38,R96,R99
1111 }0042|CI00269 |SMD ceramic capacitor-RS 1206 1.0uF/25V X7R £10% (C23,C41

I 111 0043 [SE00089 [SMD zener diode-RS 12W 5.1V(MMSZ5231B)(SOD-123)/(PANJIT) D5,D19

I 11 | }-0044|RD00636 |SMD precise resistor-RS 1/4W 470K Q £19 1206 RI8R52

| 11 1 [0045[SE00098 [SMD zener diode-RS-C 1W 15V DL4744A MELF/(S]) D14

|11 1 [0046[SG00495  [SMD integrated circuit-RS IR2156SPBE(SO14)/(IR) U3

1111 }0047|CI00279  |SMD ceramic capacitor-RS 1206 0.0022uF/200Vx7R*10% R94

I 111 [0048|CI00306 |SMDceramic capacitor-RS 1.0uF/25V X7R £10% C21,C22

I 111 [-0049|AE00553 |SenJu solder paste M705-GRN360-K2-V 0.5KG/bottle

I 11 1 [0050|RD00697 |SMD precise resistor-RS 390.0Q+19% 0603 R51

| 11 1 [0051[SE00133 [SMD zener diode-RS 225mW 12V BZX84C12LT1G(SOT23) DI8

I | |1 [0052[SE00134 [SMD rectifier diode-RS-ACT 1A 600V MURS160T3G (SMB)/(ON) D13

| 111 [0053[SG00667 [SMD integrated circuit-RS IRS2092S(SOIC16N)/IR) U7,U8




I 111 }0054|CI00328 |SMD ceramic capacitor-RS 1206 150PF/630V COG +5%(C3216C0G2J1511)/TDK C47,C48

I 111 [-0055|SE00149 |SMD double-direct triy diode-RS 1A/30V RB160M-30(ROHM) D3,D4

| 1 1 1 [0056[RD00818 [SMD fixed resistor 2W 2.2KQ $5% 2512 R43,R44

I 111 [0057|RD00800 |SMD precise resistor 1/8W 10.0Q *1% 0805 RI12,R113,R114,R115

| 11 1 [0058{SG00729 [SMD integrated circuit-RS-ACT MC78M12CDTRKG(DPAK-3)/(ON) U4

| 111 [0059[SE00156 [SMD diode-RS-ACT 1A/200V ES1D(SMA)/(FAIRCHILD) D1,D2,D20,D21,D28

111 0060{CI00356 | SMD ceramic capacitor 1206 0.1uE250V X7R £10%(GRM3ICRT2EI04KWO3L) ‘;@ﬁgéz TS

I 111 [0061[SE00161  [SMD diode-RS 2A/200V ER2D 35nS(DO214AA)/(PANJIT) 4Dg)3,§D§:,6D3|D32,D3}.D5

I 111 F0062{CO00168  [SMD inductance-RS-ACT 1000Q+25%(BLM18RK102SN1D) L‘?’IIJ‘II‘II?'U LLI4LISLI

1111 }0063|CI00366 |SMD ceramic capacitor 0805 220PF/250V COG 15% C100,C101,C102,C103

| | 1| }-0064|CI00387 |SMD ceramic capacitor-RS 0.0022uF/250V X7R £10% (C54,C55

| 1 | | }0065[SE00177 _[SMD rectifier diode-RS 0.5A LLA148(SOD-80)/(VISHAY) PTRPTRDZRDZDID

|11 1 [0066[SE00189 [SMD diode-RS-ACT 8A/200V STTH802B-TR (DPAK)/(ST) BD1,BD2,BD3,BD4

| 1 1 1 [0067[RD00945 [SMD resistance 1/4W 1.0Q +1% 1206 R87,R88

I 11| [0068|RD00957 |SMD precise resistor 1/10W 4.3KQ +1% 0603 R31,R32

11| 1 0069 RD00293 [SMD precise resistor 1/10W 17.4KQ £1% 0603 R29

I |1 | [0070|RD01001 |SMD precise resistance 1/10W 24K Q +1% 0603 R53,R54

| 1 1 1 [0071[HB04061 [PCB DM 400W-+200W_VER 150720

| 111 [0072{SB00379 [Photodiode LTV-817S-TA1-C(LITEON)/ U6

| 111 “0073[RD00123 [SMD fixed resistor 1/10W 470K Q £5% 0603 R2,R3,R4,R5

| | 0045 MCO01371 |top cover TS212 1.5t%19.5%95.6%163_V1.0

11 1 “0001 [MJ00069 |iron board 1.5%2135%1220 30.67kg

| | -0046 MG00269 [screw-RS M3*6 fix the top cover

I F0020 NI00218 _|cable tie ALT-102SB

| 0021 HA05997 |header wiring 2P UL1007 18AWG

| }0022 ND01444 |EV foam 0.5t%650*3mm_V1.0 pasted on the sealed box
| 0023 NI02527  |knob-RS ¢ 14*13mm_V1.3

| 0024 MA11190 |panel TS218S ALTO CHINA_VI1.1

| 1 -0001 MAI11187 |panel TS 212 SUB 2t%235%268

| 11 }0001 [AE00055 [solvent solvent

| |1 0002 |AE00201 |. 5041

I 11 0003 [MA11186 [panel TS 212 SUB 2t%235%268_V1.1

I | | 1 0001 [ME00001 [screw pillar-RS M4*10%0.7PH_V1.0

I | |1 0002 [ME00319 |iron pillar-RS-CT 6.35%M3%26.5_V1.0

I 11 | }-0003|ME00038 |iron pillar 6.35*M3*8.4_V1.3

| 111 20004 [MJO1580 [single light board-RS 2.0t¥1850*1250mm 36kg

| }-0025 NIO7837 |fixed bracket TS 212 SUB 81*187.5%24.5_V1.0

| 0026 HA06363 |header wiring 7P-7P 200mm UL1007 26AWG

| L0027 NC04781  |Insulator ¢ 7.5_ES503_DB stick to AC Jack
}-0022 NI02590  |cable tie YJ-203V0 UL94V-0 fix the speaker wire*1
}-0023 NF04684  |user manual TS2 SUB ALTO_V1.0

| 10001 NH00231  |paper 889#554mm

}-0024 NE27158 |lable TS218SXUS_V1.0 pasted on the two sides of carton*2
| 10001 NIO0018  |membrane 0.06*1M

110002 NH00035  [bond paper 0.06%1M

10025 NI00218 |cable tie ALT-102SB LED wire*1

[-0026 ND01485 |sponge 1t¥15%13.7 black_V1.0 pasted on the LED support*1
}-0027 NB08876 |carton TS218S ALTO_V1.0

}-0028 NE27161 |lable TS218S_V1.0 stick to the right corner of grille
}-0029 NIO7857 |3M VHB 1t¥31.3%26.4 (3M 4952)_V1.0 stick to the back of logo*2
10030 NIO7836  |mark TS 212 SUB 30.35%11.03%90.22_V1.0

0031 MD02089 |iron net TS218SUB 1.2t%86.4*494.6%629_V1.0

10032 HA06368 |wire 4P 280mm UL1007 18AWG

| }0001 HA06369 |wire 4P 280mm UL1007 18AWG

110002 (CN00283  |high frequency magnetism encircle-RS @ 1616 (742700752)/WURTH ELEKTRONIK

}-0033 NE26801 [label NUMARK SERIES_V1.0 pasted to the PE bags
| 0001 NI02598  |membrane 125mm

110002 NIO0068  |Scotch tape 0.16%¥1M

10034 NE21518  |label APX2000/3000_V1.1 stick to the powercon




Rank Part No  |Description Specification Insert Location Remark

PC03023 PC03023 |SPEAKER TS218S_ALTO_230V_CHINA_(NUMARK)

0001 NC05055 |box TS218S_V1.2

| 0001 NI02426 |foot cushion ¢ 37*15.5mm PGHA1022ZA/T1_P_A

| 10002 MI02042 |handle-RS ¢ 3mm _V1.0

| 10003 MEQ00082 |nut-RS 10.6_V1.2 Lock the woofer

| 0004 MEO0083 [nut M6*1.0PH*11.6_V1.2 Lock the pole mount

| 0005 MEO00085 |nut M4*0,7PH*9.3_V1.2 Lock the handles on two sides
| 10006 MG00034 |screw Lock the handle*12

| 10007 MG00338 [screw-RS M4*30mm Lock the handle*8

| 0008 MG00670 |SCREW-RS Lock the pole mount*4
| 10009 ND00242 |EV foam stick to the handles on two sides
| 0010 ND00634 |EV foam--RS stick to the pole mount
| 0011 ND00635_|EV foam--RS 2.0t*700*15mm _black_V1.0 stick to the handles

| 0012 MG00751 |screw-RS M4#20MM lock the feet*4

| 10013 MHO01704 |handle-RS ELVIS ¢ 110%96_V1.3

| 10014 NH00784 |Tube TS218S ¢ 148* ¢ 156*400_V1.0 used for the cabinet*2
| 10015 NC05074 _|top cover TS 2188 628*523.3*18mm_V1.0

I 10001 NC03657 [Plywood-RS-CARB 2440%1220*18t

| _}-0016 NC05075 _[chassis TS 2188 628*523.3*18mm_V1.0

I 10001 NC03657 [Plywood-RS-CARB 2440%1220*18t

| 10017 NC05076 _|side cover board TS 2188 641*561*18mm left_V1.0

I 10001 NC03657 [Plywood-RS-CARB 2440%1220*18t

| }-0018 NC05077 _|side cover board TS 2188 641*561*18mm right_V1.0

I 10001 NC03657 [Plywood-RS-CARB 2440%1220*18t

| 0019 NC05078 |front board TS 218S 641*495%18mm_V1.0

I 10001 NC03657 [Plywood-RS-CARB 2440%1220*18t

| 10020 NC05079 _|rear board TS 2188 641*386*18mm_V1.0

I 10001 NC03657 [Plywood-RS-CARB 2440%1220*18t

| 10021 NC05063 _|rear board TS 2128 277.5%310.5%18mm_V1.0

I 10001 NC03657 [Plywood-RS-CARB 2440%1220*18t

| 10022 NCO05080 |barrier TS 218S 500%110%15mm_V1.0

I 10001 NC03656 |Plywood-RS-CARB 2440%1220*15t

| 10023 NC05081 |billet TS 2185478.6*85%15mm_V1.0

I 10001 NC03656 |Plywood-RS-CARB 2440%1220*15t

| 10024 AE00684 |Paint LTS-6072 25KG/Pail

| 10025 AE00686 |Paint LTS-6071B 10KG/Pail

| 10026 AE00687 |Paint DTS-1202-1 20KG/Pail

| 0027 AE00688 |Paint DTS-1021A-1 20KG/Pail

| 10028 AE00689 |Paint DTS-1021B 10KG/Pail

| 10029 AE00692 |Paint PU-010-4 170KG/Pail

| 10030 AE00693 |Paint MTS-2209 20KG/Pail

| 10031 AE00694 |Paint LTS-6070B-1 10KG/Pail

| 10032 NDO01273 |absorb sound sponge-RS 470%360%30t 500g/m UL 437010153_V1.0

| -0033 NDO01552 |Absorb sound sponge-RS TS218S 1250%450*30t S00g/mUL_V1.0

0002 HK18346 |speaker 18inch 600W 8 Q(TS218S)

| 10001 NH00413 |caushion-RS i EVA black_V1.3

| 10002 NH00414 |dust-proof shade-RS-ACT

| 0003 ND01380 |wind-proof sponge-RS g _

| 10004 MH01986 |magnet-RS ¢ 180%95%20 Y30_V1.0

| 10005 MI05996 _|bracket-RS ¢ 459.8%105*%155.2 P:128_V1.0

| 10006 MG00263 |screw M5%8 Lock the washer and bracket*4
| 0007 HCO00882 |terminal-RS 6.3#+6.3#3.5%3.5_V1.0

| 10008 HA04554 |line-RS TA2]7Y18H2KA33/42WB*2*180mm

|1 S0001 HAO04553 |line-RS TA2]7Y18H2KA33/42WB* 1M

I_F0009 NHO0415_|cone-RS #120_V1.1

| }0010 ND00693 |damper-RS 6 0.4/100g TC:D-1940B

| {0011 MHO02767 |T type middle pillar 1.5%8 ¢ 30

| 0012 MHO02464 |iron coil-RS ¢ 175%78.5%10 P:128 TL:W175-50_V1.0

| 10013 NE27055 |label HK18346_V1.0

| 110001 NIO0015 |membrane 0.04*1IM

| 1 -0002 NH00012 |bond paper 0.04*1IM

| 10014 MF00020 [washer @ 5% @ 12*1t

| 0015 HG00595 |voice coil TIL/AL ¢ 74.88*56%5.2Q*0.27 22.2 EI

0003 NIO7835 |net TS218S 5t%625%551.4_V1.0 stick to the back of grille*1
0004 HA06358 |wire 550mm UL1015 18AWG+Capacitance speaker wire*1

| 10001 CF00245 [metal-film capacitor-RS 0.0022uF/400V 5% ESK400D22JA

| -0002 HA06357 |wire 550mm UL1015 18AWG

0005 ND00665 |EV foam-RS 950%15%2.0mm black_V1.0 stick to the AMP
0006 ND00633 |EV foam--RS 1.0t%1500%1 5mm black_V1.0 pasted on the two sides of grille
0007 ND00701 [EV_ FOAM ’ pasted on the woofer
0008 MG01030 |Screw-RS lock the grille*

0009 MG00350 [screw-RS lock the woofer*8
0010 MGO00351 |screw-RS M4*16 fix the amp and cabinet*8
0011 HK17710 |PC board P-TS212 Logo LED-DIP to fix the logo

| 10001 HK17709 _[PC board P-TS210 LED--SMD

| 1 0001 HB04153 |PCB-RS TS212 LOGO LED (4*8)_VER150908

| 110002 SE00270 |SMD LED blue MS-PTB414SUBC LEDI

|1 -0003 AEQ0553 |SenJu solder paste M705-GRN360-K2-V 0.5KG/bottle

| 0002 HC00253 |connector(male) 2P 2.0mm 180" CNI

| -0003 AC00603 _|lead free soldering bar S100

0012 NI0O7597 |LED lens TS212 16.69%10.32%8.15_V1.1

0013 HAO04308 |header wiring 2P-2P 700mm UL1007 26AWG red/white connect the LED of logo
0014 NA00923 |PE bag-RS 0.035t¥1300*1500mm12 hole speaker*1, guarantee* 1, carton*2




0015 NAO0858 |PE bag-RS 0.04t%240*160mm_V1.0 pack the user manual and guarantee

0016 NA01719 [sponge barrier TS218S_V1.0

0017 NE27063 |label TS218S_V1.0 Inside and outside*1 , carton *1, user manual*1

0018 NE27071 [label TS2185_V1.0 speakert]

| 10001 NIO001S  [membrane 0.04* 1M

| 10002 NHO00012 |bond paper 0.04*IM

0019 NF03534 |assurance card-RS ALTO PROFESSIONAL_V2.0

10020 HK18379 |Faceplate TS218S_ ALTO_220-240V_CHINA_(NUMARK) fixed to the back of the cabinet

| {0001 HAO01271 |signle terminal wiring 60 (PC250,PC187) SW TO AC Jack

| }-0002 HA01287 |wire-RS 60mm ULI015 18AWG blue SW TO AC Jack

| H0003 HA03186 |wire 100mm ULI01S 14AWG GND

| H0004 HAO4141 |wire 100mm UL1015 18AWG blue AC SW to AC Jack

| H0005 HAO4143 |wire 100mm UL1015 I8AWG brown AC SW o AC Jack

| H0006 HC00331_[AC socket RF-2004

I 0007 HDO0O13 |glass tube fuse 3.15A 250V @ 5*20mm CSA/S/UL/VDE

| }-0008 HI00475 _|power switch-RS 2%2P RF-1003-BBASE2XIT

I 10009 MEQ0016 |color nut 4m/m GND

I_}-0010 MF00014_|washer 93 96,5505t AMP*6

| 0011 MF00038_[washer-RS 04* @ THIL GND

| 0012 MF00048_[washer-RS 4% 80,51 GND

| 0013 MGO0061 [screw-RS M3*10CI ) MIC*8, sealed box*16

| 0014 MG00162 [screw M3*8 AMP*6

| 0015 MGO00163 |screw M3 fix the soldering tag*1, PRE GND*1

I_}-0016 NIOI862 |key 5.5%5.5414.5_V1.1

| 0017 NI06123_|key 9.249.2+71.3(3.3*3.3)_V10

| H0018 HK18369_|PC board P-TS218 SUB-PRE-DIP

| | 0001 HC00253 |connector(male) 2P 2.0mm 180 CN4

| 1 F0002  [HC00392 |balance MIC jack-RS TY-5030-030G 180 TK1JK2

| | [0003  [HC01212 [balance MIC jack-RS K6X01V-6-3A L2

| 1 0004 HIO0162  |push-button switch 2 paragraphs 6p PS-22E8552L SW2,SW3

| | [0005  [HI00163 [push-button switch 2 stage 12P PS-42E85 SW1

| 1 }-0006 NI02532 |LED spacer support LEDS-22 22mm

I 1 F0007  [RC01034 [Potentiometer-RS 30A103-Q1-FA265B120-10K L26.5FCx12 VRI

| 1 Fo008  [SA00051 |LED 3 orange,green 28/30/32mm DL5

| 1 }-0009 SA00052 |L.ED ¢ 3 round(green)long foot 26 DL1,DL2

| 1 }0010 SA00053 |L.ED ¢ 3 round(red)long foot 26mm DL4

| 1 0011 SA00054 |L.ED 3m/m round(yellow)long foot 26 DL3

| | 0012 AC00603 |lead free soldering bar S100

| 1 Fo013  [HKI8373 |PC board P-TS218 SUB-PRE-AI

. . . C1,C2,C3,06,CT,C35,C36

| |1 0001 |CB00192 |[electrolytic capacitor 10uF/16V ¢ 4*Tmm CY1.C38.C42.CT0

| 1 I 10002 [CB00193 |electrolytic capacitor 4TUF/16V ¢ 6+7mm C51,052.C53

| | 1 0003 |CB00251 |[electrolytic capacitor 220UF/25V ¢ 8*11mm C103,C104

| | 1 0004 |CB00262 [electrolytic capacitor 47uF/16V NP ¢ 6.3*1 1mm C100

I 1 | 10005 [HKI8371 |PC board P-TS218 SUB-PRE-SMD

LT T T [RD00059 [SMD fired resistor 1/10W 0.0Q $5% 0603 SIOTILRITLRITES 2T

T T T [RD00075 [SMD fired resistor 1/10W 300Q +5% 0603 R44.R45.R46.R47

T T T |RD00135 [SMD fixed resistor 1/4W 330Q 5% 1206 R134

T T T |RD00203 [SMD precise resistor 1/10W 2.00KQ £1% 0603 RS1.R8LR83.R84

T T IRD00209 [SMD precise resistor 1/10W 4.99K Q £1% 0603 R38.R39.R96.R98

LT T IRD00204 [SMD precise resistor 1/10W 2.49KQ 1% 0603 RY7

T T T IRD00210 [SMD precise resistor 1/10W S11KQ 1% 0603 R1I4,R115
RI.R2.R3.RAR5RSRUR
36.R37.R40.R41.R42,R43,

Ll RI02R103.R104.R105.R1

0008 RDO0214 |SMD precise resistor 1/10W 10.0KQ +1% 0603 06,R10,R11,R75,R76,R16,
RI7.RIO.RI30.RS7.RS9.R
60,R61,R62,R63,R64,R65,

S R66.R6T.RSGRETRIERE

RD00302_[SMD precise resistor 1/10W 28.0KQ £1% 0603 R6.R7

T T T |RD00215 [SMD precise resistor 1/10W 13.0K.Q £1% 0603 RI37,R138

LT T IRD00216 [SMD precise resistor 1/10W 13.3K.Q £1% 0603 RS0

LT T IRD00219 [SMD precise resistor 1/10W 20.0KQ 1% 0603 RI07,R108

LT T T |RD00224 [SMD precise resistor 1/10W 100K Q £1% 0603 RI2I

LT T T T |RD00272 [SMD precise resistor 1/10W 10.0Q 1% 0603 R85

LT T IRD00282 [SMD precise resistor 1/10W 100K Q £1% 0603 RII8,R133

LT T IRD00289 [SMD precise resistor 1/10W 8.06KQ *1% 0603 RI2RI3

LT T T IRD00290 [SMD precise resistor 1/10W 47.5KQ £1% 0603 R48,R49.R50.R5]

LT T T |RD00293 [SMD precise resistor 1/10W 174K Q 1% 0603 R109

LT T T IRD00300 [SMD precise resistor 1/10W 6.04KQ £1% 0603 R55

T T T |RD00328 [SMD precise resistor 1/10W 8.66KQ £1% 0603 R72RI110

T T IRD00330 [SMD precise resistor 1/10W 39.0KQ *1% 0603 R129

T T T |RD00334 [SMD precise resistor 1/10W 11.0KQ 1% 0603 R94R120

(;02‘3' P E |RD00339 [SMD precise resistor 1/10W 47.0K.Q £1% 0603 E_%g%‘ié‘gi%i@?

LT T T |RD00344 [SMD precise resistor 1/10W 11.5K.Q +1% 0603 RI5RI17

T T T |RD00362 [SMD precise resistor 1/10W 953Q +1% 0603 R32

T T T |RD00363 [SMD precise resistor 1/10W 3.16KQ £1% 0603 RS2

T T T |RD00367 [SMD precise resistor 1/10W 15.4KQ *1% 0603 RI22

T T T |RD00368 [SMD precise resistor 1/10W 16.5KQ 1% 0603 R54

T T T |RD00371 [SMD precise resistor 1/10W 51.IKQ £1% 0603 RS3

T T T |RD00386 [SMD precise resistor 1/10W 475K Q £1% 0603 R0

T T IRD00415 [SMD precise resistor 1/10W 470K Q +1% 0603 RI25,R126,R131

T T T |RD00457 [SMD precise resistor 1/10W 150K.Q +1% 0603 R101

T T T |RD00497 [SMD precise resistor 1/10W 36.5KQ £1% 0603 R92




s RD00544 |SMD precise resistance 1/10W 22Q+1% 0603 R127
T T T |RD00545 [SMD precise resistance 1/10W 49.9Q%1% 0603 R99,R100
T T T IRD00550 [SMD precise resistor 1/10W 27.0KQ £1% 0603 RI32
T T T |RD00709 [SMD precise resistor-RS 137K Q1% 0603 R128
T T T [RD00721 [SMD fixed resistor-RS 1/10W 2.1KQ 1% 0603 RI124
T T T [RDO0856 [SMD fixed resistor-RS 1/10W 23.2KQ £1% 0603 R77
T T T [RD00859 [SMD fixed resistor-RS 1/10W 9.09KQ *1% 0603 R116
T T T IRD00870 [SMD precise resistor-RS 1/10W 10.2KQ 1% 0603 R78
T T T [RD00894 [SMD fixed resistor-RS 1/10W 464K Q £1% 0603 R20R27
T T T |RD00928 [SMD precise resistor 1/10W 22.0KQ +1%0603 R123
T T IRD00959 [SMD precise resistor 1/10W 16.90K Q+1% 0603 R93
T T T [RDO0967 [SMD resistance 1/8W 6.98K.Q *1% 0805 RI4RIS
T T [RD01038 [SMD fied resistor-RS 1/10W 402K Q £1% 0603 R21,R29
T T T [RD01040 [SMD fired resistor-RS 1/10W 162K Q £1% 0603 R79
T T T IRDO1115 [SMD precise resistor 1/16W 30K Q £1% 0603 R113
C8.CI.CI0CIT.CIZCTA,
0‘04‘9' PE lcro00st [SMD ceramic capacitor 0603 22PF/S0V COGE5%(C1608C0GIH2201T)/TDK Sgg?zgégzczlczcﬁg
T (33.034,C43,C44
. C100055_[SMD ceramic capacitor 0603 4TPF/S0V COGE5%(CI608COGIHATOITYTDK. | C54.C62
T T 100175 [SMD ceramic capacitor 0603 1.0uF/16V X7RE10%(CI608X7RICI0SKTYTDK _ |C101
T T ]c100179 [SMD ceramic capacitor 0603 0.22uF25V XTRE10%(CIG0SXTRIE2AKTYTDK [ 0 PR 0 0Tes
CO.CTT.CTACBCTACT
5,C76,C77,C78,C81,C82,
(83,C84,C85,86,C87,C8
Ll 8,089,090,C91,C92,C93,
0053 CI00185  [SMD ceramic capacitor 0603 0.1uF/S0V XTR*10%(C1608X7RIHI04KTY/TDK  [C94.095.C96.C111.C112,
ClI3C114C115C116C]
17.C118.C119.C120.C121,
C122.C123.C124.C125C1
———— 26.C127.C128.CAA.COR.C
o 100202 [SMD ceramic capacitor 0603 0.015uF/S0V £10%(C1608X7RIHIS3KTY/TDK  |C60
T T T 1100207 [SMD ceramic capacitor 0603 0.056UF/S0V £10%(CI608XTRIHS63KTYTDK _ |C59
T T 1100209 [SMD ceramic capacitor 0603 0.0820F/50V £10%(CI608X7RIH823KTYTDK ___|C63,064
LT T T ]ci00211 [SMD ceramic capacitor 0603 0.15uF/25V XTR£10%(C1608X7RIEIS4KT)/TDK__|C55
T T T 1100220 [SMD ceramic capacitor 0603 220PF/50V C0G $5%(C1608COGIH221ITYTDK | C65
T T T 100224 [SMD ceramic capacitor 0603 470PF/50V COG 5%(C1608C0GIH471ITY/TDK _ [C102
T T T 1100330 [SMD ceramic capacitor-RS 0805 10uF/16V£10%(GRM21BB31C106K)/(MURATA) _|C4.C5
LT T 1100349 [SMD ceramic capacitor 0805 4.7UF/25V X5R £10% C47.048.097
LT T T ]c100404 [SMD ceramic capacitor-RS-ACT 0603 |0.47uF/16V (GRMIS8B31CAT4KASTD)(Murata) _|C67.068.C79
T T T co00168 [SMD inductance-RS-ACT 1000 Q£25%(BLMI18RK102SN1D) L1.L2L3LARI35R136
LT T T 1SF00038 |iransistor RK7002(ROHM) TRI
L T T T 1SF00053 |iransistor MMBT3906(SOT23)/(PHD) TR2
T T T 18G00033[SMD integrated circuit LM358DT(SO8)AST) Uls
Ll U1,U2,U3,U4,U5,U6,U7,
SGO0122 [SMD integrated citeuit-RS-ACT NIM4580M-TE3(DMPS J/(JRC) US.U10.U11,U12.U15,U1
0067
6,U9,U13,U19
LT T T 18G00194 [SMD integrated circuit NIMI3600M-TEI(DMPI6)/(JRC) Ul4
T T 18G00306 [SMD integrated circuit LM393DR(TD/AMEXICO) U17.U20
T T T [AR00553 [Senfu solder paste M705-GRN360-K2-V 0.5KG/bottle
T T T ISE00177_[SMD rectifier diode-RS 0.5A LL4148(SOD-80)/(VISHAY) D2.D3.D4
T T T [SE00155 [SMD Schottky barrier diode-RS-ACT __ |BAT 64-04(SOT-23)/(INFINEON) DI
0‘07‘3' P E |SE00243 [SMD zener diode-RS 1/2W 12V MMSZ5242A(SOD123)/PANJIT ;g;;g%g;mwns
LT T T |RDO1167 [SMD precise resistor 1/10W 127KQ £1% 0603 R56
T T uBo43os [pcB TS2 SUB PRE(1*2)_VER160525
I 1 | 0006 |CFOOISS |metal-film capacitor MSC 0.22uF/63V 5% CASE02 %9
|1 I 10007 |CFOOI91 |metal-film capacitor MSC 0.33uF/63V 5% CASE02 Cs8
] v C14CI5CI16C17.CI8CI
I'1 1 0008 |CFOOIS3 |metal-film capacitor MSC 0.1uF/100V 5% CASEO] 001 C129.0130
| 11 “0009 |CB00038 |[electrolytic capacitor 47uF/16V ¢ 5*Tmm R58
| | 0014 HC00258 |connector(male) 7P 2.0mm 180 CN3
| 10019 HK18332_|PC board P-DM 300W-300W_DIP
| | 0001 RA00031 |metal-oxide-film resistor 2W 10Q P type R41,R42
I 1 F0002  [RAOD0SI |metal-oxide-film resistor 2W 560 R65.R66
| 1 10003 [NI00268 [sleeve ¢ 6*20mm PGNS1008ZA/I1_P_C RA0
|11 0001 [NI00266 |sleeve 6¥1000mm
|1 0004 [MG00162 [screw M3+ AMP*9
I 1 10005 [MGO0S66 [screw M3#10%0.5PH_VL0 IC*2+shrapnel*9
I 1 F0006  [HC00088 |connector(male) 2P 3.9mm 180'(#3921) 3
| | 0007 HC00174 |connector(male) 4P 3.96mm 180" J5
| | 0008 HC00258 |connector(male) 7P 2.0mm 180 J4 insert near L16
|1 10009 [HA01933 [jump 2.5mm BRI
| 1 F0010 HC00324 |connect terminal 6.5m/m (PC250) 11,2
| 1 F001l  |CBOOISI |electrolytic capacitor 220uF/63V ¢ 10%16mm 98,099
| 1 F0012  [CNOO069 |inductance-EMI SUPPRESSOR-RS-ACT |TB36-13-850485 LIL2LS.LI12
| 1 F0013  |CGO0023 [X1/Y1 capacitor 0.0022uF250VAC YSU C6C7.C8.C10.C1
| | F0014  |MKO00103 |spring piece 0.5622.67%6.5542.5_V1.0 Lock MOS TUBE
| 1 10015 [CB00295 |electrolytic capacitor 820uF/I180V_ ¢ 25%35 CI13C14
|1 FO016  |NI04253 [sleeve RS © 28%50M T-2 MKO00103
| 1 F0017  [SD00317 |integrated circuit NIM7912FA(TO220F)/URC) U2
| 1 0018 MEQ0226 |screw-RS M3*0.5PH 1C*2+shrapnel *9
| 1 F0019  [SA00316 |bridge rectifier-RS 8A GBU-8K/(PANJIT) D12
| | 0020 NCO01179 |insulator spacer-RS 0.13t*40mm*SSmm(HI-FLOW-625) stick on QI, Q5
| 1 F0021  |CB00335 |electrolytic capacitor-RS 1000uF/16V ¢ §*20mm 89,090
| 1 0022 RA01063 |metal-oxide-film resistor 3W 0.1Q +2% P type R40




| 1 F0023  [RHO0033 [thermistor-RS-CT 5Q B572355-0509MO00KEPCOS) R6

| | 10024 [SDOO380_[integrated circuit-RS NIM7812FA(TO220F)/URC) Ul

| | 0025 AC00603 |lead free soldering bar S100

| 1 F0026  [SBOO284 |ransistor-RS IRFB4020PBF(TO220AB)/(IR) 06.07.08.09

| 1 F0027  |NC04098 [insulator spacer-RS 0.13t27.5*40mm(HI-FLOW-625) stick on Q6, Q7/Q8, Q9
| 1 F0028  [ND0I210 |cushionRS 81%45% 10mm(E-4382) stick on C13/C14
| 1 10029 [CBO0436 [electrolytic capacitor-RS 1000uF/63V LSR ¢ 16*25mm C28.C31,C32.C64

| 1 F0030  |CFO0277 |metal-film capacitor-RS 0.22uF/100V C242A224K2SC000/(Fara) C52.C53

| | 0031 CB00438 |electrolytic capacitor-RS 470uF/25V LSR ¢ 8%20mm C1,C2

| 1 F0032  |CFO0284 |metal-film capacitor-RS 0.1uF/630V C8221104]60C000/(Fara) 6

| | 10033 [RHI00037 [thermistor-RS-ACT 330Q PTFLO4BG222Q2N34BO/MURATA) PR200

| 1 F0034  |CFO0279 |metal-film capacitor-RS 1.0uF/250V C322E105160C000/(Fara) 50,051

| | [-0035  [SB00369 [Transistor-RS FDP18NS0(TO220)/FAIRCHILD Q1,05

| 1 F0036  |CN00359 |inductance 5.0mH 90.7%30T L34

| 1 10037 |CGO0126 X2 capacitor-RS 0.33uF/275V £10%(C42P2334K6SCO00)FARA)  |C9.CI2

| | [-0038  [TCO0585 |Transistor PT-DM 350W-+175W(ER35)_230V I

| 1 10039 [NI07555 [insulator TT12 0.56%95%93_V1.0

| 1 | 0001 |NI04630 |filmRS-CT 450¥605*0.5mm 0.184kg_V1.0

|1 10040 [CGO0130 X2 capacitor 0.47uF/305V 20%(C42Q2474MGHCO00)FARA) _ |CS

1 Fo04l  [HA01919 [jump Smm PRLR110

11 0001 [HA02249 |wire 0.6 5450

| 1 F0042  [MI06323 |heat-shassis

| |1 F0001 |ME00221 [iron pillar

I 1110002 [MI000SS [AL plate-RS £1000 10.88kg

| 1 10043 [CN00372 [inductance 20uH T94-2 1319

| | 10044 [AK18335 [PC board P-DM 300W-300W_AI

| |1 F0001 |CBOO112 [electrolytic capacitor 10uF/35V 105C ¢ 4%7Tmm 2.5mm C95

| 1 | 10002 |CFOOIS3 |metal-film capacitor MSC 0.1uF/100V 5% CASEOI 79,080

| | 1 0003 |CBO01SS |[electrolytic capacitor 10uF/63V ¢ 5% 1mm 2.5mm C37

| | 1 0004 |CB00034 [electrolytic capacitor 33uF/16V ¢ 5%11mm 2.5mm (C83,C84

I 1 1_F0005 [CC00074 [mylar capacitor-RS-ACT 0.01uF/100V 3% 7

| 1110006 |CAGOI31 |ceramic capacitor-RS 0.01uF/1000V 75U CI5.C16025

| 1 1_F0007 [CB00409 [electrolytic capacitor-RS 2uF/16V 105C ¢ 51 1mm C45.C46

| 1 1 0008 [CBO0469 [electrolytic capacitor-RS 100uF/16V LSR 105°C ¢ 5%11mm €34,035,038,03,C4

I 1 1 0009 [HKI8333 |PC board P-DM 300W-300W_SMD

LT T T 1sP00083 |iransistor MMBTS551LT1G(SOT23)/(ON) Q4

T T T |RD00298 [SMD precise resistor 1/10W 47.0Q +1% 0603 R23

T T T ISE00012[SMD rectifier diode-RS BAV103(PHD DI5.D16,022.023
T T T 18G00122 [SMD integrated circuit-RS-ACT NIM4580M-TE3(DMPS )/(JRC) Us

LT T T ISE000s4 [SMD LED yellow 19-21UYC/S530-A2/TRS DS1.DS2

LT T T IRD00327 [SMD precise resistor 1/10W 8.20KQ £1% 0603 R7T5R76

T T T [RDO0355 [SMD fired resistor 1/10W 4.7Q £5% 0603 R7T9.R80

o‘oo‘xl ' IRD00214 [SMD precise resistor 1/10W 10.0K.Q +1% 0603 (1?3%}32024,1225,1%59.%0,}21
LT T T [RD00059 [SMD fired resistor 1/10W 0.0Q $5% 0603 R109

T T IRD00209 [SMD precise resistor 1/10W 4.99K Q £1% 0603 R73R74

LT T IRD00224 [SMD precise resistor 1/10W 100K Q £1% 0603 RO,RI2R13,R14R26,R27
LT T |RD00460 [SMD precise resistor 1/10W 560Q +1% 0603 R64

LT T T [RDO0466 [SMD precise resistor 14W 2.0KQ £1% 1206 R35.R36.R102.R103
LT T T [RD00255 [SMD precise resistor 14W 100KQ +1% 1206 RT.R8

LT T T IRD00506 [SMD precise resistor 1/10W 330KQ £1% 0603 RT7.R78.CT2

LT T T [RDO0SI2 [SMD precise resistor 1/10W. 180K Q £1% 0603 R92

LT T T IRD00219 [SMD precise resistor 1/10W 20.0KQ 1% 0603 R71,R72

LT T T [RD00399 [SMD precise resistor 14W 10.0KQ *1% 1206 RST.RS8

LT T T |RD00282 [SMD precise resistor 1/10W 100K Q £1% 0603 R21,R39,R63,RI]
0‘02‘0' P E |RD00272 [SMD precise resistor 1/10W 1009 1% 0603 5@?@%%‘;;@%?6
LT T T |RD00274 [SMD precise resistor 1/10W 1002 1% 0603 R69,R70

T T T |RD00414 [SMD precise resistor 1/10W 3.90KQ 1% 0603 R28,R22

T T T |RD00385 [SMD precise resistor 1/10W 3.01KQ *1% 0603 R4TR48

T T T |RD00415 [SMD precise resistor 1/10W 470K Q +1% 0603 R85,R86

T T T |RD00400 [SMD fixed resistor 1/4W 220Q +5% 1206 RILR17

T T T IRD00525 [SMD precise resistor 1/10W 33.0KQ £1% 0603 R55.R56

T T T |RD00303 [SMD precise resistor 1/10W 57.6KQ £1% 0603 R33R34

T T T |RD00200 [SMD precise resistor 1/10W 150Q %1% 0603 R46

T T T ]c100096  [SMD ceramic capacitor 0603 S60PE/S0V NPO £5% €20

o T T [c100145 [SMD ceramic capacitor 0805 0.0015uF/50V XTR £10% SOUOLEOZTORTOTET
T T ]ci00154 [SMD ceramic capacitor 1206 0.1uF/100V X7R £10% 33,060

0‘03‘2' PP Jemooiss  [sMD ceramic capacitor 0603 0.1uF/SOV XTR£10%(C1608X7RIHI04KT)/TDK f@fﬂ%fi@%i?lgg
LT T T ]c100179 [SMD ceramic capacitor 0603 0.22uF25V XTRE10%(CI608XTRIE224KT)/TDK _|C44

0‘03‘ 4' P E o095 [SMD ceramic capacitor 1206 4.7uF/25V YSV (GRM31CBI1EA7SZA01D) ggﬁggﬁéggggigscs
LT T T 1100206 [SMD ceramic capacitor 0603 0.047uF/S0V £10%(CI608XTRIFA73KTYTDK ___|C18,C49

T T T 1100201 [SMD ceramic capacitor 0603 0.01uF/50V £10%(C1608X 7R 1H103KT)/TDK 58,059

T T T ]c100051 [SMD ceramic capacitor 0603 20PF/50V COGE5%(CI1608COGIH220ITTDK | C43

T T T 1100220 [SMD ceramic capacitor 0603 220PF/50V C0G $5%(C1608COGIH221TY/TDK __ |C39,C42

T T T [sP00082 |transistor-RS-ACT MMBT5401LT1G(SOT23)/(ON) Q3

T T T |RD00541 [SMD precise resistance 1/10W 0Q:+1% 0603 350W+175W
T T T [RD00596 [SMD precise resistor-RS 14W 10.0Q +1% 1206 R37.R38.R96.R99

T T T ]c100269 [SMD ceramic capacitor-RS 1206 1.0uF/25V XTR £10% 23,41

T T T ISE00089 [SMD zener diode-RS 1/2W 5.1V(MMSZ5231B)(SOD-123)/(PANITT) ___ |D5.D19

T T T [RDO0636 [SMD precise resistor-RS 14W 47.0KQ £1% 1206 RISRS2

T T T IsE00098 [SMD zener diode-RS-C 1W 15V DL4744A MELF/ST) D14




. SG00495_[SMD integrated circuit-RS IR2156SPBE(SO14)/(IR) U3

T T T 1100279 [SMD ceramic capacitor-RS 1206 0.0022uF/200Vx7R£10% RO4

T T T ]c100306 [SMDeeramic capacitor-RS 1.0uF/25V XTR £10% 21,022

T T T [AR00553 [Senfu solder paste M705-GRN360-K2-V 0.5KG/bottle

T T |RD00697 [SMD precise resistor-RS 390.0Q1% 0603 R51

T T T ISE00133 [SMD zener diode-RS 225mW 12V BZX84C12LTIG(SOT23) DI8

T T T ISE00134 [SMD rectifier diode-RS-ACT 1A 600V MURS160T3G (SMB)/(ON) DI3

T T T 18G00667 [SMD integrated circuit-RS IRS2092S(SOICI6N)/IR) U7,U8

T T T ]c100328 [SMD ceramic capacitor-RS 1206 150PF/630V COG £5%(C3216C0G2T1SII)/TDK___ |C47,C48

T T [SE00149 [SMD double-direct triy diode-RS 1A/30V RB160M-30(ROHM) D3.D4

LT T T [RDO08I8 [SMD fixed resistor 2W 20KQ £5% 2512 R43R44

T T T [RD00800 [SMD precise resistor 1/8W 10.0Q +1% 0805 RI12RII3RI1I4R11S

T T T 18G00729 [SMD integrated circuit-RS-ACT MC78MI2CDTRKG(DPAK-3)/(ON) U4

T T T SE00156 [SMD diode-RS-ACT 1A/200V ESID(SMA)/(FAIRCHILD) D1,02.D20,D21.028

o‘oe‘ol P E |cr003s6  [SMD ceramic capacitor 1206 0.1uF/250V X7R +10%(GRM31CR72E104KWO3L) 5;31547?2%;517:@%7057

0‘06‘1' PF IsEoot6n [SMD diode-RS 2A/200V ER2D 35nS(DO214AA)/(PANIIT) ?Z%z%?;l’mz‘wp

o‘oe‘zl P F |coootss [SMD inductance-RS-ACT 1000Q:425%(BLMISRK102SN1D) 1142’.11:17%1:11‘?;411,1414,1415,14

LT T T ]c100366 [SMD ceramic capacitor 0805 220PF/250V COG 5% C100,C101.C102,C103

LT T T 1100387 [SMD ceramic capacitor-RS 0.0022uF/250V X7R £10% 54,055

L T T T ISE00177[SMD rectifier diode-RS 0.5A LL4148(SOD-80)/(VISHAY) IOPTLDZRDZ. 0200

LT T T ISE00189 [SMD diode-RS-ACT 8A/200V STTH802B-TR (DPAK)/ST) BDI,BD2,BD3,BD4

LT T T [RD00945 [SMD resistance 1/4W 10Q £1% 1206 RST.R88

LT T T IRD00957 [SMD precise resistor 1/10W 4.3KQ £1% 0603 R31LR32

LT T T IRD00293 [SMD precise resistor 1/10W 17.4KQ *1% 0603 R29

T T T |RD01001 [SMD precise resistance 1/10W 24KQ £1% 0603 RS53R54

T T TaBoos1 [PcB DM 400W+200W_VER150720

T T T [sB00379[Photodiode LTV-817S-TAI-C(LITEON)/ U6

T T [RD00123 [SMD fired resistor 1/10W 470K Q £5% 0603 R2,R3,R4,R5

I 1 F0045  [MCOI371 Jtop cover TS212 1.5%19.5%95.6¥163_V1.0

I 110001 [MI00069 [iron board 1.5%2135%1220 30.67kg

| 1 0046 MG00269 |screw-RS M3*6 fix the top cover
I 0020 NI00218 [cable tie ALT-1025B

| {0021 NDO01444 |EV foam 0.5t*650*3mm_V1.0 pasted on the sealed box
| 0022 NI02527 |knob-RS 0 14*13mm_V1.3

| 0023 MA11190 [panel TS218S ALTO CHINA_VL.1

|1 0001 |MALL187 [panel TS 212 SUB 21%235%268

| |1 0001 |AE00055 [solvent solvent

|11 10002 |AE00201 5041

|11 0003 |MAIL186 [panel TS 212 SUB 2%235%268_V1.1

LT T T IME00001 [screw pillar-RS M4*10%0.7PH_V1.0

T T IMB00319 [iron pillar-RS-CT 6.354M3*26.5_V1.0

T T T [MEB00038 iron pillar E

T [Mr01580 [single light board-RS 2.00¥1850*1250mm 36kg

| 0024 NI07837 _|[fixed bracket TS 212 SUB 81¥187.5%24.5_V1.0

I 0025 HA06363 |header wiring 7P-7P 200mm UL1007 26AWG

| 0026 NC04781_[Insulator ©7.5_ES503_DB stick to AC Jack
0021 HA00861 |power cord Europe 3P LT-312+LT-501

0022 NI02590 [cable tie Y1-203V0 UL94V-0 fix the speaker wire*1
0023 NF04684 [user manual TS2 SUB ALTO_VL0

| 0001 NHO0231 |paper 889*554mm

0024 NI00218 [cable tie ALT-1025B LED wire*]
0025 NDO1485 [sponge 1t*15%13.7 black_V1.0 pasted on the LED support*1
10026 NBO8876 |[carton TS2185 ALTO_VL0

0027 NE27161 |lable TS2185_V1.0 stick to the right corner of grille
10028 NI07857 [3M VHB 11¥31.3%26.4 (3M 4952)_V1.0 stick to the back of logo*2
0029 NIO7836 | mark TS 212 SUB 3035%11.03¥90.22_VL0

10030 MDO2089 |iron net TS218SUB 1.26%86.4¥494.6%629_V1.0

0031 HA06368 |wire 4P 280mm UL1007 18AWG

|_-0001 HA06369 |wire 4P 280mm UL1007 18AWG

| 10002 CN00283  |high frequency magnetism encircle-RS @ 1616 (742700752)/WURTH ELEKTRONIK

0032 NE26801 |label NUMARK SERIES_V1.0 pasted to the PE bags
| {0001 NI02598  |membrane 125mm

| 10002 NI0O0068 |Scotch tape 0.16*1M




	Table of Contents

	Block Diagram 
	Schematics

	TS212S

	TS215S

	TS218S

	DM300W+300W


	Wiring Diagram

	Exploded Diagram & Mechanical Parts List

	TS212S

	TS215S

	TS218S


	Bill of Materials (BOM)

	TS212S, 110-120V

	TS212S, 230V

	TS215S, 110-120V

	TS215S, 230V

	TS218S, 110-120V

	TS218S, 230V





